UGC NET 2021 Management

Topic:- Management_SHAAN_NOV21A

1) Which one of the following information type is NOT included in a skill inventory?

forgotferfiaa 3 21 wlor 2t : Fraren wloret - It 3 onfdrer 518t 3 ?

[Question ID = 401][Question Description = S3_qSNz_PG_MGT_QO01]
1. Employee's personal data/@sfant @ xifepord sfias [Option ID = 1601]

2. Organization's training schedule/3Iosr @1 yfstemr grset [Option ID = 1602]

3. Employee’s potential/wsfart &I dsmerar [Option ID = 1603]

4. Salary and Job history/ddet siiz @t @1 sfeert [Option ID = 1604]

Correct Answer :-
® Employee's personal data/sfarst @ =ifeperd sifaes [Option ID = 1601]

2) Which one of the following approaches stresses that there are no universal rules for managers to follow in order to
perform the job?

forgotferiRac 3 3 Dol AT AMHIBIA 3 I UR &l Sl 8 [ YaeId! DI Iold> DRI DI Yul ool D @l 3 DI Arduiide forer o1&l 8 ?

[Question ID = 402][Question Description = S3_qSNz_PG_MGT_Q02]
1. Contingency/smaf¥aaar [Option ID = 1605]

2. System/ugfer [Option ID = 1606]

3. Mathematical/sifordtr [Option ID = 1607]

4. Empirical/sgpfesicta [Option ID = 1608]

Correct Answer :-
e Contingency/smmRa@ar [Option ID = 1605]

3) The best level of output for a perfectly competitive firm in short run is a point where P = MR = MC, provided that

3rcq srafr 3 guiarn gfieriett wuslt & féte 3curc o1 Ad9)ss ¥R a6 3 I8l Ul = wa 3R = udA Al 3, safd :
[Question ID = 403][Question Description = S3_qSNz_PG_MGT_Q03]

1. P < AVC/p < avc [Option ID = 1609]
2. p> AVC/P > AV [Option ID = 1610]
3. p=AVC/p = Avc [Option ID = 1611]
4. P = AVC/P = AVC [Option ID = 1612]

Correct Answer :-
® p - AVC/P < AVC [Option ID = 1609]

4) What is the role of advertisements and selling costs in perfectly competitive markets?

gufan gferiesh aeirRl 3 Rismusl siiz [aj dlerdl &t a=n sifdror 3 ?

[Question ID = 404][Question Description = S3_qSNz_PG_MGT_Q04]

1. Informative to intimate product/service availability/smeai® 3curg / ar uetserr @ a® [Option ID = 1613]
2. Enlarging market size/dsiR & s ot fdzaifya @wzen [Option ID = 1614]

3. Very essential for survival of the firm/®usft &I Ssiifdar @ fere @@ smag® [Option ID = 1615]

4. Influencing buyer behaviour/® dreasrR @1 ysufda aon [Option ID = 1616]

Correct Answer :-
e Informative to intimate product/service availability/smeaRi® 3cure / Jar 3uctstrr @ yaw [Option ID = 1613]

5) It is believed that employees' attitude influence their perception of work, but the employees' experience at work may
also modify or shape their attitudes. This is an example of

I SIIell Sl 3 b DIl BT RIGsR IoId> PRI Ol S[@ERuN Bl YyHIfdd ol 8 Ug, ORI B0l D DRl DI GHT FAD RAAER DI JLUR
DT & HAAT IoID RIGER DI UD 3R & ADAl & As [DIADI GBI 3 ©

[Question ID = 405][Question Description = S3_qSNz_PG_MGT_QO05]



Contingency Approach/3isiiicr 3usrr [Option ID = 1617]

Democratic Approach/cladifeia 3umsmr [Option ID = 1618]

Interactional Approach/urzul¥® ardlemu (3euasmret) 3upe [Option ID = 1619]
Socio-technical system Approach/zmenfsia - aaofihl yoneft 3uwwer [Option ID = 1620]
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Correct Answer :-
e Contingency Approach/zisirerar 3uesrer [Option ID = 1617]

6) Which one of the following employee behaviour is NOT true in case of high stress level?

I dolid IR D AR A DAl D AasR D 9 A fogafcilRada 3 A dia a1 33t o181 3 ?
[Question ID = 406][Question Description = S3_qSNz_PG_MGT_Q06]

1. Anxiety/fiar [Option ID = 1621]

2. Careless mistakes/srimazmsfiguf sreiferii [Option ID = 1622]

3. Nervousness/stefiear [Option ID = 1623]

4. Low and bad judgemental ability/fomwfr clol bt @t sl 2a=1a eear [Option ID = 1624]

Correct Answer :-

® Anxiety/Riar [Option ID = 1621]

7) Information regarding ‘personal job demands (human expenditure involved in work, such as energy expenditure)’
collected in job analysis falls in which one of the following?

JASPIR a3yt 3 wpfea caftpard JAsPIR Hiel (PRI 3 el Hlora A=A1eol, I 6 il qua) Adeht oo foet 3 A el sl 3 ?
[Question ID = 407][Question Description = S3_qSNz_PG_MGT_QO07]

Work Activities/®r! figaraemu [Option ID = 1625]

Worker-Oriented Activities/®rBmR 3o#a fipraera [Option ID = 1626]
Personal Requirements/zifepora st [Option ID = 1627]

Job Context/®rf Ategsf [Option ID = 1628]
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Correct Answer :-
o Work Activities/®r! faRnasemu [Option ID = 1625]

8) Which one of the following orientation programmes seek to ratify the usefulness of the characteristics that the person
brings to the new job?

forgoiferRaa 3 37 Dl - AT AMNARIRT PRIGH ftd DI faIrTarsii i ITRNBIAT 3 Jen= ol HidT DI & SiI T8 oIU ASPIR A MUl AT iD= ATl
37?

[Question ID = 408][Question Description = S3_qSNz_PG_MGT_Q08]
1. Serial Orientation/@grag sifdifdeerr [Option ID = 1629]

2. Disjunctive Orientation/ferisioer sifdfeemar [Option ID = 1630]

3. Investiture Orientation/ssd=<lcR aifdifdearrt [Option ID = 1631]

4. Divestiture Orientation/smsaicR sifdifeart [Option ID = 1632]

Correct Answer :-

e Serial Orientation/m@uag sifdifdeemt [Option ID = 1629]

9) In which one of the following motives, relevant for organizational climate, there is an urge to be relevant and useful to
large groups including society as a whole?

JHoToelcH® ul¥a9r @ fere yrifdre forotfeiRaa 3 2 vt fdgRre 3 Jrequl st Alda ged A3El @ fére IuRIpT SR yRIBIe oI sl oI ygft
i3 ?

[Question ID = 409][Question Description = S3_qSNz_PG_MGT_QO09]
1. Affiliation/=iderer [Option ID = 1633]

2. Influence/ygma [Option ID = 1634]

3. Extension/fazar [Option ID = 1635]

4. Achievement/3uetfeer [Option ID = 1636]

Correct Answer :-

o Affiliation/3iserer [Option ID = 1633]

10) If the market price of PQR Ltd. is 44, EPS is 3.75 and the retention ratio is 60%, then the multiplier according to
Graham and Dodd Model of Dividend policy is

afe PQR fif3Rs o1 aeirk 3ca 44 3, sdivar 3.75 3 3iiz yferenror sigqura 60 yfererd al, dl cmstior ofiftr @ spaa 3ik 3is disa o SRR IPIB
I 3P -



[Question ID = 410][Question Description = S3_qSNz_PG_MGT_Q10]
1. 15

[Option ID = 1637]
2. 19.5

[Option ID = 1638]
3. 16

[Option ID = 1639]
4. 18.7

[Option ID = 1640]
Correct Answer :-
e 15

[Option ID = 1637]

11) The holistic, integrated and goal-oriented process of planning, recruiting, selecting, developing, managing, and
compensating employees is known as

pfardl forilsmel, #dl, TRIGIPR®, PRI B0l arcil, gder w2l arcil 3R gifergzur &I 3e), udblad 3R cagilcdxdl yfapRn ol i u # Sirel
SIrer 3 ?

[Question ID = 411][Question Description = S3_qSNz_PG_MGT_Q11]

Human Resource Management/strora Jimeret gaitror [Option ID = 1641]

Strategic Human Resource Management/3urfiferes strera 2iirerel yderet [Option ID = 1642]
Talent Management/ gwiar yderer [Option ID = 1643]

Human Resource Planning/direra iimerer foritsior [Option ID = 1644]

A WN -

Correct Answer :-

® Human Resource Management/#roia 3iimeiol gaerer [Option ID = 1641]

12) Which one of the following performance appraisal methods prevents supervisors from rating all or most employees
"satisfactory” or "high"?

forraiferRaa 3 olar 2l forourcer ®RI Feaforerzor ugfler fordlerel @1 it srerar siferapior waardt @1 "HdIusiore ' eI "I’ Helidol Bl A
Apedl 3 ?

[Question ID = 412][Question Description = S3_qSNz_PG_MGT_Q12]

Critical Incident Method/fépfeaser sBSe ugfer [Option ID = 1645]
Forced Distribution Method/afera (w1=s) faazor ugfer [Option ID = 1646]
Paired Comparison Method/gfsa getenicard ugfer [Option ID = 1647]
Alternation Ranking Method/wwirrur 3eper ught [Option ID = 1648]
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Correct Answer :-
e (ritical Incident Method/fpfeaer sBiSe ugfer [Option ID = 1645]

13) In case of agency problem, the actions of managers are very likely to be directed towards the goal of

Soizft e & #ARIe i ydersl & orifalfsdt e 32 & 3k fordfora 8t 1ot & aga Hsiraet 3?
[Question ID = 413][Question Description = S3_qSNz_PG_MGT_Q13]

Profit maximisation /et @t siférpiferas @won [Option ID = 1649]

Wealth maximisation/ziufer @t sifériféeis w2er [Option ID = 1650]
Survival and self-sufficiency /3asfifaar siiz ¥q - uafaar [Option ID = 1651]
Self-sufficiency/za - wafaar [Option ID = 1652]
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Correct Answer :-
® Profit maximisation /et @i siférpiféras w2em [Option ID = 1649]

14) Which one of the following measures better explains inflation in an economic ecosystem?

forgatfcri¥aa 3 A ®lel AT uizena e uif:R¥-efad! 3 Ferbifer b I AR wdar & ?

[Question ID = 414][Question Description = S3_qSNz_PG_MGT_Q14]

GNP deflator/sit var dt smuf¥erferasrzas [Option ID = 1653]

Wholesale Price Index (WPI)/ e gc=r Japias (Secey tt ams) [Option ID = 1654]
Consumer Price Index (CPI)/3usirep1 ajc=1 Jaaias (A i ams) [Option ID = 1655]

Rate of change in GNP deflator/sf et tt sruf¥erferpr® 3 uf¥adet &I g2 [Option ID = 1656]

A w N =

Correct Answer :-



® GNP deflator/sit ver tt smuB¥erfeore [Option ID = 1653]

15) Du Pont analysis formula involves which financial elements for computation of earning power?

3 Ulc feecsaur g 3 Sursiel §1dI bl 3IVIGI Mol B fere fopet Tl aredl @I Afdafera o sirer 8 ?

[Question ID = 415][Question Description = S3_qSNz_PG_MGT_Q15]

1. Net profit margin, Total assets turnover and Equity multiplier/ g cmemmeaz, et ufiufer smad sl sfract spre [Option ID = 1657]
2. Total assets turnover and sales turnover profitability/dget Jufer srad siie faaygn siad emsggar [Option ID = 1658]

3. Profit margin, Sales turnover and Asset-use efficiency/cmsiiaz, fdagr smad sfiz ufiufer - geiter gerar [Option ID = 1659]

4. Total assets turnover and Equity multiplier/qget ufSiufer sirad iz sferact spras [Option ID = 1660]

Correct Answer :-
e Net profit margin, Total assets turnover and Equity multiplier/ g cmneaz, der ul¥iufer smad sl sfdact s [Option ID = 1657]

16) Following information is available for the year 2018 and 2019 of ABC Ltd:
Year 2018 2019

Sales Rs.32,00,000 Rs 57,00,000

Profit/(Loss) (Rs. 3,00,000) Rs. 7,00,000

Calculate P/V ratio

ad 2018 3fiz 2019 & fere ABC ferfdres 3 Hdifera forafeRaa Iyeen Suerse 3 :

ad 2018 2019
fat . 32,00,000 . 57,00,000
i1 / sifor (=. 3,00,000) ».7,00,000

P/ V siopura i surelr @3 :

[Question ID = 416][Question Description = S3_qSNz_PG_MGT_Q16]
1. 40%

[Option ID = 1661]
2. 16%

[Option ID = 1662]
3. 28%

[Option ID = 1663]
4. 12%

[Option ID = 1664]
Correct Answer :-
o 40%

[Option ID = 1661]

17) Which methods of risk analysis better serve lender's perspective in the capital budgeting decisions?

ferec>uut 1 Dlot AT adir Ysil asifesr ok 3 spurerar @ uf¥ggn @l siiz Jaaz aor o 3 ?
[Question ID = 417][Question Description = S3_qSNz_PG_MGT_Q17]

Risk Adjusted Discount Rate/sif3qer @RS @ g2 [Option ID = 1665]

Certainty Equivalent approach/feifaar Jmerepet siférer [Option ID = 1666]

Simulation and Sensitivity analyses/sreeuvt 3l idcotofierar faea3wur [Option ID = 1667]
Decision Analysis/fewfr faecswur [Option ID = 1668]

A W N -

Correct Answer :-
e Risk Adjusted Discount Rate/SiiRaer wIRISH &e g2 [Option ID = 1665]

18) As per Walter's model, the market value of a growing firm will increase if the dividend payout ratio is

dice? discl @ AR [l frmriofc wal I asIR Jea oot 3 A [ crsior yaIdrel R-afer 3 96 Siar 3?
[Question ID = 418][Question Description = S3_qSNz_PG_MGT_Q18]

1. Increased/s@et 31 [Option ID = 1669]
2. Decreased/#et g3u [Option ID = 1670]
3. Constant/Rer [Option ID = 1671]

4. 100%/100 % [Option ID = 1672]



Correct Answer :-

® |Increased/ssrt gam [Option ID = 1669]

19) In the absence of covariance among securities in the portfolio, if each security has an average standard deviation of
20%, the portfolio of 100 securities would have a standard deviation of

afe didwifert 3 yferiferil 3 AsgRret &t 312 Algeet al ik afe g yfenyfer 6l siiera e feractor 20 % 3t aa 100 gfenferil & didwiferil
BT Aol faractor fapdot e ?

[Question ID = 419][Question Description = S3_qSNz_PG_MGT_Q19]
1. 2%/2 % [Option ID = 1673]

2. Zero/9wa [Option ID = 1674]

3. 20%/20 % [Option ID = 1675]

4. 5%/5 % [Option ID = 1676]

Correct Answer :-
e 2%/2 % [Option ID = 1673]

20) The relationship between an investor's expectation of return on bonds with respect to the investment horizon is called

qis uz yfergufyy &t fordere smrasigsil o1 foraor fienm o gt & i o1 Hder wactrr 3 :

[Questlon ID = 420][Question Description = S3_qSNz_PG_MGT_Q20]
Bond yield/sis fics [Option ID = 1677]

. Yield to maturity/ smfsuaadr smr (fics ¢ d=ifsct) [Option ID = 1678]

. Risk immunization/siRqe1 gferemr [Option ID = 1679]

. Term structure of interest rates/=mst g3t &I smafé izaen [Option ID = 1680]

AWN—\

Correct Answer :-

e Bond yield/ais wics [Option ID = 1677]

21) usually have intensive distribution because sales of these products tend to have a direct relationship to
their availability

ICUIGI DT AMHAIGI: 31601 fAARUI Bl & TRIID ol Icurcl I [yt o1 e Ader Iorhl Iuctserar uR ok w2ar 3

[Question ID = 421][Question Description = S3_qSNz_PG_MGT_Q21]
Convenience Goods/ 3Rt @ Sfider @ scwie alol arcft azqe [Option ID = 1681]
Speciality Goods/fafsre azqu [Option ID = 1682]

Shopping Goods/ fiftier aeq¥ (elifter sfget) [Option ID = 1683]

Unsought Goods/srnfer azqe [Option ID = 1684]

A w N =

Correct Answer :-
e Convenience Goods/3IsERI @ Sfider & sele alol arcft aqy [Option ID = 1681]

22) Which phrase best completes the statement below?

One of the key tasks of a marketer is to and to create a perception among consumers that the product is
worth purchasing.

fraure (srd>e?) o1 v gHgE PRI 3 3R Icurc ol Fcol D BRIGI D AR 3 PE® D YeAST Silol DI JRIA Dol 3

[Question ID = 422][Question Description = S3_qSNz_PG_MGT_Q22]

. Make products easily visible and available/RRRI 3curg sm=isit 3 f&xa 3 iz 3uctstr &t ;D [Option ID = 1685]

. Promote sales of products/3curci &t f[dast 9 21> [Option ID = 1686]

. Differentiate their products from those of competitors/3or® 3curci @l yfeigfeRil @ 3curc 3 sicol fdpar s AD [Option ID = 1687]
. Do market surveys/frRr gz Adstr faser sm 3@ [Option ID = 1688]

AW N =

Correct Answer :-
e Make products easily visible and available/fRRI 3cure simioft 3 f&a 3 3iiz 3uctstr @ > [Option ID = 1685]

23) When companies offer products in small packages or charge on a pay-per-use basis, then such strategies are part of:

Afe weuforil Icurcl @ BI-vI¢ Udsll I U9l @2 W 8l srear U-arE-Isl SRI DIl DI a=icl 8 3l ad 31 YR Dl Wehferit fprer sier aidt 37
[Question ID = 423][Question Description = S3_qSNz_PG_MGT_Q23]

Regionalisation strategies/gidiaur umfiferii [Option ID = 1689]

Strategies for the Bottom-of-the Pyramid/dica sifw & ftRifds @ fee 2vmiieri [Option ID = 1690]
Strategies for competing with global companies/df*as wuforil @ ustsel @ fere kiR [Option ID = 1691]
Strategies for internationalisation/dsdim2ur g wmwefieril [Option ID = 1692]

A w N =

Correct Answer :-
e Regionalisation strategies/gidfiazur Jvwiiferit [Option ID = 1689]



24) At the business level, organisations need to position their business as being Low-cost leaders or Differentiated. The
position when cost leadership is high in terms of lower prices/lower costs and differentiation is low, is called:

RIGART A2 U H3IG6ll DI 3MUofl RIGART f¥-erfer @ @ cera @ cfis: 3u 3 srerdr feerdr arct @ 3U 3 DRIA 3ol I S153d Bldl 3 3T cIPId
olqfcd @ DIAA/ DA PRI @ Ao 3 32 SIar 3 a1 AR Yol Bl 3 ad 3A TR Pal ST 3 ?

[Question ID = 424][Question Description = S3_qSNz_PG_MGT_Q24]
Focused Cost Leaders/3iddfoga afze cfisz [Option ID = 1693]

Cost Leaders/ofsc cfisz [Option ID = 1694]

Differentiators/fsiga [Option ID = 1695]

Focused differentiators/zi®foga fadlga [Option ID = 1696]

A w N =

Correct Answer :-

e Focused Cost Leaders/zidfoga @ize cfisz [Option ID = 1693]

25) The process of converting a non-productive, inactive asset into a productive asset by selling receivables to a company
that specialises in their collection and administration, is described as

af¥iuferIl @ Hsavr ik gomrte 3 forgur fepfl dusit @I greil &t fast @ repEt A o=l srquce, forftazr ufswiufa @ scuree uf¥ziuf 3
uf¥afefa oot & gfpar et 3 ?

[Question ID = 425][Question Description = S3_qSNz_PG_MGT_Q25]

Credit administration/ra gemter [Option ID = 1697]
Factoring/cleiert erar-a@r [Option ID = 1698]
Receivables management/gmr gdtrer [Option ID = 1699]
Credit rating/zmx 3fdst [Option ID = 1700]

A WN -

Correct Answer :-
e Credit administration/zma gemter [Option ID = 1697]

26) "Moments of Truth” in services marketing was given by:

AfdRI ardstest 3 "Hdioe 3w g’ fpad grI fGar sk 3 @

[Question ID = 426][Question Description = S3_qSNz_PG_MGT_Q26]
1. Jan Carlzon/stror @rcfsiior

[Option ID = 1701]
2. Rosser Reeves/3RR ot

[Option ID = 1702]
3. Parasuraman and Zeithamal/u3pset 3l Siowiet

[Option ID = 1703]
4. Gary Armstrong/s131 smafagior

[Option ID = 1704]
Correct Answer :-
e Jan Carlzon/sier @retsiior
[Option ID = 1701]

27) Which one of the following tasks is NOT expected to be performed in Sales Management?

farast gaeror 3 forgotferBaa 3 A dlel AT SRI fosan siron sraféra oidf &
[Question ID = 427][Question Description = S3_qSNz_PG_MGT_Q27]

Formulating sales policies/ gz Jdefisfiferil @1 foweivr [Option ID = 1705]

Designing sales territories/faterqi @t fSsmser w2an [Option ID = 1706]

Selecting and recruitment of salesforce/ i@} @Rl get @1 a=el 3l orcht arcf [Option ID = 1707]

Determining the selling price of the firm's products/wsf @ 3curci @ faayr &t Hlera a1 forerfzur w2en [Option ID = 1708]

A W N -

Correct Answer :-
e Formulating sales policies/faay Jtfisfiferil @1 forfor [Option ID = 1705]

28) In the retail industry, a 'Category Killer' is referred to as:

B I A 'DesRl e’ fpRl Jishiia wear 3 ?
[Question ID = 428][Question Description = S3_qSNz_PG_MGT_Q28]



1. A multi-category large discount store that is famous for its wide selection of products/v® ag-Jpuill (AccideoRl) as Be #SR (TR) Sl IFUIGE D &6 A=Al 3
yRrg @ [Option ID = 1709]

2. A speciality store wedded to discounting and domination of a product category/ve® fafdre 3€R Sit vt 3eurs Juit &t we 3k gererdr @ fow yfeg 8t [Option
ID = 1710]

3. Astore in a residential area and offers all household goods and fresh groceries/fsft RarRit scird 3 32 der St @3] el iR drsft er-AfSrRl vd 3folsil ot
Yot e & [Option ID = 1711]

4. A unique 24/7 store located on major highways and also located in fuel stations/u® fafSme 24/7 3R Sl yoa AswIel 3l Sereiudl (W]cl 3C6l) TR Ue SIkd &
[Option ID = 1712]

Correct Answer :-

e A multi-category large discount store that is famous for its wide selection of products/v® wg-9ult (Fccidesrl) a8 gg 9SR (ICR) Sl 3FUe] D Ja6 TRIGT 3G
yRrg & [Option ID = 1709]

29) When is the finite population multiplier expected to be approximately equal to one?

i3I SIeIRIRIT JPID B DA TPBIPI Ub @ SRISR Blol DI oIl IBel & 7

[Question ID = 429][Question Description = S3_qSNz_PG_MGT_Q29]
1. N = 200/N = 20n
[Option ID = 1713]
2. N = 30n/N = 30n
[Option ID = 1714]
3. N = 100/N = 10n
[Option ID = 1715]
4 N = 40n/N = 40n
[Option ID = 1716]

Correct Answer :-
® N=20n/N = 20n

[Option ID = 1713]

30) Which of the following is true with regard to method of least squares used in simple regression analysis ?

IRl UPEH fauvT 3 SYeldd famciol aild> o Jder I fordol i A Dol AT A3 3 ?
[Question ID = 430][Question Description = S3_qSNz_PG_MGT_Q30]

1. It minimises the sum of the squared values of the independent variable/s adq a2 @ asfiaa #c=1 bt oxjorar I georfar 8 [Option ID = 1717]

2. It minimises the sum of squared differences between the values of independent variable and their mean/? ¥adq @z @ i 3l ol e D fla D
offape siaR bt s @t @t w2 a1 3 [Option ID = 1718]

3. It minimises the sum of the squared differences between the actual values of dependent variable and the estimated values of the dependent
variable as per regression equation /s catel wiiur (Rl sad9lel) @ IGRIR NI R 3l IS TR D Mopiford e D dla D delfd AR Bl BA B2 S &
[Option ID = 1719]

4. It minimises the sum of squared values of the dependent variable /s 3nufSjd a3 @ deffaya ac=1 & sqr @1 @at w2 3ar & [Option ID = 1720]

Correct Answer :-
e |t minimises the sum of the squared values of the independent variable /s ¥adq az @& asffaa e bt s=foiar @t gorfar 8 [Option ID = 1717]
31) |In statistical quality control, the expected process variation (natural tolerance) is commonly taken

to be

WiRkea g Turadl 90 H SH1Hd Uishar faeru (eI 9wl SH-aqar &1 sidl &2
[Question ID = 431][Question Description = S3_qSNz_PG_MGT_Q31]
" w+1lo/u+ 1o

[Option ID = 1721]
2 u+20/u+ 20

[Option ID = 1722]
3 u+30/u+30

[Option ID = 1723]
4 xS S o

[Option ID = 1724]

Correct Answer :-

® u+lo/ut+1lo



[Option ID = 1721]

32) Who is widely credited for placing Japan as a world leader in the quality of its manufactured

products?

SO 1 A fafafia Sl @1 qoaa 5 3y A9 &1 [ufa o 9 &1 99 659 & s &

[Question ID = 432][Question Description = S3_qSNz_PG_MGT_Q32]
Schonberger R. J./9lersskz, 3m2. 31 [Option ID = 1725]

Deming W.E./3fde1, sece$. [Option ID = 1726]

Juran J.M/3Rret, 3. et [Option ID = 1727]

Goddard. W/slIsts seegg [Option ID = 1728]

A w N =

Correct Answer :-
e Schonberger R. J./9llelesR, 3i=. 31 [Option ID = 1725]

33) A transportation problem with m origins and n destinations becomes a trans-shipment problem
with

m-3%H 3R n-Tided ¥ Heifia ulias- aaw feads T # Ua gHIoRy 99T &9 9k S ?
[Question ID = 433][Question Description = S3_qSNz_PG_MGT_Q33]
1. {(m + n) sources and (m + n) destinations /(m+n) [ 3R (m+n) Tided

[Option ID = 1729]
2. (m+ n— 1) sources and equal number of destinations /(m+n-1) T e aicrealt &t o Hacar

[Option ID = 1730]
3. (m - n) sources and (m — n) destinations /(m-n) ¥d 3 (m-n) Tided

[Option ID = 1731]
4. (m+ n—2) sources and (m + n — 2) destinations /(m+n-2) Hd 3R (m+n-2) IaA

[Option ID = 1732]

Correct Answer :-

® (m+ n) sources and (m + n) destinations /(m+n) Fd AR (m+n) T

[Option ID = 1729]

34) When is a firm not expected to prefer FDI to licensing?

YT & fu o I B4 Uh S8, Bl adiud 78l ol ?

[Question ID = 434][Question Description = S3_qSNz_PG_MGT_Q34]

1. The firm has valuable know how that cannot be adequately protected by a contract/wsf @ urI sgsc StorpRt (SiTel) aldl & BRI 2ifdet grI Y3t ave JRfer ot
31 oI et 3 [Option ID = 1733]

2. The firm needs tight control over a foreign entity in order to maximise its market share and earnings in that country/Jer 3t smsft 3iRr derr ariR 9RR Bt
TGIol D 359 A DUl 3ol Il Joif 3t Ber gial w g3t aws foriqur 2zt 8 [Option ID = 1734]

3. The firm faces high transportation costs and tariffs/wmusfl 3ca uf¥agel eI 8ii2 M- 9cd W @et 3t & [Option ID = 1735]

4. The firm's skills and capabilities are difficult to replicate in a foreign market/fcoft arsie 3t wat w1 Bloret 3T T DI Yraferd alolt Hfddet alar 3 [Option ID
=1736]

Correct Answer :-
e The firm has valuable know how that cannot be adequately protected by a contract/waf @ urt ¥ SIoIPR! (SiT0T) 2left & BRI Afdar grI g3t avs Jpfdi ot
31 ST bl & [Option ID = 1733]

35) In the context of Data Mining, which one of the following is a method of Data Reduction?

et arstoisr @ gt 3 31 Rsaerer @1 forger 3 A DBiol-AT v aflor & ?

[Question ID = 435][Question Description = S3_qSNz_PG_MGT_Q35]
. Normalization/gzmere=flaszur [Option ID = 1737]

. Data Compression/3er @grat (2idtser) [Option ID = 1738]

. Multiple Regression/agfde yfeemrer [Option ID = 1739]

. Outlier Analysis/afgafsft fa=awur [Option ID = 1740]

A W N -

Correct Answer :-
o Normalization/gzmreefiaszor [Option ID = 1737]

36) In the context of the International Monetary System, the case for a fixed exchange rate regime claims:



siaeicdir #gr yumetl & g 3 v foifdaa faforrr o2 caRen o1 ARIen A6 sar o 3 b :
[Question ID = 436][Question Description = S3_qSNz_PG_MGT_Q36]

1. The need to maintain a fixed exchange rate imposes monetary discipline on a country/foif2ia fifoRI G2 I DrREI 3ol 6 sl oI 3 ISP IGOIRIel eIl &
[Option ID = 1741]

2. The goods and service manufactured in the country become more competitive in international markets/ger 3 Scurfé amet siie a1 AR AeIR 3 d5a
yferuelf &t sy 8 [Option ID = 1742]

3. Floating exchange rate regimes are vulnerable to speculative pressure/ufsaderofter faforrr &2 wrazen siedaIsd Gara @ o s@ (Jcwrar) axdt & [Option ID
= 1743]

4. Far from correcting trade imbalance, depreciating a currency in the foreign exchange market tends to cause price inflation/®muR sRidetol @I Sl Bt
@ aifeif¥en bt fgr Blera @ faSoft fAfowrr asme 3 wa o A acr gfy axdt 8 [Option ID = 1744]

Correct Answer :-
e The need to maintain a fixed exchange rate imposes monetary discipline on a country/foif2ra fafowrr G2 @l ®rET 30l I Filst Sor 3 AfSD 3MoforIel el 3
[Option ID = 1741]

37) The computer system most likely to be used by a large bank for the savings account of a customer would be:

o=t a3 §b oI SfIE®l D Fad Wi D fere s &l STol arcil PP (BFRIR) Yuicil b1 g & aett ?

[Question ID = 437][Question Description = S3_qSNz_PG_MGT_Q37]
1. An on-line, real-time system/we aifol-clrset, f31et ersat goumeft [Option ID = 1745]

2. A generalized utility system/uv® memeitapa Su=ifSr gureft [Option ID = 1746]

3. A batch processing system/uvw da el (gRRie1) guneft [Option ID = 1747]

4. A direct access database system/uvd yriet sifdemier Scidet yuneft [Option ID = 1748]

Correct Answer :-
® An on-line, real-time system/ues sifel-cirsel, Reret ersat yorelt [Option ID = 1745]

38) Which one of the following is NOT desirable while handling a grievance?

fOrBRIA 330l @ Sizral fordoifer¥aa 3 3 dlol diveli= ol 3 ?

[Question ID = 438][Question Description = S3_qSNz_PG_MGT_Q38]

1. The union will identify specific contractual provisions allegedly being violated/forIer gri 2ifder 6t 3ot fafdree &gl B usarer w2t fSierdT B Bu 3 Iccizot
fopent S a1 @t [Option ID = 1749]

2. Make arrangement with individual employees that are inconsistent with the labour agreement/gp1 @R 3 3RIEH Blol drel PalaIiRIl 3 AlG 1S DI
[Option ID = 1750]

3. Hold the grievance discussions privately/forprIa i forsft aafdl @wen [Option ID = 1751]

4. Examine the grievant personnel's record/fSioriamal @ aifdie IS &t sifa [Option ID = 1752]

Correct Answer :-
e The union will identify specific contractual provisions allegedly being violated/zIforrel gt Jifdcr bt 3ot fafore giql &t usarer w2l et Bfe 3u A Ieciae
fopen S et @t [Option ID = 1749]

39) Entrepreneurs who are characterised by a refusal to adopt opportunities and make changes in production systems even
if it affects the returns of the organisation are called

T AT Jendl Sl IcurGol cIavel 3 Ia¥R) Bl JJaUI Bl 3iiz uf¥dciol del A FHell Dol DI fANTAT drcir 3t SIafds s FoTool bl IRT B PIfdd B2
331 8, T6 PECIl 3 -

[Question ID = 439][Question Description = S3_qSNz_PG_MGT_Q39]

1. Fabian Entrepreneurs/wifdRier 3zwft [Option ID = 1753]

2. Life timers entrepreneurs/csw crsari 3epft [Option ID = 1754]

3. Imitative entrepreneurs/sipctt 3eweft [Option ID = 1755]
4. Drone entrepreneurs/amerft 3eeft [Option ID = 1756]

Correct Answer :-
e Fabian Entrepreneurs/wiferrar 3ewft [Option ID = 1753]

40) Which one of the following is NOT a part of the current account of a country's balance of payments?

forgotferfiaa 3 A o Rp2ft S91 B YEIATeT JdcTol & arel FId T 3 o1él 3 ?

[Question ID = 440][Question Description = S3_qSNz_PG_MGT_Q40]
1. Import of Goods/a=zqgii @1 s [Option ID = 1757]

2. Portfolio Investment/didwifertt forder [Option ID = 1758]

3. Investment income/fsrder st [Option ID = 1759]

4. Export of Goods/axqgil @1 forifa [Option ID = 1760]

Correct Answer :-
e Import of Goods/axqgail @1 s [Option ID = 1757]



41) A price ceiling below the equilibrium price of a commodity leads to
A. Commodity glut in market

B. Shortage of commodity

C. Demand erosion

D. Black marketing

Choose the correct answer from the options given below:

I D AR AT D ofl IcaAAA A AAR 3, forar 3 A b1 wu 3 wiera grar 3 ?
A. 9eIR @ g3l bl AR

B. s¥q &t @it don

C. Jniot 3t @t 3mmom

D. ®remarsist

il feu s1u fareedl 3 A A8 IR D1 WRIel B :

[Question ID = 441][Question Description = S3_qSNz_PG_MGT_Q41]

1. A and B only/dact A siiz B [Option ID = 1761]
2. Band C only/daet B siiz C [Option ID = 1762]
3. Band D only/dact B siiz D [Option ID = 1763]
4. Aand D only/a@act A siiz D [Option ID = 1764]

Correct Answer :-
e A and B only/dbaer A siiz B [Option ID = 1761]

42) The essential conditions for price discrimination practice to succeed in different markets are
A. Firms must have strong interdependence per se

B. Firm must have some control over the price of the product

C. Differentiated products and strong entry restrictions

D. Price elasticity of demand must differ in different markets

E. Markets for the products must be separable

Choose the correct answer from the options given below:

farf¥roor AISIRI 3 AWel Blol 3 He Aol AR D fere sraeaem Rrefery 3 :
A. ucil I 3Ma=T 3 FASIYA 3R 3NfOYIT 3/aeT Bloll

B. wucil @I 3curc &t Hlard ur @@ orRIquI e Sl

C. fafdree Irurcl 3R drpdaar ydor yfeserst

D. Fis1 &t Blara Yeamzerar fafdieor asiRl 3 fieol dlor

E. 3curc @ fo1u areIR 3/a9d geraavila ot

ofi o s1u fwedl & A A8 IR @I wRIe HifvrT :

[Question ID = 442][Question Description = S3_qSNz_PG_MGT_Q42]

1. A, B and C only/dsaet A, B siiz C [Option ID = 1765]
2. B, C and D only/dsaer B, C aiiz D [Option ID = 1766]
3. C, DandE only/aqe C, D iz E [Option ID = 1767]
4. B, D and E only/dact B, D siiz E [Option ID = 1768]

Correct Answer :-
® A, Band C only/aaer A, B siiz C [Option ID = 1765]

43) Which of the following are creative problem solving characteristics of effective managers?
A. Cognitive style

B. Conceptual blocks

C. Divergent thinking

D. Activity balance

Choose the correct answer from the options given below:



gaIrdl yeierp! bl Foelicd® A1 forarae fadrudam forgeifeiRaa 3 3 oot 21 3 ?
A. sioiea® dicht

B. yrRIrcA® scifa1

C. firat A

D. Rpzreerra Fidetor

ofi o s1u faseal & A A8 IR BT wRI6T HIRIT :

[Question ID = 443][Question Description = S3_qSNz_PG_MGT_Q43]

1. Aand C only/a@aet A siiz C [Option ID = 1769]
2. B and C only/@aet B siiz C [Option ID = 1770]
3. A, Cand D only/a@ae A, C sz D [Option ID = 1771]
4. B, C and D only/dsaet B, C siiz D [Option ID = 1772]

Correct Answer :-
e Aand C only/asaet A aiiz C [Option ID = 1769]

44) The term 'Flexible Manufacturing Technology' or ‘Lean Production’, covers a range of manufacturing technologies
designed to:

A. Become compliant with government regulations

B. Reduce setup times for complex equipment

C. Increase utilization of individual machines through better scheduling
D. Improve quality control at all stages of the manufacturing process

Choose the correct answer from the options given below:

91e¢ 's13roiia faforatfor aaefichl’ sterar sroRIfa Scurcar faforiior awellel & ue ufer (3s) A sresiea diar 3 A6 e feru sifdrafeua 3 ¢
A. Jzordl fAformil @1 seUIcIa Blol

B. sifect Sumvll @ feru forerifea Jorr @ wa don

C. &R forerfzur & are=En 3 Fa=i 6 Aofiell Bl ITRNBIAT a@ren

D. faferatior gfepen @ st IRl U= IpvTaTr forRiqUI DI JeRer

ofi o s1u faseal & A A8 IR BT wRI6l BT :

[Question ID = 444][Question Description = S3_qSNz_PG_MGT_Q44]

A, C and D only/d@saet A, C iz D [Option ID = 1773]
B, C and D only/d@aet B, C sfiz D [Option ID = 1774]
A and D only/d@ae A siiz D [Option ID = 1775]
B and C only/@aet B siiz C [Option ID = 1776]

A W N -

Correct Answer :-
e A, Cand D only/aaet A, C siiz D [Option ID = 1773]

45) Theory of international trade promotes

A. Increase in demand for exportable products

B. Rise in prices and volumes

C. Improvement in quality of products

D. Reduction in prices and increase in quality for consumers

Choose the correct answer from the options given below:

idriséR saruR & Rigia aear 3a 3 :

A. forafa isa 3eurch @ fere st 3 giy

B. dhlardi siiz ufemnoil/ uf¥emor 3 agrast

C. 3curct &l spuramn 3 gl

D. Susireoraii @ fere dblardl i @il 3iiz spuradr 3 gl oo

il feu aru fareedl 3 A A8 IR @1 WRIel B :

[Question ID = 445][Question Description = S3_qSNz_PG_MGT_Q45]



A, B and C only/dact A, B afiz C [Option ID = 1777]
A, C and D only/daet A, C siiz D [Option ID = 1778]
B, C and D only/aact B, C siiz D [Option ID = 1779]
A and B only/dact A siiz B [Option ID = 1780]

A W N -

Correct Answer :-
e A, Band C only/aae A, B iz C [Option ID = 1777]

46) To achieve its aims in Strategic Human Resource Management, organization's formulate and execute Human Resources
A. Policies

B. Behaviours

C. Practices

D. Competencies

Choose the correct answer from the options given below:

JUTGliferes Ao HATEIGT Yeitiol d 3ol 389 YIffT @ fere 1ol vl Aera=iIerel @l ygferarfea ud fopnfoaa @ 3 ?
A. ofiferri

B. caasr

C. ssara (JRrrsn)

D. @

ofid o s1u fwseal & A A8 IR BT wRI6l BT :

[Question ID = 446][Question Description = S3_qSNz_PG_MGT_Q46]

A and B only/@qet A siiz B [Option ID = 1781]
A and C only/dae A siiz C [Option ID = 1782]
B and C only/dqet B sfiz C [Option ID = 1783]
A, B, C and D/A, B, C siiz D [Option ID = 1784]

A W N -

Correct Answer :-
e Aand B only/@aet A iz B [Option ID = 1781]

47) The salient features of Zero Base Budgeting are:

A. It is a decision oriented approach

B.The decision unit is broken into understandable decision packages which are ranked according to importance
C. The responsibility is shifted from top management to the manager of the decision unit

D. It is an accounting oriented approach

E. Top management decides why a particular amount of money should be spent on a particular decision unit

Choose the correct answer from the options given below:

9l - JTent¥e aoicot bt g frdreard 3 :

A. w16 ooy surE 3

B. fofa soo1é oot diewr forofa Sabsil 3 faafea @2 sera @ ez uR Jorot o forerifa fapem srar
C. Ja gdtre A forof soré @ gaerd UR IaeIRca Felelidi¥d 3l Sidr 3

D. sz crarmviicya UPH &

E. 3ca yderst forof crar 3 fop fopeil faoy forofa s ur ol froy ereraifar @il <t woll anfdu
i) feu s1u faredl 3 A A8 IR DI TRIe BRI :

[Question ID = 447][Question Description = S3_qSNz_PG_MGT_Q47]

1. A, B and C only/daet A, B siiz C [Option ID = 1785]
2. D and E only/d@aet D iz E [Option ID = 1786]
3. Aand B only/daet A siiz B [Option ID = 1787]
4. C, D and E only/@aet C, D 3iiz E [Option ID = 1788]

Correct Answer :-
® A, Band C only/aac A, B siiz C [Option ID = 1785]

48) The formula for calculating Degree of Operating Leverage (DOL) are:

% change in EBIT
A e T



o CHANEE 1 =31E5

" Contribution

B. =
e EBIT
C. DOL = EBIT + Fixed cost
o EBIT
EBIT
D.poL = —
Contribution

Choose the correct answer from the options given below:

TR feraest (Do) B 0T &l BIHer a1 & ?
T . %EBIT Hdgelld
) o fawt & agera
BN
B.DOL = —=r

EBIT + FEaara

C. DOL =
EBIT
EBIT
D.DOL = e

i feu e faweal © § 981 IR @1 994 Siferg ;

[Question ID = 448][Question Description = S3_qSNz_PG_MGT_Q48]
A, C and D only/dact A, C aiiz D [Option ID = 1789]

B, C and D only/adaet B, C siiz D [Option ID = 1790]

A, B and C only/dact A, B afiz C [Option ID = 1791]

A and B only/dact A siiz B [Option ID = 1792]

A W N -

Correct Answer :-
e A, Cand D only/aact A, C siiz D [Option ID = 1789]

49) Funds flow and Cash flow statements are important managerial tools and help the firm to know:
A. Liquidity position

B. Capital expenditure incurred

C. Dividend paid

D. Extent of external financing

Choose the correct answer from the options given below:

foifer gyars 3iiz oipdl Yyare wol Astayqul Yaerhi— U=l & fofeld A8R Yfersord @I ______ Sifolol 3 Jsrrdl fBrerdl 3:
A. azerar &t Rafer

B. ¢sft wad

C. 1 srar errstior

D. arar feriier &1 sgr

il fou s1u frepeul 3 A I IR BT w6l HIfSIE ©

[Question ID = 449][Question Description = S3_qSNz_PG_MGT_Q49]

A, B and C only/@aet A, B aiiz C [Option ID = 1793]
B, C and D only/a@act B, C siiz D [Option ID = 1794]
A and D only/a@aet A siiz D [Option ID = 1795]

A, B, C and D/A, B, C siiz D [Option ID = 1796]

A W N -

Correct Answer :-
® A, Band C only/aaer A, B siiz C [Option ID = 1793]

50) Portfolio theory provides a normative approach to investing based on which of the following assumptions?



A. Risk-return spread is uniform for all asset classes
B. Investors are risk-averse

C. Market risk pricing is identical for all investors
D. Return on assets are normally distributed

E. Uniform investment horizon

Choose the correct answer from the options given below:

aiéwiferit Rrgia forder @ e vas BRIEI® P Yerel w2l 3 Sil forgot 31 3 b1 sigdirel U= smenfyd diar 3 :
A. 137t ufeziufa aeif 3q SifRaw - gfergif vt il 3

B. fordore siifRqar fogpa aia 3

C. o fordoerel @ fRre aeIR SRA3 I v AT BT 3

D. ufiuferi &1 gfergifft meareaa: faafya et @

E. v 3im6t fordor @R Aiar

sifd fu a1 frpeul 3 A Al IR BT TR DIfSTU :

[Question ID = 450][Question Description = S3_qSNz_PG_MGT_Q50]

A, B and C only/d@act A, B siiz C [Option ID = 1797]
B, C and D only/@ae B, C siiz D [Option ID = 1798]
C, D and E only/@aa C, D siiz E [Option ID = 1799]
A, C and E only/d@aet A, C 3iiz E [Option ID = 1800]

AW N =

Correct Answer :-
® A, Band C only/aac A, B iz C [Option ID = 1797]

51) Out of the following, which are the most common error committed by Entrepreneurs?
A. To anticipate roadblocks

B. No commitment or dedication

C. Proposing market niche (Segment)

D. Lack of demonstrated experience

E. No realistic goals

Choose the correct answer from the options given below:

forraiferRaa 3 oot 2 Iefirll gr1 Yferag Aalfere Ameiea siglfgal o 3 :
A. 3rRIerRDI BT gaiciaret

B. ®1$ yferergar srerar Aardor ordt

C. IR @ IWID AT (Hs) DI gzaa

D. ygfofa smepra i wait

E. aemefardt 32l @r o1dl el

il fou s1u fraseul 3 2 & IR BT w6l HIfSIE ©

[Question ID = 451][Question Description = S3_qSNz_PG_MGT_Q51]

. A, Band C only/dact A, B siiz C [Option ID = 1801]
. B, D and E only/daet B, D 3iiz E [Option ID = 1802]
. C, Dand E only/aact C, D siiz E [Option ID = 1803]
. B, C, Dand E only/daa B, C, D siiz E [Option ID = 1804]

A W N -

Correct Answer :-
e A, Band C only/aac A, B siiz C [Option ID = 1801]

52) ldentify the drivers for increased Foreign Institutional Investment flows in Indian stock markets in recent times
A. Covid-19 pandemic driven liquidity outflows from the western capital markets

B. Geopolitical supply chain relocations

C. Increased India weightage in MSCI Emerging Market Index

D. Steep decline in interest rates in large market friendly economies

E. Favourable risk-reward ratios in Indian stock markets



Choose the correct answer from the options given below:

acdatret e 3 sRdl e ardse 3 el dvenfore fordor yare ol agral arc arcral &t usdrel &3 :
A. DIfas - 19 s of uf2ell Ysh asR A gaar o afdskier e

B. sionferd - Ismoiiferas smyfel gjze @I yor: rere forerzor

C. 3R MSCI (va.e1l.en3.) aeIR Jadicd A HRARI fRBIR BT dgol

D. a3 a=IR - Bsdllsrefcaazensii d st o sicafin PBrom

E. sl 3o varrdst 3 sreld SIRad - SIRI solurd

sifa fou s1e frpeul 9 A A IR DI TI6l HIfSIE ¢

[Question ID = 452][Question Description = S3_qSNz_PG_MGT_Q52]

A, B and C only/d@aet A, B siiz C [Option ID = 1805]
C, D and E only/@aa C, D siiz E [Option ID = 1806]
B, C and D only/a@act B, C siiz D [Option ID = 1807]
A, B, C and D only/asaet A, B, C siiz D [Option ID = 1808]

A w N =

Correct Answer :-
e A, Band Conly/dact A, B 3iiz C [Option ID = 1805]

53) Notable myths about Entrepreneurs and Entrepreneurship are
A. Entrepreneurs are academics and social misfits

B. Entrepreneurs must fit into an ideal profile

C. Entrepreneurs are doers and thinkers

D. All Entrepreneurs need is money

E. Entrepreneurs are not born but made

Choose the correct answer from the options given below:

JeIfril 3iiz Serrgficrar @ aR 3 Iccidofl e & -

A. Szt sremasIfiye SR ARMRIE 34 A IR 3

B. Sereil v smcef Yiwrse UR SUYTD Bid &

C. Jenlt & st sz Rias aia 3

D. 21sft Sefdril I smagamdar dgr 8

E. 3epfl st A o1& 31 afew do1a 3

il fou s1u frapeul 3 2 & 3R BT a6l HIfSIE ©

[Question ID = 453][Question Description = S3_qSNz_PG_MGT_Q53]

. A, B, Cand D only/a@aet A, B, C siiz D [Option ID = 1809]
. B, C, Dand E only/dae B, C, D 3iiz E [Option ID = 1810]
. A, B and D only/daet A, B 3iiz D [Option ID = 1811]
. C, D and E only/daea C, D siiz E [Option ID = 1812]

A W N -

Correct Answer :-
e A, B, Cand D only/adact A, B, C siiz D [Option ID = 1809]

54) The reasons why firms enter into strategic alliances are:
A. Enter new markets

B. Abide by government regulations

C. Reduce manufacturing costs

D. Developing and diffusing technology

Choose the correct answer from the options given below:

forgot 3 A fopar PRIl @& Tert wIt s1cdercT WARRIT sruetrd 3?7
A. oI¢ aeIR # ya9r oo @ ferg

B. 3R faforpil @I urciel ol @ fer

C. foriur @t wa B o e



D. awmofis & fadRI vd bara @ fere
oifd fu s1u farapeul 3 A 2t IR BT TR DU
[Question ID = 454][Question Description = S3_qSNz_PG_MGT_Q54]

A, B and C only/@aet A. B aiiz C [Option ID = 1813]
B, C and D only/a@act B, C siiz D [Option ID = 1814]
A, B and D only/@aet A, B 3iiz D [Option ID = 1815]
A, C and D only/dsaet A, C siiz D [Option ID = 1816]

A W N -

Correct Answer :-
® A, Band C only/aaer A. B siiz C [Option ID = 1813]

55) Out of the following, which are the CORRECT forms of Product Life Cycle:
A. Bell-shaped PLC

B. Scalloped PLC

C. Cycle-Recycle PLC

D. Growth-Slump PLC

Choose the correct answer from the options given below:

IeurG Stidorady @ aRull @ A8 WU forarfeiRaa 3 A bl - A 3 ?

A. d& o (e 9res) diuer

B. ougw ofemr dl.ueril

C. T@ur - gor: aqur dl.uer3dl.

D. fara - Brrac dleeil.

ofid fou s1u fwsedl # A A8 IR BT <RI BT :

[Question ID = 455][Question Description = S3_qSNz_PG_MGT_Q55]
1. A,B,Cand D/A, B, C3ir D

[Option ID = 1817]
2. B, C and D only/dae B, C sz D

[Option ID = 1818]
3. A, Cand D only/@aet A, C 3z D

[Option ID = 1819]
4. A, B and C only/dae A, B sz C

[Option ID = 1820]

Correct Answer :-
e A B, CandD/A, B, Csie D

[Option ID = 1817]

56) Which of the following denote the CORRECT set of unrecognised form of organisational justice?
A. Procedural justice

B. Shareholder justice

C. Collateral justice

D. Interactional justice

Choose the correct answer from the options given below:

forgotferfiad 3 wlol AT APISHID RIRT B IRIGISA Fasu oI Al APcert forerifya waar 3 ?
A. yfgeTa IRt

B. sioreIRe® sarR1

C. JHAGIIMR R

D. siaefepRicads oRarr

sifa fou s1e frpeul 9 A A IR DI TI6l HISIE ¢

[Question ID = 456][Question Description = S3_qSNz_PG_MGT_Q56]



A and C only/dae A siiz C [Option ID = 1821]
B and C only/dqet B sfiz C [Option ID = 1822]
A and B only/d>aet A siiz B [Option ID = 1823]
A and D only/d@act A siiz D [Option ID = 1824]

A W N -

Correct Answer :-
e Aand C only/aae A siiz C [Option ID = 1821]

57) Once a company has appointed dealers, the main elements of dealer motivation then are:
A. Territory of operation

B. Trade discount

C. Special incentives

D. Effective communication

Choose the correct answer from the options given below:

DUGll ERI TP dR SierRl @l forgep @2 o sirar 3, ad SierR gl & J3RT 3[aRE 3 &

A. garetot &

B. cmur: e

C. fa9y gicarsat

D. gerrdt 21aquor

ofi o s1u fesedl & A A8 IR BT wRI6l HIfRIU :

[Question ID = 457][Question Description = S3_qSNz_PG_MGT_Q57]
1. A, B and C only/@aa A, B aiiz C

[Option ID = 1825]
2. B, Cand D only/@aa B, C siiz D

[Option ID = 1826]
3. A, Cand D only/dacr A, C siiz D

[Option ID = 1827]
4. Aand B only/dact A 3z B

[Option ID = 1828]

Correct Answer :-
e A, Band C only/dact A, B aliz C

[Option ID = 1825]

58) In consumer markets, for a market segment to be an effective and viable target, the segment should be:
A. Identifiable

B. Reachable

C. Transcending International boundaries

D. Sizeable

Choose the correct answer from the options given below:

3usiIol I6IRI 3 aRIR ¥ @ U Yurdl siiv aniye 3291 @ ferg fipar Rraferl @i disig dlon aifdu ©
A. ¥s usdre A Blel aIfde

B. xis Jo1R1 dlotl anfdn

C. ¥s soaRicdRr il A 3mP) agd dlol aifdu

D. s g&cIPR Bloll AIfidu

ofi o s1u faseal & A A8 IR BT <RI BT :

[Question ID = 458][Question Description = S3_qSNz_PG_MGT_Q58]

A and B only/d>qet A siiz B [Option ID = 1829]
A, B and D only/d@aet A, B siiz D [Option ID = 1830]
B, C and D only/adaet B, C siiz D [Option ID = 1831]
C and D only/a@aet C siiz D [Option ID = 1832]

A W N -

Correct Answer :-
® A and B only/@aet A 3iiz B [Option ID = 1829]



59) To gain sustainable competitive advantage in low cost manufacturing, Indian businesses are expected to
A. Reduce production cost, sacrifice profits and advertise more

B. Support MSMEs, to strengthen the supply chain

C. Adopt product differentiation and focus more on innovations

D. Bridge trust deficit and gain support from the public, workers and policy markers

Choose the correct answer from the options given below:

@3 oI ardl forgiiut 3 Henfya gieruert cmer gra ool @ fore sRedlR wuforil A smen i Sl 3 fop a -
A. 3UIGH CIBIA D3 D391, T DI AT DI 3iI2 2D YarR B

B. smyfef gjzer @ ASIgA ol @ fere MSME @1 J1arefor @3a1

C. 3curc fagéias2ur rucigal 3R sidiofiasur Uz siftre et Bfa B3t

D. frazeiRr &t waft @I urds) siiz Steldr, wafarst a ohfer forrfarsii 21 serefer grT okt

ofi o s1u fwedl & A A8} IR @I wRI6l HIfvTT :

[Question ID = 459][Question Description = S3_qSNz_PG_MGT_Q59]

. A and B only/@act A siiz B [Option ID = 1833]
. B and C only/dae B siiz C [Option ID = 1834]
. A, B and C only/dact A, B siiz C [Option ID = 1835]
B, C and D only/d@act B, C siiz D [Option ID = 1836]

A W N -

Correct Answer :-
® A and B only/daet A siiz B [Option ID = 1833]

60) Which of the following are necessary conditions for applying Siméon Denis Poisson distribution in the field of managerial
decision making?

A. Each occurrence of an event is independent of the occurrence of the other event
B. The probability of an occurrence is the same for any two intervals of equal length

C. Poisson distribution describes continuous occurrences over a specific time interval

D. In each interval, occurrences can range from zero to infinity

Choose the correct answer from the options given below:

yderbl forvlfrer @ 8 # Rifdrior Sfora1 g1 yferanfea disel far=ur @1 gler @l @ feru forgorfel3aa 3 3 @it - Al Refern smavae® & ?
A. 32 acor @I afed glell gardl acel @ afed 2ol A Faded, 3

B. 31r61 cgard @ fobodl <l sicRrell @ fere fopil acon &I giRiesdar eret aidl 3

C. dis3ral ferarur fep2il fady 9 sicrIet 3 ol drell Jaq afea  aceisil oI quist o 3

D. & siazra @ afed gien 9o A 3eid dD Bl ADI 3

ofi o s1u fasedl & A A8 IR BT wRI6l BT :

[Question ID = 460][Question Description = S3_qSNz_PG_MGT_Q60]

A and B only/d>qet A siiz B [Option ID = 1837]

A, C and D only/d@act A, C aiiz D [Option ID = 1838]
A, B and D only/daet A, B siiz D [Option ID = 1839]
A, B and C only/a@act A, B afiz C [Option ID = 1840]

A wWw N -

Correct Answer :-
e Aand B only/@aet A aiiz B [Option ID = 1837]

61) An outlier does NOT affect which of the following statistical measures?
A. Quartile range

B. Standard deviation

C. Median

D. Regression coefficients

Choose the correct answer from the options given below:

ar@l (3m3c forR) forrorfeRaa 3 A fba AiRsrdt smuet ganfaa oiét waar & ?
A. aqgel® 351 ferrcret



B. o1 ferretor

C. wea

D. ugeEmet S

il fou s1u fyeseul 3 A I IR BT w6l HIfSIE ©

[Question ID = 461][Question Description = S3_qSNz_PG_MGT_Q61]

A and C only/dbae A siiz C [Option ID = 1841]
A, C and D only/daet A, C siiz D [Option ID = 1842]
A and B only/aqet A siiz B [Option ID = 1843]
B and D only/dact B sfiz D [Option ID = 1844]

A W N -

Correct Answer :-
® Aand C only/aaa A siiz C [Option ID = 1841]

62) Out of the following, which are the IMF facilities available to member countries?
A. Extended Fund Facility (EFF)

B. Structural Adjustment Lending (SAL)

C. Compensatory Financing Facility (CFF)

D. Stand-by Arrangements (SBA)

Choose the correct answer from the options given below:

forgotferfRan 3t A g il d fore wiar Ml 3 vt vw yga Jfyens sucrser 3 ?
A. Rraifya fafer gfaen (£ vw uw)

B. FdoieIa AARISIH 3R (TA T Udl)

C. yferpricas frdrger Jfaen (ft vr vw)

D. dofeus wavens (v € v)

ofid o o1 fwseal # A A8 IR BT <RIt HIfIT :

[Question ID = 462][Question Description = S3_qSNz_PG_MGT_Q62]

. Aand B only/a@act A siiz B [Option ID = 1845]

. A, Band C only/asaet A, B siiz C [Option ID = 1846]
. A, Cand D only/a>aet A, C siiz D [Option ID = 1847]
. B, Cand D only/asaet B, C siiz D [Option ID = 1848]

A W N -

Correct Answer :-
e Aand B only/@aet A 3iiz B [Option ID = 1845]

63) Which of the following are types of foreign exchange risks or exposures?
A. Translation Exposure

B. Transaction Exposure

C. Social Exposure

D. Economic Exposure

Choose the correct answer from the options given below:

faSeft #gr faforert SiRaw &1 SGRIet ® YR 3 :

A. g1 RIPERI 3grel (gadien TaaUIsR)

B. et - ol IgRIal

C. i IgRIol

D. snf¥fe IgrRIe

ofid fou o1 fyweal & A A8 IR BT wRI6T BT :

[Question ID = 463][Question Description = S3_qSNz_PG_MGT_Q63]

1. Aand B only/d@qet A siiz B [Option ID = 1849]

2. A, B and D only/aaet A, B siiz D [Option ID = 1850]
3. A, B, Cand D/A, B, C 3iiz D [Option ID = 1851]

4. Aand D only/a@aet A sik D [Option ID = 1852]

Correct Answer :-
® A and B only/@aet A 3iiz B [Option ID = 1849]



64) Out of the following, the examples of radical innovations are:
A. Personal Computers

B. Frozen Yogurt

C. Disposable diapers

D. Overnight mail delivery

E. Microwave popcorn

Choose the correct answer from the options given below:

forgotferfiad w1 wiol 3M3cT sTayaciel & ISIET 3 :

A. cafiperd FemIs (wwges)

B. s3I gu AP

C. yRiIsa SrRruRd

D. AR dia &t Jgydsi

E. ss@iaa uradret

i) feu s1u farsedl 3 A A8 IR D1 WRIet B :

[Question ID = 464][Question Description = S3_qSNz_PG_MGT_Q64]

B, D and E only/dact B, D siiz E [Option ID = 1853]
A, B and C only/@aet A, B aiiz C [Option ID = 1854]
A, C and E only/a@aa A, C 3iiz E [Option ID = 1855]
A, C and D only/daet A, C siiz D [Option ID = 1856]

A w N =

Correct Answer :-
e B, D and E only/aqe B, D siiz E [Option ID = 1853]

65) Technical feasibility analysis will include which of the following?

A. Crucial technical specifications with respect to the design and product safety
B. Engineering requirements

C. Product development

D. Product testing

E. Plant location

Choose the correct answer from the options given below:

dwmotichl Hsirerar faeaswur onfirer ¥t -

A. oI awmoiidl Ridel siffrcu 3R Je D Aocsi 3

B. sifdriife[cbl smagaamae

C. 3eurs Rt

D. Irurg &t St @wen

E. e Tamet

il fou o1 frpeul 3 A A IR BT a6l HIfSIE ©

[Question ID = 465][Question Description = S3_qSNz_PG_MGT_Q65]

1. A, B, Cand D only/dact A, B, C siiz D [Option ID = 1857]
2. B, C, D and E only/dae B, C, D iz E [Option ID = 1858]
3. A,B,C,DandE/A, B, C, Daiiz E [Option ID = 1859]

4. A, C, D and E only/dae A, C, D 3iiz E [Option ID = 1860]

Correct Answer :-
e A, B, CandD only/adact A, B, C 3iiz D [Option ID = 1857]

66) Match List | with List Il

List | List Il

Concept(s)
Description(s)




I. Process of application of interest over interest, period
A. Annuity [after period, on a given sum at specific rate for
specified time

B. Time Il. A fixed and equal amount of money payable or
ivalue of receivable at periodic intervals of time equal to the
money amount of loan (Principal) and interest at a given rate
C Ill. Widely used in the field of finance in determination
) . _lof equated monthly installments for recovery of loans in

Compounding o - . . .

a specified time period at a given rate of interest

IV. A fixed and equal amount of money payable or
D. EMI receivable at periodic intervals evenly spaced over

time

Choose the correct answer from the options given below:

It -1 ot g -1l 2 Fgifera difre ¢
oxett -1 Rzt -1l
(3raeruTrRy)|(faraur)

I. fafoifdee 11 @ fere fafoifdse <2 uz fopit gyga fdr uz smaflr o=

A, arfticst
Saf? RAST D SUR RATST cPTol Bl gfdgRm

B. erot 1 |||, Rp=fl gyod sarst 62 3iik SBUT (Ieteron) 1 AfI1 D SRR mafiiad
RIRI JAlGT  RIFRIIARICT U IS 31erdl YIRI ors forra 3iiz a6t erot afdr

C. lll. fop=2ft goa =arst <2 uR fafeifdse warmafil # spull &I ayell & fery|
RiIThIp2uT RI3e MRIP fpodl o forerizur 3 il i 3 391 dlk R g

pe)

D.$wa |IV. o HdAIol FIRT 3 AARID AR UR ASA ferdl YIRT DI forRIa
SiE] iz FeTeT erorRIfOr

oifa feu aru faredl 3 A 8 3R gforu :

[Question ID = 466][Question Description = S3_qSNz_PG_MGT_Q66]
1. A-IV,B-1I,C-1,D-1l

[Option ID = 1861]
2. A-IV,B-1,C-1l,D-1ll

[Option ID = 1862]
3. A-IL,B-1Il,C-1,D-IV

[Option ID = 1863]
4. A-11,B-1V,C-1I,D-1

[Option ID = 1864]
Correct Answer :-
e A-IV,B-Ill,C-1,D-1l
[Option ID = 1861]

67) Match List | with List Il

List | List Il
A. Snob I. If firms are disproportionately powerful, the market
: leader makes the first move and captures two-third, of
effect
the market
B. Small- Il. When some people demand a smaller quantity of a
) commodity as more people consume it, in order to be
world model || X
different and exclusive
C. lll. Oligopolistic firms seek to maximize sales after an
Stackelberg |adequate rate of profit has been earned to satisfy
model stockholders
D. Sales IV. Theory that a corporate giant can be made to
m.aximisationOPerate as a small firm by linking well connected
odel individuals from each level of the organisation to one
another

Choose the correct answer from the options given below:



et -1 B e -1l A g i

et | et -1l

A. Foifa |. aife gfersoret sreaferes orfepornetl 8 Al AR I 3BI3T Usel Bl
gldac @ 3z A ferers aIeiR Uz weslt @2 adr 3

B. ¥difct acs ||l. S|, fop=it avq o1 Uit iffrasaR et w2 & al 3ierT 3R
difser oYy fe¥ael @ fre e oliel 31 avq &I ®a AT B 3

C. ¥¢paast |lll. gafdg amnt g2 gid ®2 ool @ |6 Icurf2ibrl yferssiear

gitseT RCIpeR™I DI Adee Dl D fe1u Mf2rmad [dast o1 ARt o &

D. faast IV. 16 Bigloa 6 e0a & gA® IR A IR Afpl o1
siftrpasficuTsisa & e A bl a3 dieuie @I fopit 8¢ yfioror & as
giftser Jenfera fpan Sir Acpar @

il fou o1 frseul 3 3 A8 IR gfor ©

[Question ID = 467][Question Description = S3_qSNz_PG_MGT_Q67]
1. A-IV,B-1l,C-1,D-1l

[Option ID = 1865]
2. A-1,B-IV,C-1,D- 1l

[Option ID = 1866]
3. A-lllLB-1,C-1I,D-1IV

[Option ID = 1867]
4. A-11,B-1II,C-1IV,D-I

[Option ID = 1868]
Correct Answer :-
e A-IV,B-Il,C-1,D-1l
[Option ID = 1865]

68) Match List | with List Il

List | List Il
A. Simple I. A structure that supports an organization's
structure capacity to continuously adapt and change

B. Functional |Il. A structure in which the entire organization is

structure made up of workgroups

C. Team Ill. It is an organisational design that groups similar
structure occupational specialties together

D. Learning IV. It is an organizational design with low
organization departmentalization, wide span of control and little
structure formalization

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -1l

A. JmeRuT (|, U Aol SiI U JHoIG6! O ST CPIAR JJBUI Mol iR
RIRE 1§ uf¥acior & cc @il &

B_' ¢ Il. we et Rl A9yt Hstoo oRE AgE! A gor 3
RA¥TIeT

C. & 3i lll. a1 g Aiersform siffrocu & ATer AHEl 6 urA JAAST

AR fadrasias 3

D. gforgg IV. sz forotfesimeiianzul, foRIqUI @I gad SRR 3k 95d o
RieTo0l TGl BIUTRIDIUT B HATY-TUdD HidIolord 3ifiacy &

offc feu oru fpedl 3 A 13 3R gfore :



[Question ID = 468][Question Description = S3_qSNz_PG_MGT_Q68]
1. A-IV,B-1ll,C-1I,D-1

[Option ID = 1869]
2. A-1L,B-1I,C-1V,D-I

[Option ID = 1870]
3. A-1,B-1L,C-1,D-1IV

[Option ID = 1871]
4. A-IV,B-1,C-1I,D-1l

[Option ID = 1872]
Correct Answer :-
® A-IV,B-1lll,C-1Il,D-1

[Option ID = 1869]

69) Match List | with List Il

List | List Il

A. Ind AS 11]l. Revenue Recognition

B. Ind AS 2 |ll. Effect of change in exchange rate
C. Ind AS 3 [lll. Valuation of Inventories

D. Ind AS 9 |IV. Cash flow statement

Choose the correct answer from the options given below:

el -1 @1 g -1l A Fgaifera Hifste ¢

Rxeht -1 _reht -1

A. Ind AS - 11 |. IsIFa AreAAar

B. Ind AS - 2 1. faforrr g2 3 uf¥ader @1 gema
C. IndAS -3 lll. srer JRrM (sodd)st) @1 JcAicvot
D. Ind AS -9 IV. s1pdl yars faarur

offa fou o1 frseul 3 3 A IR gforw ¢
[Question ID = 469][Question Description = S3_qSNz_PG_MGT_Q69]

A-1,B-1l,C-1ll,D - IV [Option ID = 1873]
A-1IV,B-1I,C-1,D - lll [Option ID = 1874]
A-1lI,B-11,C-1V, D - [Option ID = 1875]
A-11,B-1I, C-1V, D - | [Option ID = 1876]

A W N -

Correct Answer :-
® A-I,B-1l,C-IlIl,D- IV [Option ID = 1873]

70) Match List | with List Il

List | List Il
Option
strategies Description(s)

A. Protective

but I. Buying an asset along with a put on it

Il. Buying a call as well as put options on an asset at

B. Covered call . R
the same exercise price

C. Long Ill. Combining two or more options on the same asset
straddle with differing exercise prices or times to maturity

IV. Writing a call position on an asset along with

D. S d
prea buying the asset

Choose the correct answer from the options given below:

el -1 @1 g -1l A Fgaifera Hifsre ¢
et - et -1




(sifcerer &bt

P (Frerzor)

A. 3izefl ge ||, ye @ wrer ubniufer wdicen

B. was 1. fep=it ufsziufr ur @ier @ yg siftore gloll b 81 GBI JeT IR
[DicT siGel

C. ciior 1ll. <x &1 3iferep sifcoreil 1 uep 8 ufdufer uz FRISa o erd
Fesel JRIeT e 3R uldaaadr et ool - fiteor 8t

D. +s IV. ufsziufer ot wadicor @ Arer - Arer uf¥Hufi Uz wicr uifsioret

feradon

ofla 3w o1 el 3 A At I gfom :

[Question ID = 470][Question Description = S3_qSNz_PG_MGT_Q70]
1. A-1,B-Iv,C-1,D-1l

[Option ID = 1877]
2. A-1,B-1V,C-1l,D-1l

[Option ID = 1878]
3. A-1L,B-1I,C-1V,D-I

[Option ID = 1879]
4. A-1,B-1I,C-1V,D-1I

[Option ID = 1880]
Correct Answer :-
® A-I,B-1IV,C-I,D-1ll
[Option ID = 1877]

71) Match List | with List Il

List | List Il

Brand concept
Meaning

I. Customer's emotional response and reactions with

A. Brand image
s respect to Brand

B. Brand Il. Image of the Brand in the customer's mind,
feelings meeting their social/psychological needs

C. Brand Ill. How customers think of the Brand under various
position purchase situations

D. Brand IV. Deliberate attempt on the part of marketer of

the Brand to create a unique position in the mind of
customer

salience

Choose the correct answer from the options given below:

Il -1 ot gt -1 21 difera difsre ¢

et -1 et -1l

(sts (e

BICEIRUII)

A. gis &I . ! y

Ry |. gis @ 9 3 speml B MIelcHDPAr YferaR 3R opfan
B. gis 61 ||, spe®l @ o A gis & ofd, Iad ampnfors / #Acdsifos
G SIReell DI YT DI 3

C. gis &t

S orfy Ill. fiféreor Tdic Raferil @ siasia sgedm D1 AId 3

D. gis &1 [IV. spe®l @ famer A fafdrse Rerfer & foraator & foro gis @ fauvre
AT GRI feBRY SITel arel 31erds YRIRT

off< feu sre fpedl 3 A 138l 3R gfore :




[Question ID = 471][Question Description = S3_qSNz_PG_MGT_Q71]
1. A-,B-I,C-1I,D-1IV

[Option ID = 1881]
2. A-1l,B-1,C-1Il,D-IV

[Option ID = 1882]
3. A-1L,B-1I,C-1,D-IV

[Option ID = 1883]
4. A-1,B-1,C-1V,D-1l

[Option ID = 1884]
Correct Answer :-
e A-I,B-Il,C-Ill,D-1IV

[Option ID = 1881]

72) Match List | with List Il

List | List Il

A. Erratic levels of I. Inventory is in the wrong place at the
customs service wrong time

B. No vision of future |ll. Lack of agreement between different
demand and its impact |departments i.e. Customer service,

on production Distribution and Manufacturing

C. Too many
changeovers in
production

Ill. Production lacks confidence in marketing
department's forecast

D. Too many stockouts [IV. Inventory is either too high or too low

Choose the correct answer from the options given below:

It -1 Bt el -1l A gakma Hifde
et -1 et -1

A P - |. s1cTe Ferrel Uz JRI 3 Aol Il AR

Dol
B. sifarr bt o1 T @IS st a1 ||l faf¥ioot el Sil 6 spe® - 2uar,
[BTGIT TeT $ADI IcUIGel UR GId [fraRoT eI IcurGol @ i BRI

1. frgurer fasmeil A faearT & ol A

C. Srurcat # sIIferd Soea
¢ ¢ Seurcel UR ydioldrel USdI 3

IV. ameet it 20 al oo el aidl 3 ar

|a§aa5:n

oflax 3w o1 el 3 A At W= gfom :

D. i @I g3 ds A sloll

[Question ID = 472][Question Description = S3_qSNz_PG_MGT_Q72]
1. A-IV,B-I,C-1lI,D-1

[Option ID = 1885]
2. A-IV,B-1Il,C-1I,D-1

[Option ID = 1886]
3. A-1L,B-1I,C-1,D-1IV

[Option ID = 1887]
4. A-UL,B-1,C-1V,D-1I

[Option ID = 1888]
Correct Answer :-
® A-IV,B-1,C-1lll,D-1l
[Option ID = 1885]

73) Match List | with List Il

List | List Il

IA. Markovian |l. Rule of determining the order in which members of
property the queue are selected to begin service




B. Waitin . s .

. ,l ng Il. The time of next arrival is completely uninfluenced
time in .

by when the last arrival occurred
system
C. Stead AP . .
ctate y Ill. The queueing is in after operating for some time
. with a fixed utilisation factor less than one

condition
D. Queue IV. Elapsed time that an individual customer spends in
discipline queue, both before service and during service

Choose the correct answer from the options given below:

et -1 B e -1l A @ Hife

et -1 et -1l

A. IRDIfkReT ||, @ forerizur 3q forme Rl Uftd @ UGl DI <RIoT AdT DI
aquTerst 9% @2l @ fere fepam sirem 3

B. gurrcil 3 Il. S19 sifépEr siPIeIGT BT 3 ad 3PIcl PIIGT DI AR Y3l e

[BSIR I ORI  BYBIIAB 3l Sl 3
C. f¥er srazen  [lll. b A war fif2aa su=isll wrR® & A1 dRIifodd 3wol

afsf-erfer LI tfes gt Bl 3
D. ®ar IV. aedia oo SR R PRI @IS s uftp 3 dar 8 3l
3IoTQIRToT ag oft xar A guf 3z JAar & Sikiet

off<l feu ore fpedl 3 A A8 3R gfore :

[Question ID = 473][Question Description = S3_qSNz_PG_MGT_Q73]
1. A-1,B-1,C-1I,D-IV

[Option ID = 1889]
2. A-1,B-IV,C-1Il,D-I

[Option ID = 1890]
3. A-1L,B-1,C-1,D-1IV

[Option ID = 1891]
4. A-UI,B-1V,C-1l,D-1

[Option ID = 1892]
Correct Answer :-
e A-Il,B-1,C-Ill,D-1IV

[Option ID = 1889]

74) Match List | with List Il

List | List Il
Terms relate to Organisation
A. Bali Package I. UNCTAD

B. To assist developing countries in the area of trade and capitalll. IMF

C. International monetary cooperation among member countries [lll. World Bank
D. Providing loans for building capital infrastructure of a country|V. WTO
Choose the correct answer from the options given below:

It -1 ot gt -1l 2 gifera difre ¢

oxeht -1 oxeht -1

A. archt dadst |. siers

B. faprriofier oii &l =R 3z sl &) 3 AsrRar won Il. amé gar v
C. a1c 39l & dffa sfoaRisd #Hifgm 1sioT Ill. fra §o
D. wop 91 bl Yl srazieen foweifur 3q SBUI Yerel @l IV. soc31 & 3l

oifa feu aru faedl 3 A A 3R gforu :
[Question ID = 474][Question Description = S3_qSNz_PG_MGT_Q74]

A-1IV,B-1I,C-1ll,D - | [Option ID = 1893]
A-1V,B-1,C-1l,D - Ill [Option ID = 1894]
A-11,B-1Il,C-1V, D - [Option ID = 1895]
. A-1I,B-1V,C-1,D- Il [Option ID = 1896]

A w N =



Correct Answer :-
e A-IV,B-1l,C-Ill,D-I[Option ID = 1893]

75) Match List | with List Il

List | List Il

Entrepreneur type [Features based on Entrepreneurial Competency|
A. Passenger I. Ability to do and no will to do

B. Star/ldeal Il. No ability to do and no will to do

C. Dead wood Ill. Ability to do and will to do

D. May run IV. No ability to do and will to do

Choose the correct answer from the options given below:

el -1 @ 3 -1l 3 Fafera bifSie

et -1 et -1

(Sezredt yooR) (Sereht Amret Uz smenfya fadraan)

A. SRise |. @201 &bl AsRIe 3R B2ol bl seaT oIdl arer Jepht

B. ¥err / smRif3wer |||, @zor bt Aswrar o1dl siiz ol Pt sToT ofdl arel el
C. 33q3 Ill. @301 & Aerar iR B 6 3T ardl erit

D. 3 31 IV. @30t &bl Aeadr oidl 3iiz ol bl sTor ard enit

oiil feu are famedl 3 A A8 3R gfore :
[Question ID = 475][Question Description = S3_qSNz_PG_MGT_Q75]

A-1,B-1l,C-1l, D -1V [Option ID = 1897]
A-1V,B-Ill, C-1l, D -1 [Option ID = 1898]
A-1V,B-1ll,C-1,D-1l[Option ID = 1899]
A-1Il,B-1V,C-1,D-Il[Option ID = 1900]

A WN -

Correct Answer :-
® A-I,B-1l,C-Ill,D- IV [Option ID = 1897]

76) Arrange the following economic identities in a sequential evolution to understand consumer demand.
A. Law of Demand

B. Utility analyses

C. Demand Elasticity analysis

D. Indifference curve analysis

E. Demand Forecasting

Choose the correct answer from the options given below

IUITHI Aol D fere ot Igat 3 foreifeiRaa snfdfes fafdrscarsii ot =af¥ea Hifse :
A. i1 T forEI

B. Su=iifPrar freadyur

C. 15T geazerar fepesseur

D. aczerdar aq frasuur

E. siie1 &b yalepeirel cromel

ofid o s1u fweal & A A8 IR BT wRI6l BT :

[Question ID = 476][Question Description = S3_qSNz_PG_MGT_Q76]

1. A, B, D, C, E [Option ID = 1901]
2. B, D, A, C, E [Option ID = 1902]
3. B, C, D, E, A[Option ID = 1903]
4. C,D, B, E, A [Option ID = 1904]

Correct Answer :-
e A B, D, C, E[Option ID = 1901]

77) Arrange the team member's behaviour in the group building process in the proper sequence
A. Lot of competition and hostilities
B. Upset and depressed

C. Eager, anxious, gather impressions and data about the similarities and differences among members



D. Interdependence in personal relations
E. Less dissatisfied and a feeling of belongingness to the group

Choose the correct answer from the options given below

31g foraiur gftpRr 3 &1 & A D AdeR DI A8 A A aaf¥erd o3 ¢

A. srcaferes yferraet siiz orgar

B. 3¢ 3l raRAIGoRFa

C. gl @ Sia FArerare iR faficerdrsil & an 3 Scgwdar, giiar, yidl a siast B U Bl 3R DB
D. cafepora ddel 3 uzzur forsfaar

E. @& Jdsc ol deal U APg A Ade D anR 3 A

il feu s1u farsedl 3 A A8 I @1 wRIe fpfd ¢

[Question ID = 477][Question Description = S3_qSNz_PG_MGT_Q77]

1. B, C, A, D, E [Option ID = 1905]
2. A, B, D, C, E [Option ID = 1906]
3. C, A, D, B, E [Option ID = 1907]
4. C, A, E, D, B [Option ID = 1908]

Correct Answer :-
e B, C, A, D, E[Option ID = 1905]

78) Arrange the following key roles in the inverse order of their involvement in the process of organizational change
A. Chief implementer

B. Task forces

C. Corporate management

D. Implementation team

E. Consultant

Choose the correct answer from the options given below

foratferRaa grer 9ff3raisil ol AieToford acera bl iz 3 ot onfiret il o Iee @t 3 raf¥era HIfde :
A. #¥a orIicaRIel

B. ®rf sa

C. foemn gormist

D. ®rifcarIor &9

E. Jcsor

il fou o1 frpeul 3 A & IR BT a6l HIfSIE ¢

[Question ID = 478][Question Description = S3_qSNz_PG_MGT_Q78]

1. A, E, C, B, D [Option ID = 1909]
2. G, E, A, D, B [Option ID = 1910]
3. C, A E, D, B [Option ID = 1911]
4. E, A, C, B, D [Option ID = 1912]

Correct Answer :-
e A E, C, B, D[Option ID = 1909]

79) Sequence the following to draw a logical timeline for dividend payment.
A. Payment date

B. Declaration date

C. Ex-dividend date

D. Record date

E. Notice to stock exchanges

Choose the correct answer from the options given below

CIIHI9T Y3TIeTel 3q fotdotfeiiRad @I U AIfiPe cIsACIISHl RIR W6l DI B Follu :



A. yraror &I ferfx

B. argum &t ferfer

C. wa - cmior &I feifer

D. RpiS ot & ferfer

E. 3o varrdst @1 JRMA don

ofid o s1u fesedl & A A8 IR BT WRI6l BT :

[Question ID = 479][Question Description = S3_qSNz_PG_MGT_Q79]

1. E, A, B, D, C [Option ID = 1913]
2. B, D, A, C, E [Option ID = 1914]
3. B, D, A, E, C [Option ID = 1915]
4. E, B, C, D, A [Option ID = 1916]

Correct Answer :-
e E A B, D, C[OptionID = 1913]

80) Arrange the following to describe the sequence involved in Cost Volume Profit Analysis (CVP)

A. Establishing the fixed and variable costs related to the product

B. Drawing up break even charts which establish the point at which sales start to produce profit

C. Working out P/V ratio by calculating contribution as a proportion of sales revenue

D. Determining the cumulative effect of each product on profitability to assess the effects of change in product mix
E. Calculating the relationship between sales volume and sales revenue by actual or assumed unit prices

Choose the correct answer from the options given below

®ive dicggl Yiftse farawur (CVP) 3 Afdafera foror ol GaeRiR wraf¥ed o3 :

A. 3curg A AHdftra Rer ik uf¥adl aprt foreifya wwon

B. Jigctel - ¥R aré dotren St 3A fig o1 forerfzor war 3 sief farag A v Blell YR Bl 3

C. faj} 31 glol arefl MR~ @ 3rouId 3 AleIclel I 31UTell @2 P/V 3iefurd aR1 ol

D. 3curc farequt 3 uf¥acdor & Ypirdi o1 3Mibelel Bl D feTe amyGdr uR 32 Iculc ol AHaril Yora forerif¥a o

E. arafde & siepgmnferd sor$ el &t Jsriarn A fdaft &b argy iz faas) A Blot archt smer & dia JAder Fenfra won
oilY feu aru fareal 3 A Al Ia= gol ¢

[Question ID = 480][Question Description = S3_qSNz_PG_MGT_Q80]

E, C, B, D [Option ID = 1917]
B, E, C, D [Option ID = 1918]
, C, B, E, D [Option ID = 1919]
E, B, C, D [Option ID = 1920]

’

AW N =
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Correct Answer :-
e A E, C, B, D[OptionID =1917]

81) The product hierarchy stretches from basic needs to particular items in some sequence. Identify the CORRECT
sequence or levels of the product hierarchy

A. Product type
B. Product family
C. Product class
D. Need family
E. Product line

Choose the correct answer from the options given below

@B @ A Iculs el fafdrse A1ct bl AeToId MARADAI A TGl 3 IFUIG oIMF D B! Gl 3IAAI FRI Dl Usdrel B3 :
A. Scurg fora

B. Scure ufyar

C. Scurg aef

D. offs Bfdrcht



E. Scurc ¥ (cirsor)
ofl fou s1u fyeseul 3 2 & Fa= goi ¢
[Question ID = 481][Question Description = S3_qSNz_PG_MGT_Q81]

A, B, C, D, E [Option ID = 1921]
E, D, C, B, A [Option ID = 1922]
D, B, C, E, A [Option ID = 1923]
D, E, C, A, B [Option ID = 1924]

P2}

’

A W N -

2]

Correct Answer :-
e A B, C, D, E[Option ID = 1921]

82) As per the Anglo-Saxon Model of Corporate Governance, the authority lies with the following. Arrange these in
decreasing order of authority.

A. Board of Directors

B. Managers

C. Shareholders

D. Employees (Company)
E. Trade unions

Choose the correct sequence from the options given below

ORI 91RTeT @ Gocil - Aadel disd D eRIR YIftior HEoiftiRad & Arer Rera diar 3, sow! Yfiior & acd g 3 saal¥ed Hifse :
A. foreorml @ €IS 3

B. gderml d

C. sioremrepi &

D. watanf¥=ii 3 (Bucth)

E. cmur 4l i

il fou s1e fraseul 9 A W& 3a= goi ¢

[Question ID = 482][Question Description = S3_qSNz_PG_MGT_Q82]

E, D [Option ID = 1925]
D, E [Option ID = 1926]
, A, D [Option ID = 1927]
D, E [Option ID = 1928]

Hwh =
00>
> o w

Correct Answer :-
e A C, B, E, D[Option ID = 1925]

83) Sequence the innovation adoption process that consists of five stages which potential consumers pass through while
attempting to arrive at a decision to try or not to try an innovative product.

A. Consumer tries the innovation

B. Consumer undertakes a "mental trial" of the innovation

C. Consumer decides to use the innovation repeatedly

D. Consumer becomes interested in the innovative product

E. Consumer gets aware about the existence of the innovation

Choose the correct answer from the options given below

sIdlody ¥diap2u1 YfepRn 3 ufa aRur 31 3 RoRY Bl I SusiitsI srdicdrdl 3curg ¢lol AT of dol @ forvfr aw ugdo! & YRRI 3 s &
JoId> TRUI & T TAT 37

A. 3usiepI srdloardl a¥g @ Fdcar 3

B. Susirep! orfl avqg @I ‘AR udlsrur o 3

C. SuslIpI oRfl a3 BT aR - IR IUAPT B D forvfr war 3

D. 3usireI ow Ieurc 3 I ol oPKT 3

E. 3usilepI oIt 3curg &t ferarerar 3 /aord 3idr &

ofid fou a1 el 3 A A8t S gl ¢

[Question ID = 483][Question Description = S3_qSNz_PG_MGT_Q83]



E, D [Option ID = 1929]
C, E [Option ID = 1930]
, E, C [Option ID = 1931]
A, C [Option ID = 1932]

A W N -

Correct Answer :-
e C, A B, E, D[Option ID = 1929]

84) In theory, several levels of economic integration are possible. Arrange the following from the least to the most
integrated:

A. Common Market
B. Free Trade Area
C. Economic Union
D. Political Union
E. Customs Union

Choose the correct answer from the options given below

Agiferd wu A s wdblamur @ fafdicel a2 dua & ol oI @ udblamd A sifére udbloa #d waf¥erd o3 :

>ATATGA dISIR

snféfes Jforrer
ISTofiferes Aforror
E. o¥cwa glorre
ofid fou a1 el 3 A A8t a2 gl ¢

A.
B. Fadoq =murz &xq
C.
D.

[Question ID = 484][Question Description = S3_qSNz_PG_MGT_Q84]

C, D, E [Option ID = 1933]
, A, C, D [Option ID = 1934]
D, E, B [Option ID = 1935]
A, E, D [Option ID = 1936]

Correct Answer :-
e A B, C, D, E[Option ID = 1933]

85) Creativity is the process of generating a novel idea. The five steps of the creative process in sequence are:
A. Elaboration

B. Preparation

C. Evaluation

D. Insight

E. Incubation

Choose the correct answer from the options given below

Istoteflierdar e 3ol fraR @I Scucel @l b gfgan 3 FYstolicaras Yfepan o> tia a=vil @I Sil iofdd o 3 -
A. farut

B. f=mst

C. Jeaiaol

D. siéfee

E. Sgm@aat

i fou o1 fyapeul 3 2 & 3a= goi ¢

[Question ID = 485][Question Description = S3_qSNz_PG_MGT_Q85]

1. B, E, D, C, A [Option ID = 1937]
2. D, E, A, B, C [Option ID = 1938]
3. B, D, E, A, C [Option ID = 1939]
4. E, D, C, B, A [Option ID = 1940]

Correct Answer :-
e B, E, D, C, A[Option ID = 1937]



86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: An oligopolist firm cannot decide the price it wishes to charge as well as the quantity it wishes to sell, both at
the same time.

Reason R:  An oligopolist firm takes into consideration the competitors' actions and counter actions because of a strong
interdependence among the

competitive firms
In light of the above statements, choose the most appropriate answer from the options given below
ofi<l <1 ool e ore 3 : o sifdrpee (Assertion A) @ wu 3 3l ¢RI 3AD BRI (Reason R) @& »u & :
sfdrperet (A) @ @IE srcuIffiprl Yfersstol ol Sloll aldl @l U AT forofa o1dl o Addan o5 a6 Rbdet Jcr clell arsar 3 3iiR Rpdeht airgy e
a1 3
@rur (R) : gfierRNBRIl & Ryl siiz gferfpzmsil ol et 3 3 gu B sicurf2rerl yfersorel v & o1 forvfa o sraar & a=iifes yferieht
gfereoroil & gad uzrur - forsfzar it
3
SR Dol D 3Icllid #, ofld fGu famcdl 3 A 7} 3a= &1 wrRIel Hifsre :

[Question ID = 486][Question Description = S3_qSNz_PG_MGT_Q86]
1. Both A and R are correct and R is the correct explanation of A/(A) iz (R) glail 21t 8 3z (R), (A) &t 3 = &

[Option ID = 1941]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 3@t 3 woq (R), (A) 6t 3 =1 ot &

[Option ID = 1942]
3. Ais correct but R is not correct/(A) & 2 wog (R) & ot 3

[Option ID = 1943]
4. A'is not correct but R is correct/(A) @t siét 8 weog (R) &t 2

[Option ID = 1944]

Correct Answer :-

e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) gleil 3@t & 3z (R), (A) &t 3& mren
[Option ID = 1941]

87) Given below are two statements

Statement I: The Transactional Analysis Model is an effective tool to understand why people behave in certain ways.
Statement Il: The Transactional Analysis Model cannot be used to improve communication

In light of the above statements, choose the correct answer from the options given below

offal oI @l fdu sre 3 ¢

DUal - | 1 Ioslorelel faeadyvl difser U YIdl UMW 3, A Aol D 1w b lIsT aRIl U WRI YDR A RIGER D & 7

@l - || : gestorerel frddyur #isc @1 sddre AYHUT i JLR D fore odl fpan s Jrwar 3

IWRITP Deell B el A, ofld e fascdl d A A8 Iaz o1 a=Ie Hifste :

[Question ID = 487][Question Description = S3_qSNz_PG_MGT_Q87]
1. Both Statement | and Statement Il are true/aerer | iz || Sloil 3rcer &

[Option ID = 1945]
2. Both Statement | and Statement Il are false/a@erwr | iz |l Sail 3R &

[Option ID = 1946]
3. Statement | is true but Statement Il is false/@emr | 3= @ , fpog Do |l 3R 8

[Option ID = 1947]
4. Statement | is false but Statement Il is true/@emt | sRIcT 8, fbog @erer | AT &

[Option ID = 1948]

Correct Answer :-
e Both Statement | and Statement Il are true/weror | 3iiz |1 Gail eer &

[Option ID = 1945]

88) Given below are two statements
Statement I: A satisfied employee may be highly disengaged.
Statement II: It is possible to feel engaged by the organisation and not the job.

In light of the above statements, choose the most appropriate answer from the options given below



off<r < werer Ry a1 3 :

@el - | 1w Iqee PIarl sTa Far ur Hiell #A8PA B2 ADI 3
@l - |l : a8 Jisra 3 fop isIo0l A SSM ol iR BRI A ol

JWRITD Dl D ATl 3, ofid Ru fRraseul 3 2 7 R b1 T™IaT Hifse ¢

[Question ID = 488][Question Description = S3_qSNz_PG_MGT_Q88]
1. Both Statement | and Statement Il are correct/erwer | 3tz |1 et 31 &

[Option ID = 1949]
2. Both Statement | and Statement Il are incorrect/@erer | 3iiz || Sloil srcte 3

[Option ID = 1950]
3. Statement | is correct but Statement Il is incorrect/@erwet | 31& 2, fipog werer || stera &

[Option ID = 1951]
4. Statement | is incorrect but Statement Il is correct/@eml | s & , fbog @eet I 3@t 8

[Option ID = 1952]
Correct Answer :-
e Both Statement | and Statement Il are correct/@erer | 3iz || Sloil 3 &

[Option ID = 1949]

89) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Acquiring firms often are willing to pay a price higher than the status quo value of assets for the right to
control management of target

firms.

Reason R: The value of control stems from the changes that can be made to improve performance by debottlenecking
capacity, streamlining and

strengthening operations, managerial systems and processes.
In light of the above statements, choose the correct answer from the options given below
ofid ol Pl fGu 3w 3 @ U Ifdrdeet (Assertion A) @ ¥u 3 3R GRI 3D PRI (Reason R) @5 »u 3 :
sifdrpee (A) @ g Yfersoroll @ Yderel U= orRIquI of MR Y ae @ e 3ifieEél gidsorol yri: ufReuferil @ aeniFufae o A it
Blarat g B FAR AA F
@R (R) : foriquT @I e Iol ul¥acioll B cld BIdT & Sl SIHAAT D 3IARIE DI ¢ D2 al Afpsl, gaerdbRI ddql 3R gfagamsii @1 Jyadt
3R IS Foll B2 forourcat 3 JUR
cirol @ fere fopu S w3wa 3
SURITb Dol D 3l A, ofld Gu famcal 3 A 73l 3a= ®1 TRIel Hifsrw :

[Question ID = 489][Question Description = S3_qSNz_PG_MGT_Q89]
1. Both A and R are true and R is the correct explanation of A/(A) aiiz (R) Sieil 21t 2 aiiz (R), (A) & 3 wreen 3

[Option ID = 1953]
2. Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) g6l 3t & weeg (R), (A) 6l 31t == aidt 8

[Option ID = 1954]
3. Ais true but R is false/(A) 3@ & uzsg (R) 3t ordt &

[Option ID = 1955]
4. Ais false but R is true/(A) @t ot 8 waog (R) 21t 2

[Option ID = 1956]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) gleil 2t & 3z (R), (A) 6 248 e 3

[Option ID = 1953]

90) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: The main reason for companies to move to global markets is to take advantages of the economies of scope.

Reason R: Economies of production arise due to the Competitiveness Index of the country in which the companies
produce.

In light of the above statements, choose the correct answer from the options given below

ofl Jf Berel fRu sre 3@ up sifdraperst (Assertion A) @ u 3 iz ¢RI 3@ PRUT (Reason R) & »u 3 :
sfdrperet (A) : wuforil gRI APAP deIR 6l 3R F B! BT P PRYI fafder fgn fRfrar o1 BRIGT JoTer 3
@ (R) : PUGll GRI Icurce! fpT Sl aret 2reg 3 yferuelf Jadics & BRI Icurce e 3cusd akddl 3
SRITP Pall D 3Melid d, offd 3w fasedl 3 A A8 IR &1 It Hifste :



[Question ID = 490][Question Description = S3_qSNz_PG_MGT_Q90]
1. Both A and R are true and R is the correct explanation of A/(A) 3l (R) glell 31 2 3z (R), (A) &t 3 e 3

[Option ID = 1957]

2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 31 & udoq (R), (A) 6 3 w=men ot 8
[Option ID = 1958]

3. Ais true but R is false/(A) 3 3, woq (R) 3= 8

[Option ID = 1959]
4. Ais false but R is true/(A) sric 8, wog (R) A= 2

[Option ID = 1960]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) 3iiz (R) gleil 311 & 32 (R), (A) &I 3 =iz 8
[Option ID = 1957]

Topic:- Management_SHAAN_NOV21B

1) Read the following passage and answer the questions

Well before the pandemic, some companies had already adopted the work from anywhere system. But the large-scale implementation happened in 2012
when the US federal government across departments including Agriculture, NASA and the US patent office allowed remote work for employees. The
pandemic however has accelerated this phenomenon by 10 years. The acceptance of remote work by several companies globally, is one of the few
blessings of an otherwise incredibly hard time. The companies pioneering its adoption will be the 'magnets for talent' as it enables them to attract the
best as it grows.

The employees are expected to greatly benefit from remote work as their control over their own time increases. They do not have to commute and are
able to work either in the day or at night, depending on their personal style, while enjoying geographical flexibility to live wherever they want. People

could save more if they move to smaller towns. They could choose to move to a better climate or to a culturally preferred location.

Companies with a remote work system can hire talent globally with ease and increase productivity. In the US patent office, productivity went up by 4.4%

when it moved to work from anywhere. Employees felt more loyal to the organization for giving them such flexibility and put more effort into their work.

Work from anywhere has the power to reshape our old understanding of work. Employees and companies connecting now in meetings of the mind have
more fusion of creativity rather than continuing with the previous approach of physical attendance, hierarchical communication with all the hours spent
inside office buildings.

Managers will however, need to be sensitive to bias against remote working. Even loneliness could be addressed by augmented reality. It is of significance

that the pandemic does not represent normal times when schools, day cares and help will be available.
Remote work actually suits women employees as many women forego career opportunities if these involve relocation which is their family life constrain.

Work from anywhere system though adopted in stress, has in fact worked out so well that post-pandemic too, the world Economic Forum finds employers

are ready to give at least 44% of employees a work from anywhere option.
forsaiferRae srerior @l earogde uGgm: g 31w yssll @ 3ar SifSre @

Affad ABHIRT D 9 Bl D dgd Uscl 3l o Duforl of bl off SPIE A BRI B0l b Yunedl ol 3ier &2 fern an fveg & U9t U= ;A ad
2012 3 ay fopan s s/ 36Tl AarcHD IRBR of BN, ol 3 AR Uee siiftezr AAfda oF el 3 wafanf¥il & e g3 A BRI w0t &bt
quIrcil &I siopafer € eff Gfae AeEIEl & ulsanRasu A6 yad 3k 10 ad ao @ e I1el 96 orn 3 frasar sl dufeRil $RI 63 WD
DRI forcurcel @l &I el & I sre=ren sieafera ofdor a1 3 TB® acrell i A b 3 59 PRIYUICH @I srgeire! aredl sppuft wuferil 3
gfersiI Jiucol ciiel FId ael 3mdsl ariifep bl Agly Blot @ T2 - AT Adleayee gfersi ol srpitfa ool 3 FAsrar Brerdl 3

g2 PR DRI forourcal @ GeRraeu waaif¥i & agd sif2re cmsifoad dlat &t 339l 3 a=iifes sor6i cafts @1 el W UR BRIqUI a1 3, 3A
A1 o1El Bl usedl 3, Juftpe Acll & e uR a6 ot & IR A1 A A BRI forcurcet @2 Awar 3 iR a6 el ot 91 - &1 3 o D ferw Facdq
B 3 Al clioT AASIpd BIC oPRI & AT J6R SICIAR] 3edl ARDIID ftc A WRidicr Ferel 3 S al  Sif2re sad o2 ADd 3

g3 BRI yuedl @l 3deias: Puforti gl gfornm A iRIr6h 2 yfennarst wdaR! &l forgfes o Jwa & ik Scurcwar 3 afg o2 a5a 3 -
3EIR¥chI Ul siiftpt 3 fip=il off Terret A1 BRI B2al DI YuIrcll aet Sl @ a16 3cucd 3 4.4 yfeierd am &I gfg 55 8 Pdfard a1 ousit &
Yfel GeAsIr @I HId RItb D2 38 3 [ 331 d¥s @ orilenue A 368 PRI @ AU 3 3R 312D colel A APIGIel Sol P AR fIreln

Rp2il 9t SP1E A DRI ol BI yuiretl 3 ori, waardt B Yrrell AAST DI R FARU Sol DI g1dr 8 3R 31 Joml A Jsolarcil wuforil @
gfeifoif?rai 3t gui wiferer omdiive 3uiF-afe, Auerapiie Aar i ORIcr @ siad @ sfiaR @dcl ad AIRT Rclid Dol DI T6IRT AP
IFSTolcHADAl DI A Bl 8 YaerdbRI aof DI gzl DRI d Yfe uclootfe el galos @ gfer Adcorefic slon anfde affa srensfar @& grr
3rdetryel bl Hra - gauvrdr of i forarzur fosa s Jmar 3 Arefad: ABHATS 3A AHIGA DIcRds D forsftrd o8l @il 3 S aer, 3 - DR 3
¥ slipd2 Sucted] gidl gzrel @RI yurrell arqa: Afden watani¥il & fere srfae 3 adifes aga i Al sl & Iol sraRl @I a1 Sl & fSrordd
Ferrol uf¥ader gloir 9nfdret 3 3R RrRId BRI 3o1d> urf¥arf¥e shidct 3 wfdoisi 3cucd Xl 3 cara 3 1ol o1 wal A 9t BRI et G yorreht
314 saIoll 3if2r PROR Rig & 3 6 Aemdl ora o ac ot fra snf¥fes 3 (acs sl Wkar) oY S g3 3 [ ORI wa A oa 44%
DIl I Dél A 3T PRI B! BT f[Kpcu Sol DI dAIR 3

Which of the following best describes the title of the given passage?
&g o1u srerior @1 Aaiftin suge ofidm fororferlaa af A a=n 37

[Question ID = 491][Question Description = S3_qSNz_PG_MGT_Q91]
1. Manifestations of productivity/3curgaar @1 ygoler



[Option ID = 1961]

2. Remote working challenges/gzer ®wrldur & geilferi
[Option ID = 1962]

3. Work from anywhere/ 2t sft Ferror 31 orf - forsurgor

[Option ID = 1963]
4. Remote working for women employees/afacn wafaifil @ fere g oridur

[Option ID = 1964]

Correct Answer :-
e Manifestations of productivity/3curgadr @t ygofor

[Option ID = 1961]

2) Read the following passage and answer the questions

Well before the pandemic, some companies had already adopted the work from anywhere system. But the large-scale implementation happened in 2012
when the US federal government across departments including Agriculture, NASA and the US patent office allowed remote work for employees. The
pandemic however has accelerated this phenomenon by 10 years. The acceptance of remote work by several companies globally, is one of the few
blessings of an otherwise incredibly hard time. The companies pioneering its adoption will be the 'magnets for talent’ as it enables them to attract the

best as it grows.

The employees are expected to greatly benefit from remote work as their control over their own time increases. They do not have to commute and are
able to work either in the day or at night, depending on their personal style, while enjoying geographical flexibility to live wherever they want. People

could save more if they move to smaller towns. They could choose to move to a better climate or to a culturally preferred location.

Companies with a remote work system can hire talent globally with ease and increase productivity. In the US patent office, productivity went up by 4.4%

when it moved to work from anywhere. Employees felt more loyal to the organization for giving them such flexibility and put more effort into their work.

Work from anywhere has the power to reshape our old understanding of work. Employees and companies connecting now in meetings of the mind have
more fusion of creativity rather than continuing with the previous approach of physical attendance, hierarchical communication with all the hours spent
inside office buildings.

Managers will however, need to be sensitive to bias against remote working. Even loneliness could be addressed by augmented reality. It is of significance

that the pandemic does not represent normal times when schools, day cares and help will be available.
Remote work actually suits women employees as many women forego career opportunities if these involve relocation which is their family life constrain.

Work from anywhere system though adopted in stress, has in fact worked out so well that post-pandemic too, the world Economic Forum finds employers

are ready to give at least 44% of employees a work from anywhere option.
forraiferRaa srerior ol eArogdes UGm: Usd 3Ie Ysoll @ 3R SISty @

APam wEmft B 9 AA D aga U & T Buldril o Ro2fl 1t sPIE A BRI w2 B Yuirch B sivhor a2 RRT a1 Rvoqg a3 tamel a2 53 ad
2012 3 a1y R sri Sig Ayl AHUACHD IRDBR of BN, IR 3R 3l e siiftser Aifda @o¢ el 3 wafanfil @ fore g3 A rRf Bar bt
gutreil i sigrafer €1 off dRae HeRIdl & ufAvRasU A6 yad 3k 10 ad ao @ e 3Pl 96 orn 3 Rraear 31 Buferil TR 63 wWD2
PRI forsurcer @l & yutreil &I Fdimier sro=ren srafern ofdel eI A TP aremll 3 A b 3 33 PRIYYIEl! Pl 6ol arcll 3Ell wuforil 3
gfersT IUcol clier I Tcl 3meal ariifep sl Al Blol @ AT - AT Adicayee Yfersn ol 3napftia ool 3 Asriarl fBrerdl 3

g3 W ORI foreurcel @ werrareu wanf¥=il & sgd sifere amifead dlel &I 3l 3 arIifds s caftd @I 31uel AIA U foRIqUI 3BT 3, A
AL oldl Bfl usdl 3, Juftpd el B 3menR Uz ag ot & IR A1 A A BRI forsurger w2 Adar 3 3 as fpt off 91 - &1 i war B fere Fadq
31 3 A oot 3rgapd DI PRI 3 AT AR SICIAR] AT ARGIID efte A UAdier Fere 3 Sie dl  Sifers aada o2 ADd &

S DRI YuIIcil Pl 3ol Puforl Gl gforI A 3RIel A gfenirare mdRrIl &I forIfth @2 Amd & 3R curcmdr 3 gi.g d2 ADd 3 -
3AITecb] Ude siiftpa1 3 fp=il 8l TeIret A PRI w20l DI Yulrcil U6l Siel @ 916 3cuicel 3 4.4 Yfeiord ad &l gy 55 8 Dfard a1 wusil &
YT GesIar o HId =Itb @2 3@ A b 53 as @ crdicinuel A 368 ORI & AFuIcel 3 3iR 31ferm crorel A AIGIel <ol DI 3[R fdret

fop21l o8t SPTE A PRI @6l DI gurrchl 3 BRI, watarst &bl grell Aerst I oRI Fau Jol &I gl 3 3iiR 3 Joml 3 S[solarcil wuforil &
gferforf2ril 3 gui wiferor oy sulefe, Aurcraie FarR ik PrIfcra & sdol @ iiaR el A FIRI RUclld Dol I TeIRT 3Iferd
FSTollcHDAI DI AP Bl 3 YaerbRI aof Pl gzeel BRI & yfer ucloetie Addell gaise @ yfer Hdcerofic slen anfdu afga aemefar & grr
3eIyol I I - yauidr oI 3l forarvr s S AAodar 3 Areioa: AR 33 ATHIRT DS DI forsfud ol @l 3 5| Ta@d, 3 - DR AR
3] ol Iucietl BP1 gz¥l BRI yunrell avga: aAfden wafanf¥=il o> fere sofaet 3 ariifes aga i Afdeny sl @ Iol ARl @I Rl Sl & ot
Ferrel uf¥adol Blelr 9nfdret 3 31z fSrRId> BRUT Joid ulfaifiy® shdet 3 Bfdeisai 3cucol aiddl & gara 3 3MUcl$ a1 wal A 37t PRI Bor b yuedt
31| 3ol 3ifed BPRIR Rig &F 3 b seendl ora & arg it fava snffe Fia (acs swoilfdi BIke) DY S 330 & b foripT war A Dar 44%
pIfeanf¥i Bt Bl A 97t BRI Bt @I fawea ot B TR 3

Faced with double shift of official and domestic work, in which perspective working women benefited from remote
working?
oRifcrflol 3R #¥¢], PRI Slell 191t @I ARl Blol Ur PRIGHH Afdcsil @I gz PRiwvr A fowafeiRaa 3 A fop icst 3 gafaen Brel?

[Question ID = 492][Question Description = S3_qSNz_PG_MGT_Q92]
1. Bridges gender diversity/Sis? fafderar

[Option ID = 1965]
2. Offers equal opportunity/cmmeTel AR

[Option ID = 1966]



3. Offers work-life balance/®rf iz Sftaet 3 Agctet

[Option ID = 1967]
4. Favours their soft-skill disposition/3fiwr - @ioret et

[Option ID = 1968]

Correct Answer :-
e Bridges gender diversity/Sis2 fafderar
[Option ID = 1965]

3) Read the following passage and answer the questions

Well before the pandemic, some companies had already adopted the work from anywhere system. But the large-scale implementation happened in 2012
when the US federal government across departments including Agriculture, NASA and the US patent office allowed remote work for employees. The
pandemic however has accelerated this phenomenon by 10 years. The acceptance of remote work by several companies globally, is one of the few
blessings of an otherwise incredibly hard time. The companies pioneering its adoption will be the 'magnets for talent’ as it enables them to attract the

best as it grows.

The employees are expected to greatly benefit from remote work as their control over their own time increases. They do not have to commute and are
able to work either in the day or at night, depending on their personal style, while enjoying geographical flexibility to live wherever they want. People

could save more if they move to smaller towns. They could choose to move to a better climate or to a culturally preferred location.

Companies with a remote work system can hire talent globally with ease and increase productivity. In the US patent office, productivity went up by 4.4%

when it moved to work from anywhere. Employees felt more loyal to the organization for giving them such flexibility and put more effort into their work.

Work from anywhere has the power to reshape our old understanding of work. Employees and companies connecting now in meetings of the mind have
more fusion of creativity rather than continuing with the previous approach of physical attendance, hierarchical communication with all the hours spent

inside office buildings.

Managers will however, need to be sensitive to bias against remote working. Even loneliness could be addressed by augmented reality. It is of significance

that the pandemic does not represent normal times when schools, day cares and help will be available.
Remote work actually suits women employees as many women forego career opportunities if these involve relocation which is their family life constrain.

Work from anywhere system though adopted in stress, has in fact worked out so well that post-pandemic too, the world Economic Forum finds employers

are ready to give at least 44% of employees a work from anywhere option.
forgotferiRac 3Teri9r ol &AIgdd UGd: gsd 318 Yol @ IR dIfsru :

APaw wEmft B 9 AA D aga U & T Buldril of o2l 1t sPIE A BRI W B Yuirch B sivhor a2 RRT a1 Rooqg a3 tamet uz 53 ad
2012 3 a1y R SR S 1Aif¥dl AHUCHD IRDBR of HiY, oI 3R @bl e siiftser Aifda oo¢ fasiell 3 wafanfil @ fore g3 A rRI B bt
gutreil i sigpafer € off dRae HeRIdl & ulHvRasU A6 yad ik 10 ad ao @ e 3Pl 96 orn 3 Rrasar 31 Buferil oRI 63 wWD2
PRI forourcet @201 6 yurredt &bt FdiGfr sioren siaferes Bfdet AIRT F TID aclell 3 A Ub 3 3 BRIYuICt @I sigetel arcll seyull suferil 3
gfersi1 Jiucel el I ael 38l aeiifen s3dhl Agly Blol @ AT - AT Adicayse gfersn @l srrpitfa ol 3 JsrIar frerdl 3

g2 P2 PRI forourca & weRraweu wIHaifRil & agd sif2re cmnfoad dier &t 33flc 3 a=Iifes sor6i cafts @1 srual PRI uR PrRIqUI a1 3, 3A
AT 18l Dol Usdl 8, duftpd et d MR R a8 o @ WIRT AT A A BRI forourget w2 Addr & 3R as o=l sft 91 - i 3 81 D ferw Fadq
Blr & AfS clivT UG BIC PRI d AT &R SICAR] 31eqdl ARDIID efte A uRidicr Teuret 3 U dl d 2 Jad w2 ADd 3

S DRI YuIIcil Bl 3ol BuforIl Y3l gforI I MRIel A gfenirare midRrIl dI orRIfth @2 Add & 3R cucmdr 3 gi.g d2 ADd 3 -
3EAITecb] Ude siiftpat 3 fp=il o Terret A PRI B2l DI Yulicil a6t Siel @ 916 3cuce 3 4.4 Yl am &I gy 55 8 Pfart a1 ousil &
Y1 GesIar o Hid &Itb @2 3@ A b 53 s D crdiciue A 368 ORI & AFuIcel 3 3iR 31ferd crorel A AIGIel Sol DI AR fdretr

o oft SPTE A DRI @0l dI guiretl 3 DRI, wafarst & garell AT DI R FaWwU Sol BI garar 8 32 3 Jowl 3 Jsolarcil wuforll @
gferforf2rai 3 gui wiferor omdif¥e sulafer, Aurcraie Far ik PrIfcra & ol @ iiaR el ad FIRI RAclla Dol I TeIrRT 3iferd
IFSTollcADdl DI AFHSA BIdl 8 YaerdbRa aof I gzl drRidmur d yfd uclootfer el galop @ yfer Fdcorefic glonr anfde afa aemefar & gr1
3rad>eiryel bl Hrd - gavrdr oI 9l forarzur fooan s Amdr 3 Arefad: AT 3A AHIGA DIcies DI forsftd o18l @il 3 S Faier, 3 - DR 3
¥ ol Iuciet B0 ¢z¥d BRI guirell avga: Afden watanf¥=il o> fere sopaet 3 ariifes aga i Afdeny sl @ Iol ARl @l T Sl 3 ot
Ferrol uf¥acder glon onfdret 3 3R RrRI® BRI 3o1d> urf¥arf¥e sitdact 3 Bfdeis=ai Icuco Xl 3 cara 3 3ruol$ 315 wal A 9t BRI Bar G yorreht
319 3coll 3f® PRIR Rig 3¢ & b AR Icl @ a1 91 faea snffe I (acs swollldrd BIkA) DI SIId 31T & [ ORIDI D A o 44%
watanfyil ot Bl A 9t BRI Dol @I fasea Sof Bl TR &

Which one of the following best describes the benefits of remote working for employees?
forgotifcod 31 21 fepT1 Dt DI T PRIGIWI A Blol dlcil YAfaen bl Adida carean siedl 37

[Question ID = 493][Question Description = S3_qSNz_PG_MGT_Q93]
1. Temporal flexibility/smemrf crdiemaet

[Option ID = 1969]
2. Cultural cohesiveness/izafeid Ircpar

[Option ID = 1970]
3. Climate conditioning/Sierary] sigfdciol

[Option ID = 1971]
4. Family bonding/@ga 3 coma

[Option ID = 1972]



Correct Answer :-
o Temporal flexibility/sremrft crcficust
[Option ID = 1969]

4) Read the following passage and answer the questions

Well before the pandemic, some companies had already adopted the work from anywhere system. But the large-scale implementation happened in 2012
when the US federal government across departments including Agriculture, NASA and the US patent office allowed remote work for employees. The
pandemic however has accelerated this phenomenon by 10 years. The acceptance of remote work by several companies globally, is one of the few
blessings of an otherwise incredibly hard time. The companies pioneering its adoption will be the 'magnets for talent’ as it enables them to attract the

best as it grows.

The employees are expected to greatly benefit from remote work as their control over their own time increases. They do not have to commute and are
able to work either in the day or at night, depending on their personal style, while enjoying geographical flexibility to live wherever they want. People

could save more if they move to smaller towns. They could choose to move to a better climate or to a culturally preferred location.

Companies with a remote work system can hire talent globally with ease and increase productivity. In the US patent office, productivity went up by 4.4%

when it moved to work from anywhere. Employees felt more loyal to the organization for giving them such flexibility and put more effort into their work.

Work from anywhere has the power to reshape our old understanding of work. Employees and companies connecting now in meetings of the mind have
more fusion of creativity rather than continuing with the previous approach of physical attendance, hierarchical communication with all the hours spent

inside office buildings.

Managers will however, need to be sensitive to bias against remote working. Even loneliness could be addressed by augmented reality. It is of significance

that the pandemic does not represent normal times when schools, day cares and help will be available.
Remote work actually suits women employees as many women forego career opportunities if these involve relocation which is their family life constrain.

Work from anywhere system though adopted in stress, has in fact worked out so well that post-pandemic too, the world Economic Forum finds employers

are ready to give at least 44% of employees a work from anywhere option.
forgatferRaa srerior ol eareIgdd UGd: Ug 318 Yssil @ 3a= I ©

df%ae AsTArst @ 93 Blol B agd Usc &l TP Buloril of fp=il off sPTe A BRI w20l Gt gurredt ol sivfipr &2 frm e fpoq &3 Uatmel UR 337 ad
2012 3 cirep_ fovan SR S 3@if¥! HATHD FRDR of DY, ofrAT 31 3l Oe siifbar Afda of el # wfafRl & e g7 A TRl T 6t
gurcil i sigpafer € off GRae #eRIRl & ufsAvRaRsU I Yo 3R 10 ad ao @ 1w 3Pl 96 arn 3 Rraear 301 Bufleril oRI 63 W2
DRI forsurcel @20t & guiett &I TGl siox1en a2 ofdol AIRT I BB acloll 3 A TP & A DRIYUIIC DI aiol arcil 3ol uforil 3
gfers Jidcd ciet FHA Tl sl aRiifep bl gy dlot @ Arer - A1 AFdlcapse gfernn ol srpitfa a2l i R Brerdl 3

T2 D2 PRI foToUIGal @ BeRaeU DIl & dgd 3ifere cmnifoad dlol &l Wil & aRIlfs 33 KD BT UGl IIRT U= oRIGUI 3Bl 3, A
AL o1dl Bofl usdl 3, Juftpd el B 3nen? Uz ag ot & IR AT A A BRI forsurcsr w2 AGar 3 3 as et off 91 - &1 3 ol D ferw Fadq
Bl 3 AfS clieT 3MASIpd BIC oPRI 3 AT I&R SICIAR] Hedl HiFPpicrd eftc A uAdicr Ferel 3 iY dl J 3iferd aad o2 ADGd 3

g BRI yuriel ol siaeiis: duforn Yl gforn A iRirell A gfenidre widor] &l forgftp o2 Awa 2 3k Scurcddr 3 gig o2 Add & -
3Eif¥ehl Ude siiftsar 3 fopfl oft Terror 31 BRI @20l bl YuIredl 36l siol & a6 Icurced d 4.4 yferord do &l giyy 55 & aefars] s11 ousll @&
YT Gersicr @I HId &Ieb @2 3@ A b 537 s D crdiciue A 36 ORI & AFuICel 3 3i1R 31ferd cIorel A ABIGIST Sol DI AR fdrelr

fep21l off SPTE A PRI @26l bl gurrehl 3 BRI, watardl bl grell Aerst DI ok Fasu Jol &I gerdl 3 3iiR 3 Yol 3 Ssolarcil wufsril &
gferfoif2ril 3 guf wiferar ondif¥es suf¥erfer, AMurerpfie Far ik PRIfcRI & saed & fiaz @l ab PRI cAdla w2t b ToIrT Siftrs
FSTollcHDAI DI AMFSA Bl 38 YaerbRI aof DI gzl BRI B Yfer usloatic Addell galss @ yfer Adcerefic slen anfdu afda remefar & grRr
3deldel I | - Yaurdr oI 8ii forarur v ST Jddr & ATidd: ASHIRT 3 ATHATGRT PDICRAS DI oReUA 18l Dl & S IPDeT, S - DR AR
¥ olld2 Iucietl BB gz¥l BRI yuircll arqa: aAfden wafanf¥=il o> fere sofaet 3 aifes aga i Afdeny sl @ Iol srarRl @I el Sl & ot
Ferrol uf¥acder gloir 9nfdret 3 3z RrAd BRI o> uif¥arf¥as Shidaor d wfdois:ai Scucol 2l 3 gara 3 3ruol o1 wal A 3t BRI e G yorrch
3| 3ot 3ifed BRIR Rig 5F 3 fp wenrndl o @ ag ot fra snffe Fia (acs soollfdi BIke) Bt S 330 & b foripT B A Ba 44%
BN oI BEl A 97t BRI Bt @I ey ot B TR 3

According to the passage, which one of the following is the most significant challenge to employees working from remote
places?

STEN9l D ORIR, ¢ FlGil A BRI Dol drcl defaniRIl @& o1 ARl 931 goildl forstifdna 3 A aur 3?7

[Question ID = 494][Question Description = S3_qSNz_PG_MGT_Q94]
1. Cloud data security/qci3s ster Brereifst

[Option ID = 1973]
2. Augmented reality/afiga =remefar

[Option ID = 1974]
3. Work life constraints/mrf Sfidor &t wfders

[Option ID = 1975]
4. Promotional bias/qieeifer 3 Jwfea yafss

[Option ID = 1976]

Correct Answer :-
e Cloud data security/cm3s ster Byt



[Option ID = 1973]

5) Read the following passage and answer the questions

Well before the pandemic, some companies had already adopted the work from anywhere system. But the large-scale implementation happened in 2012
when the US federal government across departments including Agriculture, NASA and the US patent office allowed remote work for employees. The
pandemic however has accelerated this phenomenon by 10 years. The acceptance of remote work by several companies globally, is one of the few
blessings of an otherwise incredibly hard time. The companies pioneering its adoption will be the 'magnets for talent’ as it enables them to attract the

best as it grows.

The employees are expected to greatly benefit from remote work as their control over their own time increases. They do not have to commute and are
able to work either in the day or at night, depending on their personal style, while enjoying geographical flexibility to live wherever they want. People

could save more if they move to smaller towns. They could choose to move to a better climate or to a culturally preferred location.

Companies with a remote work system can hire talent globally with ease and increase productivity. In the US patent office, productivity went up by 4.4%

when it moved to work from anywhere. Employees felt more loyal to the organization for giving them such flexibility and put more effort into their work.

Work from anywhere has the power to reshape our old understanding of work. Employees and companies connecting now in meetings of the mind have
more fusion of creativity rather than continuing with the previous approach of physical attendance, hierarchical communication with all the hours spent

inside office buildings.

Managers will however, need to be sensitive to bias against remote working. Even loneliness could be addressed by augmented reality. It is of significance

that the pandemic does not represent normal times when schools, day cares and help will be available.
Remote work actually suits women employees as many women forego career opportunities if these involve relocation which is their family life constrain.

Work from anywhere system though adopted in stress, has in fact worked out so well that post-pandemic too, the world Economic Forum finds employers

are ready to give at least 44% of employees a work from anywhere option.
forraiferRaa srerior ol eAregde UGgm: Usd 31 Ysoll @ IR SIfSrg @

dPae BRI D 9 Blol D JgA Usd 3l @ Bufsril of bl st SpIe A BRI w61 &l yumedl @I sivlior @2 Rrn a1 rog &3 W6l uR A ad
2012 3 aie) R SR S 3Af¥hl AHUCHD IRDBR of BHiY, IR 3R 3@l Ude siiftser Aifda oo¢ el 3 wafanfRil o fore g3 A BRI Bar bt
gurreil i sigpafer € off dRae HeRIl & ulAvRaRsU A6 Yo 3R 10 ad ao @ e 3Pl 96 orn 3 Rraear 31 Buferil oRI 63 WD
orf forcurcet @2t &t yumedlt ot TADRT srexren srcaferes ofder W1 3 TP azcrell 3 A b 3 3 PRIYUICH I sraeire! arcl seyuft wuforil 3
gferT Iucol cliel I Tcl 3meal ariifes sl Al Blol @ AT - AT Adicayee Yfersn ol snapftfa ool 3 Asriarn fBrerdl 3

G2 D2 PRI foTouIcal @ BeRaeu dHari¥il & dgd 3ifere amninfoad dlol &l Wil 8 aRIlfes 33 AP BT U6l NI U= ORI 3Bl 3, A
AT 18l Dol Usdl 8, duftpd et d MR UR a8 GoT B AIRT AT A A DRI forourgel w2 Addr & 3R as f[p=ii sff 91 - i I o1 D ferw Fadq
BIar 3 A oot 3reapd DI PRI 3 AT AR SICIAR] AT ARFGiID efte A uRidler Fere 3 Sie dl  Sifers aada o2 ADd &

g BRI yurrell ol sraeiies: wuforn Yt gfori A mRirell A gferniare wior! &l forgftp w2 Awa 2 ik Scurcamdr 3 gig o2 Awa & -
3Eif¥ehl Ude siiftsar 3 fopft oft Ferror 3 BRI @20t &l YuIredl 36l sior & arc Icurced d 4.4 yferord do &t giy; 55 & aefars) s1 ousll &
YT GersIar T HId &=Ib @2 38 A b 53 as D erdicinuel A 36 ORI & AFuICel 3 3iIR 31ferd crorel A AMIGIel Sol DI AR fdretr

fop1l o1t SPTE A PRI @26l DI gurrehl 3 BRI, watarst bl grell Aerst I oRI Fasu Jol &I gl 3 31l 3 Joml 3 Ssolarcil wuforil &
gferforf2ral 3 gui wiferor oy sulafe, AucraBie FarR ik PrIfcra & ol @ iiaR el ad FIRI RAclla Dol I TeIRT 31ferd
FSTollcHDAI DI AMFS Bl 3 YaerbRI aof Pl gzeel BRI & Yfer ucloatie ddell galss @ yfer Adcerofia slen anfdu afda emefar & grr
3ende ol | - Yaurar oI 8ft forarur v ST JIodar 3 Areiaod: ASHIRT 33 AT BIciAs DI oRUd 18l Dl & S I@MeT, S - DR AR
T slid2 Jucted] Bidl Tl @RI yulrelt axqe: aAfden wataniyil @ fere srefayar 3 aaifes aga i Al st & Jol sraRl I et St & 1ot
Ferrel uf¥adol dlelr 9nfdret 3 3iz RIS BRUT Joid urfaifiy® shdet 3 Bfdeisai 3cucol aidl & gara 3 3Mucl$ a1 wal A 37t PRI Bor b yuedt
31| 3ol 3iferd BRIR Rig &F 3 O serndl ora & arg ot fava snffe Fia (acs swoillfdi BIRkdA) DY I 33 & b foripT B A Ba 44%
BIfeanf¥i oY Bl A 97t BRI B0t B fadea ot Bl TAR &

Which one of the following is the most incipient benefit of adoption of work anywhere system?
fop2il st Terer B BRI Dol B Yurrell @I 3ruolrel & Berasu Adifeie R ygfen forwotifdoa 3 A o= 3?7

[Question ID = 495][Question Description = S3_qSNz_PG_MGT_Q95]
1. Productivity improvement/3curgamdr 3 Jem

[Option ID = 1977]
2. Better gender diversity/daaz Sis2 fafderar

[Option ID = 1978]
3. Increased employee loyality/cpatanf¥=ii bt act g faeasroiierar

[Option ID = 1979]
4. Lesser employee engagement cost/dafaif¥=Ii &l foryfep U2 igad ma ®RI

[Option ID = 1980]

Correct Answer :-

e Productivity improvement/3cuigadr 3 Jemr
[Option ID = 1977]

Topic:- Management_SHAAN_NOV21C



1) Read the given passage and answer the questions that follow

XYZ company is in the business of FMCG products focusing on items like Atta, Besan, Maida etc. They are presently
operating outside Delhi, in the state of Haryana. Looking at demand in Delhi, they want to market their products in Delhi,
covering the entire Delhi. After going through various market reports and market surveys, they found that competition is
very high in Delhi. They want to focus on the quality of their products and still want to fight the competition. They want to
create a marketing strategy for their business at the time of entering the Delhi market. For doing so, they have appointed
you as Manager Marketing (Incharge Delhi) to design a marketing strategy for them.

forgotferRac sterior oo ufgu siiz ofiar fou gl & sar v :
XYZ wustl 3irer, =1, dal 3nfe avqsii ur dfoga uw.wa.dlshl. Scuct ol cIarI ol 3 adaret R 3 3 Roclt & ars? sfRmn i aIr &2
@3 focch 3 difor Y A gu A gt Reeht 3 sruet Scurst ot fuviol @l aed 3 oo acR Rl 3iiz aniz AT B ugal & aIG Joslol
urn 6 et 3 gferuer aga sif2res 3 sruot Icurc 6t uradr U= 1161 Dfoge ol arad 3 3R yferruef sft oo aea & A Rechl 3 yaor
DT IR 3ol RRIRI D e fravrer ur6iifer aetren asd & V1 w20l @ e Ioslol 3Mum! Iaad fere fuvre vl detor @ fere gaem
fagurer (gemsi-feeel) o fopem 3
As the Marketing Manager of XYZ company, what type of pricing strategy would you recommend?
3iret, gl Yol 3nfe uw.uar2flsh. scurct &t XYZ wuct & fauvrer yeersr @ 3u i 61 yor & ot wielifer 6l sigpoizmm &bt s Aot 37
[Question ID = 496][Question Description = S3_qSNz_PG_MGT_Q96]
1. Image pricing/sfd #ceror (s yrsiier)

[Option ID = 1981]
2. Complementary pricing/3o[yz® Fc=Iol

[Option ID = 1982]
3. Captive pricing strategy/sia.g ol viofifer

[Option ID = 1983]
4. Loss leader strategy/cif cfis3 2vmeifer

[Option ID = 1984]

Correct Answer :-
® |mage pricing/sfd scwet (33T yrsiien)
[Option ID = 1981]

2) Read the given passage and answer the questions that follow

XYZ company is in the business of FMCG products focusing on items like Atta, Besan, Maida etc. They are presently
operating outside Delhi, in the state of Haryana. Looking at demand in Delhi, they want to market their products in Delhi,
covering the entire Delhi. After going through various market reports and market surveys, they found that competition is
very high in Delhi. They want to focus on the quality of their products and still want to fight the competition. They want to
create a marketing strategy for their business at the time of entering the Delhi market. For doing so, they have appointed
you as Manager Marketing (Incharge Delhi) to design a marketing strategy for them.

forgorferRaca srerior ol ufgu siiz ofiar fou gl & s S :

XYZ ustit 3irer, §=16, 31 3fe a3l UR dioga uw.ua2il.Sl. Srurcl oI cIaRIRI o=xil 8  acddrel IR A d fGeell D aree i 3 IaRIR 2
W@ 3T fRech 3 ior o waa gu A gl RBecll 3 srual Scurcl ot el won asd 3 ffficot aeiR R iz TR ATS0T B UGl & dIG Ioslol
urn 5 Reeft i gitruaf aga aiftrs 3 A sruct Icurct &t svTadr UR &arol Bfogea 2o arad 3 iz gferruer st oo arsad ¥ A Roekt A gaor
DA TIRT Ul RIGART D e faruvror wi6ciifer gotroll arga & VAT Dot S 18 Iodlol um) Jotd fere fruvrer welifer gotor @ fére yderm
fRravrer (gardi-Reeht) forged fpen 3

What basis can be used for segmenting the market for FMCG products like Atta, Besan, Maida etc ?
3ireT, S3ol, <l 3ife Uk, ua.dlsh. Scurct @ foru asR @ wdlaur & fere fapar simens &1 SurleT fdb=n s JAdmar 37

[Question ID = 497][Question Description = S3_qSNz_PG_MGT_Q97]
1. Demographic bases segmentation/SoRIRRIDRI AT Aewecorel

[Option ID = 1985]
2. Geographic segmentation/silsiiferas xistazur

[Option ID = 1986]
3. Psychographic segmentation/ms@epftbe dtaur

[Option ID = 1987]
4. Behavioral segmentation/®asRerd staur

[Option ID = 1988]
Correct Answer :-
o Demographic bases segmentation/SeRIRRIBRT FIsT oI

[Option ID = 1985]

3) Read the given passage and answer the questions that follow

XYZ company is in the business of FMCG products focusing on items like Atta, Besan, Maida etc. They are presently
operating outside Delhi, in the state of Haryana. Looking at demand in Delhi, they want to market their products in Delhi,



covering the entire Delhi. After going through various market reports and market surveys, they found that competition is
very high in Delhi. They want to focus on the quality of their products and still want to fight the competition. They want to
create a marketing strategy for their business at the time of entering the Delhi market. For doing so, they have appointed
you as Manager Marketing (Incharge Delhi) to design a marketing strategy for them.

forgsifeiRaa srenior oo ufeu silz ofid feu Yool @ sar v :

XYZ st 3irer, §=16, 31 i a3l UR dioga uw.ua2il.Sl. Srurcl oI cIaRIRI il 8  acddrrel IR A d fGeelt D aree i 3 IaRIR o2
W@ 3T fech 3 ior o waa gu A gl Recll 3 srual Scurcl ot fruvier won asd 3 fafficor aeiR U iz TR AdS0T B Ugal & dIG Ioslol
urn 5 Reeft i gitruaf aga aiftrs 3 A suct Icurct &t svTadr UR &arol Bfoga 2ol arad 3 iz gferruer ot oo arsad ¥ A Koekt 3 gaor
DA TIRT Ul RIGARI D 1 fruvior wi6cfifer gotroll arga & VAT Dot d 1w Ioalol um) Jotd fere fruvrer welifer gotior @ fére yderm
fRravrer (gardi-Reeht) forged fpen 3

Once the market for FMCG products like Atta, Besan, Maida etc has been segmented, what targeting approach will you
advocate?

TP IR 3MIel, 96, el 3f¢ uh.ud sl Scurcl @ e IRk ol TWslapd w0l @ 96 [Auviel gaere @ U d 3MUd SRI fauvrel dgiel @ b
zfScplur &I IR &t Sresfi?

[Question ID = 498][Question Description = S3_qSNz_PG_MGT_Q98]
1. Single segment concentration/uebel XUs ADGUT

[Option ID = 1989]
2. Selective specialisation/da=rencad A9t

[Option ID = 1990]
3. Market specialisation/fauvrer fagrdfias2ur

[Option ID = 1991]
4. Product specialisation/3curs fadrdtassor

[Option ID = 1992]

Correct Answer :-
e Single segment concentration/udbel us DU

[Option ID = 1989]

4) Read the given passage and answer the questions that follow

XYZ company is in the business of FMCG products focusing on items like Atta, Besan, Maida etc. They are presently
operating outside Delhi, in the state of Haryana. Looking at demand in Delhi, they want to market their products in Delhi,
covering the entire Delhi. After going through various market reports and market surveys, they found that competition is
very high in Delhi. They want to focus on the quality of their products and still want to fight the competition. They want to
create a marketing strategy for their business at the time of entering the Delhi market. For doing so, they have appointed
you as Manager Marketing (Incharge Delhi) to design a marketing strategy for them.

forgaifeiRaa srenior oo ufeu silz ofid feu yesil @ sar v :

XYZ usit 3irer, §=16, 3T i a3l UR dioga Uw.ua.2il.Sll. Srurcl oI <IaRIRI =il 8  acddrel IR A d Geell D aree i 3 IR 2
@3 fecch & difor Y 3ad gu A gt Reeht 3 sruel Scurst ot fuviol @l aea 3 oot aeme Rl 3z aciz AT B UGl B dIG Joalol
urn 5 Reeft & gftruaf aga siftrs 3 A sruct Icurct &t spTadr UR &arel Bfoga w2en arad 3 iz yfereue ot oo arsa ¥ A Roekt 3 gaor
D IR 3ol RARIRI D fere fRravrer 2ur6lifer getrell arsd & V1 B0l D foru Ioalol MU JoId fere fravra visiifer detor @ fére gderam
fRravrer (gardt-Reeht) forged fpen 3

For distribution of FMCG products like Atta, Baisan, Maida etc, what type of distribution strategy will you recommend?

3rer, $Rol, el 3nfe vw.ua.Alsll Srurcl & faarur & favier gders @ 3u 3 3y b goeRr &l fararur 2vurehifer b sropei=ar @3ar?

[Question ID = 499][Question Description = S3_qSNz_PG_MGT_Q99]
1. Intensive distribution/3wer fazor

[Option ID = 1993]
2. Selective distribution/arretcaa faor

[Option ID = 1994]
3. Exclusive distribution/sfoteer frcuor

[Option ID = 1995]
4. Dual level of distribution/fde=ur @1 g1Br a2

[Option ID = 1996]
Correct Answer :-
® Intensive distribution/3mer faaor

[Option ID = 1993]

5) Read the given passage and answer the questions that follow

XYZ company is in the business of FMCG products focusing on items like Atta, Besan, Maida etc. They are presently
operating outside Delhi, in the state of Haryana. Looking at demand in Delhi, they want to market their products in Delhi,
covering the entire Delhi. After going through various market reports and market surveys, they found that competition is



very high in Delhi. They want to focus on the quality of their products and still want to fight the competition. They want to
create a marketing strategy for their business at the time of entering the Delhi market. For doing so, they have appointed
you as Manager Marketing (Incharge Delhi) to design a marketing strategy for them.

forgotferR3aa sterior ol ufgu 3iiz ofiar fgu Yool & 3= difSe :

XYZ wustt 3irer, 3216, 3T i a3l IR dioga Uw. w2 il.Sfl. Srurcl oI cIaRIRI @il 8  adérel PRI A d fCoehl D arse siwmun 3 IR B2
@3 foch 3 Jior oI wad gu A gl Reell 3 srual Seurct ol fRuviar ool asd 3 fftca aeR RO ik TR AdevT B ugal & a6 Ieslol
urn 5 eedt 3 yferuerf aga siftrs 3 @ sruol Icurct &t spuradr Uz &1l dioga doll arsd 3 Sk yferruef sft oo aead & q Rechl 3 yaer
DA TIRT AU RIGART D e fruvior wichifer dotroll arga & VAT Dot o 1w Ioadlol MUD) Jotd fere fruvrer weiifer gotor @ fere yderm
fravrer (gardi-Reeht) forgen fpem 3

As a manufacture of FMCG range of products such as Atta, Suzi, Maida, Baisan etc, what type of trade promotion will you
recommend for Dealer/Distributors of your products?

airer, Jeil, diet, de nfe vw.vardlshl. Scuct & fafowifar & su 3 3mu 36 Scurcl & SeRl/frare! @ foru b1 YR @& =muR Haclfe &t
3161911 DIN?

[Question ID = 500][Question Description = S3_qSNz_PG_MGT_Q100]

1. Trade discounts/=mr @¢

[Option ID = 1997]
2. Bundle pricing/dse yrsiier

[Option ID = 1998]
3. On pack coupons/3ifer G duet

[Option ID = 1999]
4. Free samples/#ud o1dol

[Option ID = 2000]

Correct Answer :-
e Trade discounts/®muR g¢

[Option ID = 1997]

Topic:- GP_30NOV_A

1)

Read the given passage and answer the questions that follow

The following table has the number of enrolled students for a particular course and year.

Total number of seats are given in brackets with respect to each course.

Number of Enrolled Students
'Year

BTech (120) [MTech (30) MPhil (20) |MBA (60)
2016 (96 24 12 52
2017 |110 26 14 57
2018 |108 25 13 54
2019 (112 28 15 56
2020 (104 27 16 48

forgotferRaa vt ot earogde® ufeu siik SAD a6 B s1e goall @ 3= difme ©

forgarfeiRaa meoft 3 Rp=ft ves urgRrayst sz adf fadry 3 el frenffd & sz & o ¥ YRS urgpd @ Ader 3 il & oo Jizn dreoad i
dteg 3

oTarifepa farenfefit &t zizean
- dL e . CP odl. fiber wadle.
(120) (30) (20) (60)
2016 (96 24 12 52
2017 110 26 14 57
2018 (108 25 13 54
2019 112 28 15 56
2020 (104 27 16 48




What is the average number of vacant seats of B. Tech for years (2016-2020)?

adf (2016 - 2020) 3 diew 9 siRaa frep e bl siiera vizen = 3 ?

[Question ID = 501][Question Description = S2_qSNz_PG_GP30_Q01]

1. 14

[Option ID = 2001]
2. 15

[Option ID = 2002]
3. 16

[Option ID = 2003]
4. 17

[Option ID = 2004]

Correct Answer :-
e 14

[Option ID = 2001]

2)
Read the given passage and answer the questions that follow

The following table has the number of enrolled students for a particular course and year.

Total number of seats are given in brackets with respect to each course.

Number of Enrolled Students
'Year

BTech (120) MTech (30) MPhil (20) MBA (60)
2016 (96 24 12 52
2017 (110 26 14 57
2018 (108 25 13 54
2019 (112 28 15 56
2020 (104 27 16 48

forgoticii¥aa ARl @I eAareIyde uféu 3R IAD dI6 Y 91 Yol @ 3IaR Sifsre &

forgoiferRaa ar=vfl 3 ool vop urgRIay 3R ad 9y 3 srcil fenfRil &i iz & o 8 Yo urgarapd @ Ade 3 il oI qer A= orcod 3
da 3

oldifena farenfeRi & Fizen
™ d. e . TP w3t fiba wdle.
(120) (30) (20) (60)
2016 (96 24 12 52
2017 (110 26 14 57
2018 (108 25 13 54
2019 (112 28 15 56
2020 104 27 16 48

Which course has the highest percentage increase in enrollment of students from 2016-2017?

2016 A 2017 ao fpa urgaapd 3 sl fRrenfRi 3 scaaar gferora afig 55 8 ?

[Question ID = 502][Question Description = S2_qSNz_PG_GP30_Q02]



1. B Tech/dt. e®

[Option ID = 2005]
2. M Tech/vaes

[Option ID = 2006]
3. M Phil/wafiser

[Option ID = 2007]
4. MBA/vadlu.

[Option ID = 2008]
Correct Answer :-
® B Tech/dt e

[Option ID = 2005]

3)
Read the given passage and answer the questions that follow

The following table has the number of enrolled students for a particular course and year.

Total number of seats are given in brackets with respect to each course.

Number of Enrolled Students
Year

BTech (120) MTech (30) MPhil (20) MBA (60)
2016 96 24 12 52
2017 (110 26 14 57
2018 [108 25 13 54
2019 (112 28 15 56
2020 (104 27 16 48

forgotferRaa amevit ot exaroyde ufeu Siik 3UD a6 gd s1e gosil & 3= SifSte ©

forgotrferRaa areufl & fopil v urgRIay 3R ad iy 3 sicil faenfRil &l iz 6 o1 8 YA urgarapd @ Ade 3 il bl qet A= orcod 3
dte 3

otarifepe frenfefil &bt 2izean
™ d. e . TP w3 fiba wdle.
(120) (30) (20) (60)
2016 96 24 12 52
2017 (110 26 14 57
2018 1108 25 13 54
2019 (112 28 15 56
2020 104 27 16 48

Find out the difference between average vacant seats of M Tech and MBA for 2016-2020.

2016 - 20 @ Slzrol CaA.D 3R wadl.u. 3 siiara b i @1 siar udr censv :

[Question ID = 503][Question Description = S2_qSNz_PG_GP30_Q03]
1. 2.4

[Option ID = 2009]
2. 2.5

[Option ID = 2010]
3. 2.6

[Option ID = 2011]
4. 2.7

[Option ID = 2012]



Correct Answer :-
e 2.4

[Option ID = 2009]

4)
Read the given passage and answer the questions that follow

The following table has the number of enrolled students for a particular course and year.

Total number of seats are given in brackets with respect to each course.

Number of Enrolled Students
Year

BTech (120) [MTech (30) MPhil (20) |MBA (60)
2016 (96 24 12 52
2017 |110 26 14 57
2018 |108 25 13 54
2019 (112 28 15 56
2020 (104 27 16 48

forgotferRaa vt ot earogde® ufeu sk SAD a6 B s1e gosll @ 3= St ¢

foratferRaa meoft 3 fRp=ft ves urgRrayst sz adf fadry 3 el frenffd &t sz & o ¥ yRA® urgapd @ Ader 3 il & war dAzn dreod i
dtog 3

oTaifepa farenfefRil & 2z
™ dL e . TP ol fiber wadle.
(120) (30) (20) (60)
2016 (96 24 12 52
2017 110 26 14 57
2018 (108 25 13 54
2019 112 28 15 56
2020 (104 27 16 48

Which year has highest average enrollment?

fopar ad 3 Scaaa sira i 55 3 7

[Question ID = 504][Question Description = S2_qSNz_PG_GP30_Q04]
1. 2017

[Option ID = 2013]
2. 2018

[Option ID = 2014]
3. 2019

[Option ID = 2015]
4. 2020

[Option ID = 2016]
Correct Answer :-
e 2017

[Option ID = 2013]

5)
Read the given passage and answer the questions that follow

The following table has the number of enrolled students for a particular course and year.



Total number of seats are given in brackets with respect to each course.

Number of Enrolled Students
Year

BTech (120) MTech (30) MPhil (20) MBA (60)
2016 (96 24 12 52
2017 |110 26 14 57
2018 [108 25 13 54
2019 (112 28 15 56
2020 (104 27 16 48

foraifeiRaa vl ot eameigde ufeu siiz 33d a6 ga s1e grsil & 3= I @

forgaifeiRaa meoft 3 Rp=ft ves urgRrays sz adf fadry 3 el frenffd & sz & o ¥ YRS urgagpd & dde 3 il & @or dAzen e i
dtog 3 :

™ dL e . Cp wdl. fiber wadle.
(120) (30) (20) (60)
2016 (96 24 12 52
2017 110 26 14 57
2018 (108 25 13 54
2019 112 28 15 56
2020 (104 27 16 48

Which year has the minimum vacant seats?

fopr ad 3 o M sgerae @ 3 ?

[Question ID = 505][Question Description = S2_qSNz_PG_GP30_Q05]
1. 2016

[Option ID = 2017]
2. 2017

[Option ID = 2018]
3. 2018

[Option ID = 2019]
4. 2019

[Option ID = 2020]
Correct Answer :-
e 2016

[Option ID = 2017]

Topic:- GP_30NOV_B

1) Who proposed theory of meaningful verbal learning?
refs onfega sifeerar @ Rrgia o yftrarcer fswror fosar ?

[Question ID = 506][Question Description = S2_qSNz_PG_GP30_Q06]
1. Benjamin Bloom/dsufdter st [Option ID = 2021]

2. Jerome Bruner /SR gz [Option ID = 2022]

3. Lawrence Kohlberg/cm wigast [Option ID = 2023]

4. David Ausubel/3fds sitgaer [Option ID = 2024]

Correct Answer :-
e Benjamin Bloom/dsnfdrer st [Option ID = 2021]

2) The steps involved in developing a performance test are

A. Develop an observation/rating form.



B. Try out the test items before developing a final form.

C. Conduct a job (task) analysis to determine what abilities are to be tested.
D. Develop an administration format

E. Develop some type of task-sampling plan.

Choose the correct answer from the options given below

forsurcer udigur frpRia w2ar 3 fogarfeiRaa wea onfirer & ¢

A. gervr / forerfzor que farepRia wwen

B. sifersr queq frepRia @2o1 A1 gd udleur 6 o sirsteren

C. ufigror &t Sirorarel As=rarnsii ot forerffsa oot @ ferw BRI frawur wwen

D. v gomrifore wric faalRia wen

E. v yoR &t BRI - gferrie Alston faraRia wen

ofi o s1u feseal & A A8} IR BT wRI6T BT :

[Question ID = 507][Question Description = S2_qSNz_PG_GP30_Q07]

1. A, D, B, C, E [Option ID = 2025]
2. C, A, E, D, B [Option ID = 2026]
3. D, B, C, E, A[Option ID = 2027]
4. B, C, D, A, E [Option ID = 2028]

Correct Answer :-
e A, D, B, C, E [Option ID = 2025]

3) Given below are two statements

Statement I: As per Piaget's stages of cognitive development, the child learns a language and begins to use symbols to
represent objects during the pre-operational stage.

Statement Il: As per Piaget's stages of cognitive development, the child learns through reflexes, senses and movement-
actions on the environment during the formal operational stage.

In light of the above statements, choose the correct answer from the options given below

il ol el fdu sre 3 ¢

Dol - | : AsTolca® PRI & fURISI & RNl @ AR gd - AfGICHD TR D iRl dicia HINI Hadr 3 3iiR a3l @l gorfor @ fere yeiiol
@I GRIPT Boll RH B2 Sl 3

D - || : AsIecA® PRI @ RIS @ TRl @ GRIR udiis® AfpArcdAd arv1 @ GRRIe dicid Yfdad, sfogal a uraiaur 3 s1fer - fopam &
Fmeer A waar 3

WD el @ IMciid 3, ofil fu a1e eyl 3 A A& IR DI TwIel DI :

[Question ID = 508][Question Description = S2_qSNz_PG_GP30_Q08]

Both Statement | and Statement Il are true/@emr | 3z |l S¥eil 311 & [Option ID = 2029]

Both Statement | and Statement Il are false/ewr | 3iz |l Gleif srir & [Option ID = 2030]
Statement | is true but Statement Il is false/@err | 31 8, fpog @ere |l 3Rt & [Option ID = 2031]
Statement | is false but Statement Il is true/wepl | srRI=I &, fbog et |l 3 & [Option ID = 2032]

A w N =

Correct Answer :-
e Both Statement | and Statement |l are true/@erer | iz 1l Glail 21 & [Option ID = 2029]

4) Identify the correct set of key mandate areas of the National Knowledge Commission
A. Access

B. Concepts

C. Delivery

D. Applications

E. Services

Choose the correct answer from the options given below:

ISER SI6T JIRIPT @ J3A MfUSO1 il o> FEl A bl usarer Hifsie :
A. uga

B. sraemzum



C. ggrol

D. sragueitor

E. Jarg

ofi o s1u fwseal & A A8 3R BT wRI6l BT :

[Question ID = 509][Question Description = S2_qSNz_PG_GP30_Q09]

A, B, C and D only/asaet A, B, C siiz D [Option ID = 2033]
B, C, D and E only/aaet B, C, D siiz E [Option ID = 2034]
A, B, D and E only/adqet A, B, D 3iiz E [Option ID = 2035]
A, C, D and E only/aact A, C, D siiz E [Option ID = 2036]

A W N -

Correct Answer :-
e A, B, Cand D only/dact A, B, C aliz D [Option ID = 2033]

5) Match List | with List I

List | List Il

Indian ICT
initiative Purpose

A. e- I. Open educational resources developed by
Gyankosh NCERT in 2013

B. e- Il. Digital repository of learning resources
Pathshala developed by ODL institutions

Ill. Educational e-resources developed by

C. NROER NCERT in 2015
IV. Virtual repository of learning resources with
D. NDL single window search facility developed by IIT,

Kharagpur

Choose the correct answer from the options given below:

et -1 B et -1l A gdfera Hife
et -1 et -1l

(=R 3
IR IRT UseT)

(3Z9a1)

A. $ - |. wat 2l § 3= & g1 2013 3 R oo ifdrm
SIGELY ATeIoT

B. § - 1. sitee Fiverell grRI fawml siféere Fnerstl o1
[ATG9ITCIT fferérr ds

C. wot 3= 3illll. wor 2t € s & gy 2015 3 fawmRia difdw € -
£ 3R RAATEIoT

D. wat 31 |IV. 3n£andél W30y GRI uave fas) <t 35t Afden @&
@cl arer farepfRra sifeerar Fitersil o1 MR s

oifY feu aru famedl 3 A 8 3R gforu :

[Question ID = 510][Question Description = S2_qSNz_PG_GP30_Q10]
1. A-IV,B-1,C-1I,D-1

[Option ID = 2037]
2. A-1,B-1I,C-1,D-1IV

[Option ID = 2038]
3. A-1L,B-1,C-1V,D-Il

[Option ID = 2039]
4. A-1,B-1V,C-1,D- Il

[Option ID = 2040]
Correct Answer :-
® A-IV,B-1l,C-1Ill,D-1
[Option ID = 2037]



6) The concept "paradigm" is associated with:
"Fouraell” (URsSIEH) &I sraenrun fpads A1y J3 8 ?

[Question ID = 511][Question Description = S2_qSNz_PG_GP30_Q11]
1. Karl Popper/@ret diaz [Option ID = 2041]

2. R. A. Fisher/am=. u. fiberz [Option ID = 2042]

3. Imre Lakatos/sa crwit [Option ID = 2043]

4. T.S. Kuhn/d. w21 @g& [Option ID = 2044]

Correct Answer :-
e Karl Popper/@rct diuz [Option ID = 2041]

7) Which among the following is a software for the analysis of qualitative data?

forgatferRaa & A ®lel AT ATFedIR IPIcAD g (3er) D sy & fere 3 ?

[Question ID = 512][Question Description = S2_qSNz_PG_GP30_Q12]
1. SPSS/war tt war war [Option ID = 2045]

2. R/am [Option ID = 2046]

3. NVivo/wor diat [Option ID = 2047]

4. STATA/wa ¢t udtu [Option ID = 2048]

Correct Answer :-
e SPSS/u i v wat [Option ID = 2045]

8) Following are the objections against mixed methods research:

A. Quantitative and qualitative research are epistemologically different

B. Quantitative research is better than the qualitative research

C. Aims of quantitative and qualitative research are different

D. Ontological assumptions of quantitative and qualitative research may be different
E. Quantitative and qualitative research are paradigmatically incompatible

Choose the correct answer from the options given below:

farfoga fafer oner @ fawg smufern HeifeRaa 3 :

A. AGICAD d UIcAD 9IIEl SToliARIR WU A el &

B. spuncaas 9lier &l detoll 3 ANGICHD MIET I&R &

C. HArIcAD 3R IUIcAD 9IIEl D cIg fiiool 3

D. s 3iiR spuncHe oner &I JapfiaRiR gdemvns il 8l Awdl &

E. squea siiz spuncam omier Juractl SeiIR

ofi o s1u fweul & A A8 3R @I M6 HifSrT :

[Question ID = 513][Question Description = S2_qSNz_PG_GP30_Q13]

. A, B, Cand D only/aact A, B, C 3iiz D [Option ID = 2049]
. B, C, D and E only/daea B, C, D siiz E [Option ID = 2050]
. A, C,DandE only/@aa A, C, D siiz E [Option ID = 2051]
. A, B, D and E only/dac A, B, D siiz E [Option ID = 2052]

A WN -

Correct Answer :-
e A, B, Cand D only/adact A, B, C siiz D [Option ID = 2049]

9) Match List | with List Il

List | List 1l
Research
Concepts Definitions

I. A mode of interview whereby there are several
A. Constant participants with an emphasis on the questioning on
a tightly defined topic

Il. The segment of the population selected for

B. Semiotics
research

lll. An attribute in tTerms of which cases do not

C. Sample differ




IV. An approach to the analysis of documents and

D. Focus grou
group other phenomenon

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 et -l
(ofter yera) (uf¥smarg)
- |. e R &I o fafér 1 sl gfermmsit Jufysnftia
A e ( ) T Uz gt g Sifel UR et 3 &
B. 3ida fasmet

(B ) Il. F1915) T Ues Zavs BRY onter @ fere golr srm 3
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[Question ID = 514][Question Description = S2_qSNz_PG_GP30_Q14]
1. A-1I,B-IV,C-Il,D-1

[Option ID = 2053]
2. A-1,B-1I,C-1,D-1IV

[Option ID = 2054]
3. A-I,B-1ll,C-1I,D-1IV

[Option ID = 2055]
4. A-IV,B-1,C-1I,D-1Il

[Option ID = 2056]

Correct Answer :-
e A-II,B-IV,C-Il,D-1I

[Option ID = 2053]

10) Given below are two statements
Statement I: Questionnaires are filled in by the participants themselves.
Statement Il Interview schedule is filled in by the interviewer/researcher.

In light of the above statements, choose the most appropriate answer from the options given below

ofil &t werer Ru sme 3 :
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[Question ID = 515][Question Description = S2_qSNz_PG_GP30_Q15]

Both Statement | and Statement Il are correct/weret | 3iiR || gloif 3t & [Option ID = 2057]

Both Statement | and Statement Il are incorrect/aemer | 3iiz |l Glail steta & [Option ID = 2058]

Statement | is correct but Statement Il is incorrect/@emt | 3@t 8, fpoq @l |l s & [Option ID = 2059]
Statement | is incorrect but Statement Il is correct/@emw | stera &, g et |l 3t 8 [Option ID = 2060]

A WN -

Correct Answer :-
e Both Statement | and Statement Il are correct/@memr | 3iR 11 Gloil 28 & [Option ID = 2057]

11) The Latin words "Communis” or "Communicare” from which the term "Communication" is derived, means:

crcilofl 9rec "DaRIfor” srerar "degforadR ", PSRRI "oRfordermet” (FTR) uc &I Ieufd g5 3, o 3k 3 ¢

[Question ID = 516][Question Description = S2_qSNz_PG_GP30_Q16]

1. Provide specific information/fafSre 3ot ygret @2on [Option ID = 2061]

2. Make something uncommon/sriwereeI deirer [Option ID = 2062]

3. Make common, the information available/3uctser 3ycren @t w6 gotrelt [Option ID = 2063]
4. Produce information /g siferd @2et [Option ID = 2064]

Correct Answer :-



® Provide specific information/faférse 3ot ygror aon [Option ID = 2061]

12) Power and status are said to cause barriers in communication.

@3l Sl 3 fob o1ftp 3l 3RRIA JAarR A U /ARl Icuool B 3 ?

[Question ID = 517][Question Description = S2_qSNz_PG_GP30_Q17]
. Technological/gienf3icbrer [Option ID = 2065]

. Cultural/=izgfera [Option ID = 2066]

. Physical/siiferas [Option ID = 2067]

. Semantic/arscref - Adeft [Option ID = 2068]

A w N =

Correct Answer :-
e Technological/qienfdrbrr [Option ID = 2065]

13) A class conducted on Google Meet in which students and teachers are engaged in discussion in an instance of:

3pIel i WR AR @en, Rl femel sii forgre @@t 3 ol 3, forafiRRaa 3 A fpawr 3eevT 3 ?

[Question ID = 518][Question Description = S2_qSNz_PG_GP30_Q18]
. Intrapersonal communication/siaedafepa [Option ID = 2069]

. Group communication/3mjg @R [Option ID = 2070]

. Mass communication/serRiar [Option ID = 2071]

. Downward communication/sreismeft 2iarz [Option ID = 2072]

AN wnN -

Correct Answer :-
® [ntrapersonal communication/siad=fepa [Option ID = 2069]

14) Being a smart consumer of media means:

M3 & Fad Susdiept ot aref 3 :

[Question ID = 519][Question Description = S2_qSNz_PG_GP30_Q19]

. Following a few select TV channels one likes/3msft wRic @ @@ gfsic! dolcll @I 3ERRUI Bn [Option ID = 2073]

Belief in a few mass media channels/seRiar & @ derel 3 fdeart [Option ID = 2074]

Disbelief in messages received/gr 2igeli 3 sifdeart [Option ID = 2075]

Being adept at recognizing subtle and not subtle forms of messages/3igoll @ g 3R 3foPIe =l DI Usdolol 3 ursid [Option ID = 2076]

AWN—\

Correct Answer :-
e Following a few select TV channels one likes/smuell wic @ @ gféicr delcll @I RRUI Bl [Option ID = 2073]

15) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: Two fundamental features of classroom communication are classroom instruction and classroom management.
Reason R: The classroom communication of teachers rests on the principle of edutainment.

In light of the above statements, choose the correct answer from the options given below

ofid ot Pl fGu s1e 3 : v sifdrerat (Assertion A) @ ¥u 3 3R gRI 33D PRI (Reason R) @ »u 3 :
aifdrperet (A) © el 3 Slol arcl JAFYHUI bl 1 gforndt fafdrseare & wen 3 fSu Sirel arel 3169 a el Yeeiol
®rut (R) : 181l @1 Ben AYHUT FHeileld D Rigia uR fonk war 3
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[Question ID = 520][Question Description = S2_qSNz_PG_GP30_Q20]

. Both A and R are true and R is the correct explanation of A/(A) 3iz (R) il 31 8 3z (R), (A) &t 38 «=n & [Option ID = 2077]

. Both A and R are true but R is NOT the correct explanation of A/(A) 3z (R) clall 3 & waq (R), (A) &t 3d e oidt & [Option ID = 2078]
. Ais true but R is false/(A) =1 2, woq (R) srir & [Option ID = 2079]

. Ais false but R is true/(A) srie 8, woqg (R) 3= & [Option ID = 2080]

A W N -

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) sfiz (R) gleil a1 & 3iR (R), (A) &I A&t =m=n 3 [Option ID = 2077]

16) The unit digit of the product of first 22 natural number is

gerdt 22 yrpfira A3 & IUIelbel BT SIS 3 o 3 ?

[Question ID = 521][Question Description = S2_qSNz_PG_GP30_Q21]
1. 0

[Option ID = 2081]



2.2

[Option ID = 2082]
3.4

[Option ID = 2083]
4. 6

[Option ID = 2084]

Correct Answer :-
e 0

[Option ID = 2081]

17) A sum of money placed at compound interest doubles itself in 4 years. In how many years will it amount to of times?

aaqpgly Sarsl U Sar gas M1 4 auif 3 gafell 8l sl 3 ? s Afr fpeol aul 3 8 oper a1 siwsil ?

[Question ID = 522][Question Description = S2_qSNz_PG_GP30_Q22]
1. 16 years/16 ad [Option ID = 2085]

2. 12 years/12 ad [Option ID = 2086]

3. 8 years/8 ad [Option ID = 2087]

4. 5 years/5 ad [Option ID = 2088]

Correct Answer :-
® 16 years/16 ad [Option ID = 2085]

18) Which of the following statements are correct?

A. The average of first twenty multiples of 8 is 84

B. There are 25 prime numbers between 100 to 200.

C. Average of ten positive numbers is X. If each number is increased by 10%, then new average increases by 11%.

Choose the correct answer from the options given below

forsotferRaa werell R far Hifsie :

A. 8 @5 uscr 20 @1 siiara 84 3

B. 100 a1 200 & dia 25 g Jzam™ &

C. 10 goireare AzsA13il @I 3iiera X @ afe ya iz @1 10% der G s 3, al o) sitera 3 11 % af sl
SWRfT Dl 3 A Blol A / AT DUt A& & ?

[Question ID = 523][Question Description = S2_qSNz_PG_GP30_Q23]

A only/abact A [Option ID = 2089]

B and C only/dqet B sfiz C [Option ID = 2090]
A and B only/d@act A siiz B [Option ID = 2091]
A and C only/@ac A siiz C [Option ID = 2092]

A W N -

Correct Answer :-
e Aonly/@act A [Option ID = 2089]

19) Given below are two statements
Statement I: The single discount equivalent to a series discount of 10 %, 30 % and 50 % is 68.5%
Statement II: The single discount equivalent to a series discount of 10 %, 20 % and 40 % is 43.2%

In light of the above statements, choose the correct answer from the options given below

il ol @l fdu sre 3 ¢

@ - | : 10%, 30% 3z 50% «gi &t 9jzacn o AT vpel a2 (B¥dpse) 68.5% &
@eret - 1l 1 10%, 20% 3iiz 40% «gi b gfzaen @ ATl Ubdl agr 43.2% &
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[Question ID = 524][Question Description = S2_qSNz_PG_GP30_Q24]

1. Both Statement | and Statement Il are true/@emw | iz || Sisit A @ [Option ID = 2093]

2. Both Statement | and Statement Il are false/aerot | 8iiz |l Qleil sRicr & [Option ID = 2094]

3. Statement | is true but Statement Il is false/@emwer | 311 8, fibog et |l sRir & [Option ID = 2095]
4. Statement | is false but Statement |l is true/erel | sRIcI 8, fbog @eret |l 3w & [Option ID = 2096]

Correct Answer :-
e Both Statement | and Statement Il are true/aermer | 3iiz |l Slelf 31 & [Option ID = 2093]



20) Which term comes next in the sequence?
AN, CQ, EU

| J—

AN, CQ, EU, ___ sro@m# 3 361el UG it AT 3 ?

[Question ID = 525][Question Description = S2_qSNz_PG_GP30_Q25]
1. JB

[Option ID = 2097]
2. 1A

[Option ID = 2098]
3. HZ

[Option ID = 2099]
4. GY

[Option ID = 2100]

Correct Answer :-
e JB

[Option ID = 2097]

21) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: In a valid categorical syllogism, the middle term must be distributed in at least one premise.
Reason R: The conclusion of a valid argument cannot assert any more than is contained in the premises.

In light of the above statements, choose the correct answer from the options given below

ofid ot Pl fGu s1e 3 @ v sifdrerat (Assertion A) @ ¥u 3 3R eI 33 PRI (Reason R) @ »u 3 :
sifdrerot (A) : v der forUel sAURIaraT # oH A DA b 1enf¥aT 3 3q Aa9d ATH Jloll AT

PRI (R) : e ao oI forswd 3@ ez arasil of forfda forsasd A siferp o1dl dlon
SWRITP Pall D el #, offd fBu fasedl 3 A A8 IR &1 aRIe Hifste :

[Question ID = 526][Question Description = S2_qSNz_PG_GP30_Q26]

1. Both A and R are true and R is the correct explanation of A/(A) iz (R) giall 31 3 3R (R), (A) &t 3@ =z & [Option ID = 2101]

2. Both A and R are true but R is NOT the correct explanation of A/(A) iz (R) glail 31 & weag (R), (A) &l 3t wen oidt & [Option ID = 2102]
3. Ais true but R is false/(A) a=1 8, woq (R) sri & [Option ID = 2103]

4. Ais false but R is true/(A) sric 8, w3 (R) 3= & [Option ID = 2104]

Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) sfiz (R) gleil a1 & 3l (R), (A) &I 38t =mrzn 8 [Option ID = 2101]

22) Which of the following statements are correct?
A. A proposition and E proposition are contradictories
B. A proposition and O proposition are contradictories
C. E proposition and O proposition are contradictories
D. | proposition and O proposition are contraries

E. | proposition and O proposition are subcontraies

Choose the correct answer from the options given below:

forgatferRaa 3 3 blat A e 78 T ?

A. adsara= A 3R acsara=r E smrEmae &

B. awara A iR asarr O =rErdae &

C. assara E 3iiz adare O =mErdae &

D. adara™ | 3k awarr O fadia 3

E. asara | siik asara O sufqufsa &

ofi o s1u fwseal & A A8 IR BT wRI6l BT :

[Question ID = 527][Question Description = S2_qSNz_PG_GP30_Q27]



A, D and E only/dact A, D 3liz E [Option ID = 2105]
A, C and D only/daet A, C siiz D [Option ID = 2106]
B and D only/aaet B siiz D [Option ID = 2107]
B and E only/d>aet B siiz E [Option ID = 2108]

A W N -

Correct Answer :-
e A, Dand E only/aaer A, D siiz E [Option ID = 2105]

23) ldentify the fallacy committed in the argument:

"The policies suggested by him have no merit since he was once charged with embezzlement".

forgar 3 A ab Sy bl usdarel Hifsre
"SAD gRI e o1 oflferil 3 DI 31ur o181 & Jih IA UR YD AR JIdol DI MRIU el AT "
[Question ID = 528][Question Description = S2_qSNz_PG_GP30_Q28]

1. Argument ad Hominem (abusive)/i@et gfep [Option ID = 2109]

2. Argument from Ignorance/smsierar gfep [Option ID = 2110]

3. Appeal to Pity/@sun ot aidier [Option ID = 2111]

4. Appeal to Inappropriate Authority/smfera giférer @ srdier [Option ID = 2112]

Correct Answer :-
e Argument ad Hominem (abusive)/etia gfep [Option ID = 2109]

24) "A young child goes near an iron ball, feels the radiation of heat; from that she concludes that the ball must be quite
hot and returns without physically touching the ball.”

Here the cognition is through:

"o BIE gl v i} 6l 3ic D forape Sl 3, v & fafepzutr Y srop@ wxcdl &, 3R forsad formrerdl 3 15 i sragw & srcafiras sra aPh
3iiz 3ic @l siiferd WU A Yu f[Yon aru dic sl 3" - A8l Az Isilol fpad Areasd A 3 ?

[Question ID = 529][Question Description = S2_qSNz_PG_GP30_Q29]

1. Perception/ygeast st [Option ID = 2113]

2. Knowledge through analogical reasoning/3ire9aicie dden @ et A sitel [Option ID = 2114]
3. Inference/aigfdfer [Option ID = 2115]

4. Verbal authority/onfége gifeire [Option ID = 2116]

Correct Answer :-
® Perception/yeret siret [Option ID = 2113]

25) Given below are two statements
Statement I: Asamavyapti corresponds to the Universal Affirmative proposition.
Statement Il: Samavyapti corresponds to the Universal Negative proposition.

In light of the above statements, choose the correct answer from the options given below

ofid <1 werer Ru s 3 :

Dol - | : i Ideardl ADPRICHAD dDAIG D AHBU 3

@l - || : Adondl forence aadara1 @ HAeU 3

SRt Desil @ 3iIclid 3, oifa fou s1e fawmeul 3 A JE 3R @I a6l HifSe
[Question ID = 530][Question Description = S2_qSNz_PG_GP30_Q30]

1. Both Statement | and Statement Il are true/@emwt | 8iiz || Sleit 3icx & [Option ID = 2117]

2. Both Statement | and Statement Il are false/a@ermet | 8iiz || Gleil sRicr & [Option ID = 2118]

3. Statement | is true but Statement Il is false/@emwr | 3 8, fépoq werat || spicr @ [Option ID = 2119]
4. Statement | is false but Statement |l is true/wesol | sRIcI 8, fbog @eret || 3tr & [Option ID = 2120]

Correct Answer :-
e Both Statement | and Statement Il are true/@emr | 3iiz | glelf 31 & [Option ID = 2117]

26) The Ethernet is

$erale 3 -
[Question ID = 531][Question Description = S2_qSNz_PG_GP30_Q31]



1. A program that identities and moves traffic across local segments/uvd b2 Qieyer it Fereiil XSt 3 AMARIA I usdrel DAl 3 3R 0D A G WS 3 3ADI AdIciol
w3 [Option ID = 2121]

2. A protocol designed for wireless MANs/drReRI ©9 © Bol @ e €olrRl oRI oRIAR [Option ID = 2122]

3. Asystem that connects a number of computers or devices together to form a LAN/3[oles @owle3l 11 3udb2vil ol S Uel © el dollol arcft gureft [Option 1D
=2123]

4. A device that can communicate with another computer/caR ®wIcs @ JArel AYWUT B2 Acbol arell 3umwl [Option ID = 2124]

Correct Answer :-
® A program that identities and moves traffic across local segments/vm B Qiopa Sil FelrotlRl ST 3 ATARIA 6l usdlol BT 3 3R Bb A GAL XS A IADI AdIcTol
w3 [Option ID = 2121]

27) The Trojan horses

Qotol 31 -

[Question ID = 532][Question Description = S2_qSNz_PG_GP30_Q32]

. Search automatically for an item on the internet/>aafér ¥u 3 sevolc W fp2il v 316 Bl denol w2l & [Option ID = 2125]

. Are viruses that can replicate themselves/¥3 farmuy 2kt & it ¥a=i i srgfapfer doit 3be & [Option ID = 2126]

. A software that gathers information by monitoring/sm[o[avt gRI Jcell v 2ol drell AfteRR 8l 3 [Option ID = 2127]

. Are malicious programs often disguised as legitimate software/agen de 3dfucRi @ wsrer ¥ fguyvf goger aiar 3 [Option ID = 2128]

A W N -

Correct Answer :-
® Search automatically for an item on the internet/zaafera »u 3 scolc W b2l v #Ag P denor w2 3 [Option ID = 2125]

28) Given below are two statements regarding the data bus in the computer system
Statement I: Data bus sends data between the processor, memory unit and the 1/0 devices.
Statement Il: It is uni-directional

In light of the above statements, choose the correct answer from the options given below

DRI Rized 3 od (SIe1) 91 @ Ade 3 ol Dorel [Susm 3 @

DUel - | : g T YRR, IR fore 3R 3eIa / forla udm=ur o dfa ga gfta o«dl 3
Dol - || : A1z v Gon Fii Biedl 3

SWRfTd Dol @ 3irciidd A, ofial feu a1g fameul 3 A A& IR DI arel HIfSE :
[Question ID = 533][Question Description = S2_qSNz_PG_GP30_Q33]

Both Statement | and Statement Il are true/wmeret | 3ii |l Gloil =1 & [Option ID = 2129]

Both Statement | and Statement Il are false/@merer | 3iiz 11 @il 3t & [Option ID = 2130]
Statement | is true but Statement Il is false/®epol | 311 &, fpoq el |l sRI=r & [Option ID = 2131]
Statement | is false but Statement Il is true/evermel | 3R 8, fbog @eret |l 31 & [Option ID = 2132]

A W N -

Correct Answer :-
e Both Statement | and Statement |l are true/@emwr | 3iR 11 Gleii i & [Option ID = 2129]

29) Following are some statements regarding the firewalls. Choose the correct statements
A. Examine traffic between computer and a network

B. Used to verify that data comes from a secure and trusted source

C. Use the concept of digital signature

D. Keep a list of IP addresses thus preventing access to certain websites

Choose the correct answer from the options given below:

i<l WRRdIcT @ Hdel I O Pl 3T 3w & A8l Berel Jfou :

A. D3RI 3R olcam! D da ¢fbw & sifa ol T

B. IRf3ra g faarteliRr 3Id A 3Miol drcl ¢d ®I AcATU6l D0l D 18 YIwp Bl 3
C. RSiéR seaigr & @emun o1 AT Bl 3

D. ams dl uga b wb el 3zl 8 3z 339 YR B daArscl dd ugd @l Adddl 3
il fou s1u fraseul 3 3 I IR BT w6l HISIE ©

[Question ID = 534][Question Description = S2_qSNz_PG_GP30_Q34]

1. B and C only/dae B siiz C [Option ID = 2133]
2. Cand D only/aaet C siiz D [Option ID = 2134]
3. Aand D only/dsaet A siiz D [Option ID = 2135]
4. Aand C only/dac A siiz C [Option ID = 2136]

Correct Answer :-



® B and C only/aaa B siiz C [Option ID = 2133]

30) Match List | with List Il

List | List Il

Security threats IMeaning

A. Hacking I. 'Clog-up’ a user's inbox with unwanted emails

B. Phishing Il. Gives the originator access to all data entered by the keyboard
C. Spyware lll. Identity fraud

D. Spam IV. lllegal use of personal data

Choose the correct answer from the options given below:

It -1 ot gt -1 2 gifera difere ¢

ot -1 et -l
(8 (aref)
ReIeIRT)

A. fpar ||, RIITDT @ Sordia Y 3@ifisd ST A AAB.G DI

1. aR@r @1 @il uce GRI Yfdse Jdd ST ad ugd Yglel Dl
B
C. JuaRR |||l. ussier wuc

D. 30 IV. dftpe STeT @I 1 el eI
il f3u a1 fyseul 3 A A8 IR gfom ©

[Question ID = 535][Question Description = S2_qSNz_PG_GP30_Q35]

A-1,B-1ll,C-1l,D - IV [Option ID = 2137]
A-1V,B-1ll, C-1l, D - | [Option ID = 2138]
A-1V,B-1,C-1ll, D - Il [Option ID = 2139]
A-11,B-1V, C-1ll, D - | [Option ID = 2140]

B. fibfdisr

A w N =

Correct Answer :-
e A-1,B-1ll,C-1II,D- IV [Option ID = 2137]

31) Match List | with List I

List | List Il

Hazardous waste Characteristic feature

A. Ignitable I. Very unstable

B. Corrosive Il. Causes serious health issues
C. Reactive Ill. Destroy containers

D. Toxic IV. Able to sustain combustion

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 Rxeh -1

(FIRoIrD 3rufdree) (fafdrse e1g0T)

A. Gaollr |. srcaferes sif¥er

B. Jigir® Il. Farrea @ fore sl aiforpre
C. gfefigacas Ill. urg (W) DI oIt BT
D. faden IV. 8ot ermRuT 2ol bl Aswrer

il fou o1 frseul 3 3 A IR gforw ©
[Question ID = 536][Question Description = S2_qSNz_PG_GP30_Q36]

A-1,B-1l,C-1V, D - Ill [Option ID = 2141]
A-1V,B-1ll, C-1l,D -1 [Option ID = 2142]
A-1V,B-1ll, C-1,D- Il [Option ID = 2143]
A-1,B-1V,C-1Il,D- Il [Option ID = 2144]

A W N -

Correct Answer :-
e A-I,B-1l,C-1V,D-Ill [Option ID = 2141]

32) Anaerobic digestion of sewage sludge is

A. An effective process for organic solids

B. This process requires lots of energy

C. This process generates methane as an end product

D. Digested sludge is reduced in volume and easily dewatered

E. Very fast process and thus does not require large sized reactors



Choose the correct answer from the options given below:

JAcTsIcl I bias @1 araferrug! urel

A. Sifer okt AIER] @ fore gt gfpen

B. 1 yfegrn 3 srcaferes Seif & siagarasar aidt 3

C. 31 gfgen 3 siferer Seure @ wu 3 ko1 311 Jored 3

D. uifera &ras smRIder 3 ac Sirdl 2 3iiz Icran A sierfza & sidl

E. srcafdre g gfipn 3 siiR ora: a3 rpR @ f¥uaer] &l smagamdr ol aXedl 3
il fou s1u freseul 3 A I IR BT a6l HIfSIE ©

[Question ID = 537][Question Description = S2_qSNz_PG_GP30_Q37]

. B, C, D and E only/a@aet B, C, D siiz E [Option ID = 2145]
. A, B and C only/daer A, B aiiz C [Option ID = 2146]
. A, C,DandE only/@aa A, C, D siiz E [Option ID = 2147]
. A, Cand D only/daet A, C siiz D [Option ID = 2148]

AW N -

Correct Answer :-
e B, C, DandE only/aaa B, C, D siiz E [Option ID = 2145]

33) Given below are two statements
Statement I: Toxic chemicals often injure organs as well as organ systems
Statement Il: Hepatotoxins are chemicals that can damage kidneys

In light of the above statements, choose the most appropriate answer from the options given below

il ol Dol fdu 3w 3 ¢

Dol - | : f¥cl RARIGT ggen 3431l d 391 YuInell oI sifol Ugard 3

Dol - || : 3UCIeIfRIol a8 RARIGT 8 SiI 3JCt Pl gifel ugan Addr 3

SRt @il @ 3irclld 3, il fu s1e fameul 3 A JE IR @I =6l HifSre
[Question ID = 538][Question Description = S2_qSNz_PG_GP30_Q38]

Both Statement | and Statement Il are correct/wmeret | 3iiR || gloif 3@t & [Option ID = 2149]

Both Statement | and Statement Il are incorrect/aerer | iz 1l QXail sieta & [Option ID = 2150]

Statement | is correct but Statement Il is incorrect/ et | 3@t 8, fpoq @l |l s & [Option ID = 2151]
Statement | is incorrect but Statement Il is correct/aemw | stier &, foq et |l 3t & [Option ID = 2152]

A W N -

Correct Answer :-
e Both Statement | and Statement Il are correct/@emwr | aiiz |l 2leil 3t @ [Option ID = 2149]

34) Match List | with List I

List | List Il

Millenium Development Goal |Aim

A. Goal 1 I. Promote gender equality and empower women
B. Goal 2 Il. Reduce child mortality

C. Goal 3 lll. Eradicate extreme poverty and hunger

D. Goal 4 IV. Achieve universal primary education

Choose the correct answer from the options given below:

et -l oot 3 -1l A Fgafera HifSie :

Rret -1 et -l

(ISt farat cag)  |(SToa)

A. e 1 |. cif3Tes JatroTar @1 FHaekel a afdcn AAeIRbas01
B. c1g=r 2 Il. aret e <2 DI DA Dol

C. o181 3 lll. sreafere foreforar a 9 @1 Iodetol

D. aga 4 IV. greifdres 318 yra as3en

oifY feu aru famedl 3 A 8 3R gforu :
[Question ID = 539][Question Description = S2_qSNz_PG_GP30_Q39]

1. A-1l, B -1V, C-1, D - Il [Option ID = 2153]
2. A-1,B-1ll,C-1I, D - IV [Option ID = 2154]
3. A-1I,B-1V, C-1lll, D- | [Option ID = 2155]
4. A-1V,B-1l,C-1,D - Il [Option ID = 2156]



Correct Answer :-
e A-IlIl,B-1V,C-1,D- Il [Option ID = 2153]

35) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A: Coastlines are considered as high potential areas for wind energy generation.
Reason R: Ocean water can be utilized as coolant during wind energy production

In light of the above statements, choose the most appropriate answer from the options given below

il St werel fRu s1e 3@ uep sifdrperet (Assertion A) @ %u 3 iz gRI 3Ad PRI (Reason R) & wu 3 :
aifdrperet (A) : g a Sl DI uddl Hell Icurgal @ fére sraferep Fsiraeiaii A afeyuf giq Aren srar 3
@RI (R) : udet el Icurcet 3 AHSE Sicl oI ofidcrad @ U A YR e i Adar 3

IURITS Dol B 3MIeiid 3, ofi fGu faapeul 3 2 7 IR BT R DI

[Question ID = 540][Question Description = S2_qSNz_PG_GP30_Q40]

1. Both A and R are correct and R is the correct explanation of A/(A) 3iiz (R) Glaii 31& 3 aliz (R), (A) &t 3 en & [Option ID = 2157]

2. Both A and R are correct but R is NOT the correct explanation of A/(A) siiz (R) cleil 3@l 8 woq (R), (A) &t 3@ meen odt & [Option ID = 2158]
3. Ais correct but R is not correct/(A) 3t @ weog (R) &t gt & [Option ID = 2159]

4. Ais not correct but R is correct/(A) 3@t ot 8 uvsg (R) 2@t & [Option ID = 2160]

Correct Answer :-

e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) gleil 28t &3z (R), (A) &6l 3@ men 8 [Option ID = 2157]

36) In the ancient Buddhist system of education, the student after being admitted to a monastery had to renounce all the
worldly and family relationships. This was termed as

grefiar dig forgn yurredl 3 316 3 gaor @ arc, faeneff @1 wera siifae sii uifrarf¥e Jddel a1 =Ier ol aiar o 33 folgel 3 3 aRIT sl SItar a1
?

[Question ID = 541][Question Description = S2_qSNz_PG_GP30_Q41]
1. Pravajya/yasw [Option ID = 2161]

2. Upsampuda/3u=isuet [Option ID = 2162]

3. Samvartan/3iader [Option ID = 2163]

4. Upnayan/3usrret [Option ID = 2164]

Correct Answer :-
® Pravajya/yasa [Option ID = 2161]

37) AICTE is not dealing with the maintenance of standards in which one of the following areas?

q 3r$ 3l & $ foweifeiRaa 3 A fepaa & I Alordl D 316181VT DI PRI 18l el 3 ?

[Question ID = 542][Question Description = S2_qSNz_PG_GP30_Q42]
1. Hotel Management/3lcet ydtror [Option ID = 2165]

2. Town Planning/seR foriister [Option ID = 2166]

3. Pharmacy/w@kit [Option ID = 2167]

4. Nursing/aif3fsr [Option ID = 2168]

Correct Answer :-
e Hotel Management/@leet ggtrer [Option ID = 2165]

38) Given below are two statements

Statement I: The Wood's Despatch recognised for the first time that the government should give frank and cordial support to
female education and take effective measures for its expansion

Statement Il: Girl candidates were allowed to appear in the matriculation examination for the first time by Calcutta
University

In light of the above statements, choose the most appropriate answer from the options given below

ofla S averet feu st 3 ¢

Dol - | : gz Ra d AdyH As FdeR v sri 6 IRPR b1 I} o181 & fere forimra a1fde eaeler Son aifdu 3R 3AD AR & ferw
gerdl SURT Bl arfde

Dol - || : aiferet spaffRil @ dAfca udlen 3 e clol bl sigpafer Adgea werpan fepafdencrr GrI & o1
WA el @ el 3, ofidl fu a1g frmeul 3 A A& IR I TIel DS :



[Question ID = 543][Question Description = S2_qSNz_PG_GP30_Q43]

Both Statement | and Statement Il are correct/wmeret | 3iiz || gloif 3@t & [Option ID = 2169]

Both Statement | and Statement Il are incorrect/aemer | 3iiz |l Glail steta & [Option ID = 2170]

Statement | is correct but Statement Il is incorrect/@emwr | 3t 8, fpoq @l |l st & [Option ID = 2171]
Statement | is incorrect but Statement Il is correct/@emwr | ster &, fpoq et |l 3t @ [Option ID = 2172]

A WN -

Correct Answer :-
e Both Statement | and Statement Il are correct/@memr | 3l |1 Gloii 28 & [Option ID = 2169]

39) The NEP-2020 envisions higher education as

A. playing an important role in promoting human as well as societal well being

B. enabling system for personal accomplishments with no economic contribution to society or public engagement
C. a system with less emphasis on development of cognitive skills and achieving learning outcomes

D. a system with identified sets of skills and values to be incorporated at each stage of learning from pre school to higher
education

E. a system which needs complete overhaul and energising to overcome the challenges faced by the system

Choose the correct answer from the options given below:

s forem ofifer - 2020 3t 3ta fRren @ forgor 3 A v oA u 3 Sxan o 3 7

A. SR d AIRSIP DeATvT & Fdatlol 3 Astayul yfermt o fordsot

B. Jarst sterar Ardsiform giq 3 fdon ol siorcror @ daftpe forcuferil @ fore AsrI gurrelt

C. v 8=l yunedl SRl Fisieica® ®igrd f[aaeRia @m0l 3l if2ert ulRvie gra a6l U= @ ad ol

D. v =ft yurrchl el frenern - gd 24 3 f91gn a® 2t & yAd arur i el & fore wlere a el oI Ac forerifea ar
E. v U2t guneht et geqa geilferil @I ARen oo @ fore guf Siivifgr a yor: aa yeror @01 &t smagaddar 3

ofi o s1u fwedl & A A8} 3R @I wRI6l BT :

[Question ID = 544][Question Description = S2_qSNz_PG_GP30_Q44]

A, B and C only/@aet A, B aiiz C [Option ID = 2173]
B, C and D only/a@act B, C siiz D [Option ID = 2174]
C, D and E only/aaet C, D sir E [Option ID = 2175]
A, D and E only/@aa A, D siiz E [Option ID = 2176]

A W N -

Correct Answer :-
® A, Band C only/aaer A, B siiz C [Option ID = 2173]

40) Match List | with List Il

List | List Il

A. Central Institute of English and Foreign languages |I. Chitrakoot

B. Gramodaya Vishwa Vidyalaya Il. Hyderabad
C. Central Institute of Tibetan studies 11l. Bangalore

D. Indian Institute of Science IV. Dharamshala

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

oxedt -1 et -1l
A. DER sid)El a faseft simar Jiveret I. Rrgae
B. spaiica faeafdencrt Il. 3cmag
C. @k ferearedl srezrIor et Ill. Sorers
D. sireliRI farsiret Jivermoet IV. ersforren

il fou s1e frseul 3 ¥ A8 IR gforw ©
[Question ID = 545][Question Description = S2_qSNz_PG_GP30_Q45]

-1, B-1ll, C- 1V, D - Il [Option ID = 2177]
1ll, B-1V, C-1I, D - | [Option ID = 2178]
11, B-1,C -1V, D - Il [Option ID = 2179]
<1V, B-1,C-1I, D - Il [Option ID = 2180]

HwN e
> > > >

Correct Answer :-
e A-1,B-Ill,C-1V,D- Il [Option ID = 2177]

Topic:- GP_30NOV_C



1) Read the given passage and answer the questions that follow

Most of the people who appear most often and most gloriously in the history books are great conquerors, generals and
soldiers, whereas the people who really helped civilization forward are often never mentioned at all. We do not know who
first set a broken leg, or launched a seaworthy boat, or calculated the length of the year, or manured a field, but we all
know all about the killers and destroyers. People think a great deal of them, so much so that on all the highest pillars in the
great cities of the world you will find the figure of a conqueror or a general or a soldier. Most people believe that the
greatest countries are those that have beaten in battle, the greatest number of other countries and ruled over them as
conquerors. It is just possible they are, but they are not the most civilized. Animals fight; so do savages; hence to be good
at fighting is to be good in the way in which an animal or a savage is good, but it is not to be civilized. Even being good at
getting other people to fight for you and telling them how to do it most efficiently- this, after all, is what conquerors and
generals have done-is not being civilized. People fight to settle quarrels. Fighting means killing and civilized people ought
to be able to find some way of settling their disputes other than by seeing which side can kill off the greater number of the
other side and then saying that, that side which has killed most has won. And not only has won, but because it has won, has
been in the right. For that is what going to war means; it means saying that might is right.

forsaiferRaa srerior ol earoIgdes UGm: Usd 3Ie Yol @ 3ar SIfSrg ¢

sfererR1 &t yrawm! # ggen sulea siiz aaifere siicaoncht cufepal 3 sif2reior et e, Aemufer siiz Rrardl & safes e asil of A3 o
3110l aGTol 3 AR o GG b, IoTdI I DIt Iccixd ofdl Il & &3l AT S oldl 3 fab ¢¢ U I Adyewn fevel St fovam ar Agg o o
Sardl, a1 adf &I orerafés Gt s1rel bI, A1 Fied I I SIell; URod 531 SeARI 37 fEdAD] D ai 3 A TO Udl & livl Jold> dR 3 S5 SATST
Al 3 31k 361l SAIGT fob GfoRI 3R @ FsIol 91831 3 AR I Fevil ur 3y fepil fsrar a1 Aetmafer =am Rrurdl & smapfer urdal siferpiorn el @1
s forar 3 oo warerad 391 A 3 fieaiol sifiraas R 3 so 39l I g A Il v 3 3fir Rstansii & u 3 oI u? omRTe fipen 3 I 3
b U211 81, uveq d Jaifére A oidl & U9l oISd 3; Sioreil off TISA 3; 3IA: CISIE A IO Blol DI 31ef & I PU I 3ITOT Bloll SR TP U9 el
SioTctl 3rTBT BIAT 3, U $ADI 3ref A3 Bloll oidl 3 ABT Ad b g DI Ul 1w cIsal B FAR B2l 3R Iod ddrel o5 a5 BRI it
@IIcIdr Ydas B3 s sirar 3 - 3R A8l aY fastarsii siiz Aomuferil of foser 3 - 19 BYon 18l 10T 31Ul 1S forucrol & fére arsd & a1sal @1
31ef 3 eI 2oll, 37 A AP B 31Ul faIG aeT Dol D fore DI 3161 ARI GEoll BT J6IRI A X0l & fore s a1 ust & oleT o uet &
f2rize cafepeal @l AR ADB 2 3R 52 A Baon 6 RrRT ugl o iffrpas cafepRil o1 ARI 3 a6 feiar 3 3k a6 of dad fasrRl g3n 3 afed a&
fersrit gann 3 arer: adl A8t & aiifd Yo crsol w1 At sref F; sADI aref T As weon b weraror & wE B

In the first sentence, the author says that:
Jod a1a:l 3 ciAd ool 8 b ©

[Question ID = 546][Question Description = S2_qSNz_PG_GP30_Q46]

1. Most history books were written by conquerors, generals and soldiers/siféraior sfeisrRI gead feramsil, Jemuferl sz Buifddl grr ferxdt s ft [Option ID =
2181]

2. No one who really helped civilization forward is mentioned in any history book/sfeerRt &t fopeft sft geawm 3t 3 =it wifep @1 et oidl fopen srn 2 Rl araa
31 191e 1 311 WTal 3 A1GG i @& [Option ID = 2182]

3. History books tell us far more about conquerors and soldiers than about those who helped civilization forward/sftrRt &t yead st Ajaar ol 36! dalol i
GG ol drcll Pl JoIrI frsrarsil siiz Rfdd @ ar ¥ Serer aardt & [Option ID = 2183]

4. Conquerors, generals and soldiers should not be mentioned in history/sfesrRr 3 felamil, Jomuferl sz Rrufaeil o1 3ecia o1l v sien anfde [Option ID =
2184]

Correct Answer :-

® Most history books were written by conquerors, generals and soldiers/siferpior sfeisrRr gad feeiarsil, Jemuferi iz RBuifdl grr ferxd s eft [Option ID =
2181]

2) Read the given passage and answer the questions that follow

Most of the people who appear most often and most gloriously in the history books are great conquerors, generals and
soldiers, whereas the people who really helped civilization forward are often never mentioned at all. We do not know who
first set a broken leg, or launched a seaworthy boat, or calculated the length of the year, or manured a field, but we all
know all about the killers and destroyers. People think a great deal of them, so much so that on all the highest pillars in the
great cities of the world you will find the figure of a conqueror or a general or a soldier. Most people believe that the
greatest countries are those that have beaten in battle, the greatest number of other countries and ruled over them as
conquerors. It is just possible they are, but they are not the most civilized. Animals fight; so do savages; hence to be good
at fighting is to be good in the way in which an animal or a savage is good, but it is not to be civilized. Even being good at
getting other people to fight for you and telling them how to do it most efficiently- this, after all, is what conquerors and
generals have done-is not being civilized. People fight to settle quarrels. Fighting means killing and civilized people ought
to be able to find some way of settling their disputes other than by seeing which side can kill off the greater number of the
other side and then saying that, that side which has killed most has won. And not only has won, but because it has won, has
been in the right. For that is what going to war means; it means saying that might is right.

forraiferRaa srerior ol eArogdes UGm: Ysd 3Ie Ysoll @ 3R SIfSrg ¢

sfererar &1 graoe! 3 agen sul¥erd ik wraifres siizagncht caftpal 3 sifereior sisret fooidr, Asmufer iz Rardl 2 safds fSrer cisil of Tsrar ot
31131 §GTol 3 arR<d 3 31cs P, IoTdI Sgen DIt Iccid ofdl Il 3 &dl As A oldl 3 fob ¢¢ U @l AdyeEH fepel St v ar a19g 3 ora
3erdl, a1 ad &l oreraf?r &bl srvren &, A1 W 3 FIc SIell; URed & IR 3R [edId] D aR I A9 B udr 3 <livT 3oId aR 3 S8 SAGT



JArerd 3 3l seoll SareI b gforn 37 @ #siel 91l 3 AGA Ha sl U2 3y {2l fersiar 2 Asmmufer i Rrardl & smapfer urdst siferavior clisil w1
5 Rt 3 &b HAsIoiadt $91 d & fioslol Sifdrpdd T 3 3161 Soll Dl g 3 uRIfSIA fopan 3 siiR fersiarsii @ ¥4 3 Io1 U= 9IRIol fopenr 3 A 3
fop ¥a1 31, ueqg A Faiftres A9 ofdl T ugl asd I; Siorel 9ft a3 T 3reT: ISIE I IITHT ot I 3ref T IA WU A UTHT Bloll SIA TP UYJ Heqar
Siorctl 3ITBT BIAT 3, U] $ADI 3ref A Bloll o1l 3 ABT D b R D Ul 1w cIsal DI FAR Dol 3R Iod adrel o6 U BRI Aaiftrs
rerar Ydas 35 fopanr sirar 3 - 3R a8l at fstansil siiz Aeraferil of foar 3 - A3 don oidl 3 et 31Ut sP1S foruerol @ e a5 3 arsal @1
aref 3 s @, 3R AR APl B U6l [ars ac1 Bl D 1T BIE 3163 APT GGoll PN TSIRI As STl D fo1u s 5T ugl & oot oIR uet &
sf2rize cafepsal @I AR ADA 8 3R 52 A Beon 6 BT ugl o siffrpas cafepRil o1 ARI 3 a8 feiar 3 3k a6 of dad fasrRl g3n 3 afed a&
fersriY g3ir 3 s1el: adl A8t & D Y c1sal @1 ABl 31ef F; AT 31¢f 3 A Dol &b Jerarot & 3

On all the highest pillars in the great cities of the world, we find:
gforn @ BIel 91830 @ AdieT el U, & UId 3 :

[Question ID = 547][Question Description = S2_qSNz_PG_GP30_Q47]

1. the figure of the same conqueror or general or soldier/3:ft fastar 2 Jemufer =m RBurdt 6t smapfer [Option 1D = 2185]

2. the figure of some conqueror or general or soldier/fp=it feiar ar Jemufer =0 Brurél 6t suepfer [Option ID = 2186]

3. a figure representing the number of conquerors, generals and soldiers in that country/3 St 3 faoraail, Jemufer aiiz Rl 6t e gorfor areft smapfer
[Option ID = 2187]

4. the figure of a person who helped civilization forward/mw=ar @ s1st T@lol 3 dIGs Dol arct afep ot smapfer [Option ID = 2188]

Correct Answer :-
e the figure of the same conqueror or general or soldier/33f faSiar = Jemufer =1 Buidt &1 smapfer [Option ID = 2185]

3) Read the given passage and answer the questions that follow

Most of the people who appear most often and most gloriously in the history books are great conquerors, generals and
soldiers, whereas the people who really helped civilization forward are often never mentioned at all. We do not know who
first set a broken leg, or launched a seaworthy boat, or calculated the length of the year, or manured a field, but we all
know all about the killers and destroyers. People think a great deal of them, so much so that on all the highest pillars in the
great cities of the world you will find the figure of a conqueror or a general or a soldier. Most people believe that the
greatest countries are those that have beaten in battle, the greatest number of other countries and ruled over them as
conquerors. It is just possible they are, but they are not the most civilized. Animals fight; so do savages; hence to be good
at fighting is to be good in the way in which an animal or a savage is good, but it is not to be civilized. Even being good at
getting other people to fight for you and telling them how to do it most efficiently- this, after all, is what conquerors and
generals have done-is not being civilized. People fight to settle quarrels. Fighting means killing and civilized people ought
to be able to find some way of settling their disputes other than by seeing which side can kill off the greater number of the
other side and then saying that, that side which has killed most has won. And not only has won, but because it has won, has
been in the right. For that is what going to war means; it means saying that might is right.

forgotferfRan srerior @ eArIgdd UG Ud 31 Yool @ IR difere :

sferera &1 grael A ggen sulerd iR Jaifere shizanctt caftpl 3 siferaior ssr6 fosidr, Asmafe ik Rardl 3 Safes ftor clsll of Asrar o1
31151 aGlol 3 dIFad i Acs b, IoTdI Sge DI Iccixd ofdl BIdr & &4l A I oldl 3 fob ¢¢ Uz I Adyera fepel St fovem a1 AAgg i s
IR, AT ad &I drerai? bl S1vTel D, AT W I HIS SIell; URod, Bl AR 3R e m] & a1 3 Ad @B Udl & <lIdl IoId dR 3 98 SATST
ALRIA & 3R sdoll SAIGT b GfoRI 317 @ HBIol 9183 i AR Hal FAHl UR 31U fepAl fsiar 2 Aotrufer a1 Rardl & sirapfer urest srigraior cisii w1
Iz farart 3 o5 ssoad 391 A 3 Ricalol siffradasr e 3 3o Soil Bt g 3 vl o 3 3z fasransii & wu 3 3ot uz 9mRTet fopen 3 e 3
fop 011 &1, ureg A aiffrd A9 ordl  ugl oIS 3; Sioretl 9%t TS F; 3re: ISIE I 3T Blol I 31 3 IA WU A VT Bloll SIA TP U9J Heqar
SPoTcll 3ITsT BT 3, Uod $ADI el A9 Bloll oIl 3 ABI Ad b g1 D UGl 18 T33! DI TR Boll 3R Iod ol 6 W6 BRI Aaifers
Orerdr gdas 2 fopar s 3 - siiz Adl al fstarsii siiz Jemaferil of s 3 - A3 Jloll oidl 3 <lieT 3ol 3PS forucrol @ fore oS & ersol &1
3ref @ aear @l 3R A clell Bl 34l fidIe e w0l D 1w DI 3161 AP GGoll BRI SSIRI AT ¥l @ feru b b2t ugt & oller gk ugl &
ftRizc Afthl Bl AR AD 8 3R b2 As Deoll [ BRI ugl o sifirmad aftpRIl oI ARI & a6 faeiar 8 3R a6 o dad ferl g3 3 afcd as
fosrRiT 33 3 3rel: 9él A8l &8 D g cIsol DI ABl 31ef 3; DI 31ef 3 As Daoll (b derare &1 J8l &

Most people believe that the greatest countries are:
siferpior cieil w1 frara 3 b el J9rd 3 :

[Question ID = 548][Question Description = S2_qSNz_PG_GP30_Q48]

1. those that built the highest pillars/fSealor 3carer sl @i o fipar [Option ID = 2189]

2. those that were beaten in battle by the greatest number of other countries/fsieg siférasdst Seil of g 9 a2rn [Option ID = 2190]

3. those that defeated a few countries/freglol &lIs 39li @I s2rn [Option ID = 2191]

4. those that won the greatest number of battles against other countries/fSiealor sieer Soif & g siftrasaar gt 3 fsrr g 6t [Option ID = 2192]

Correct Answer :-
® those that built the highest pillars/fSieaiol Scadar >dsil @1 forifur fsen [Option ID = 2189]

4) Read the given passage and answer the questions that follow

Most of the people who appear most often and most gloriously in the history books are great conquerors, generals and
soldiers, whereas the people who really helped civilization forward are often never mentioned at all. We do not know who
first set a broken leg, or launched a seaworthy boat, or calculated the length of the year, or manured a field, but we all



know all about the killers and destroyers. People think a great deal of them, so much so that on all the highest pillars in the
great cities of the world you will find the figure of a conqueror or a general or a soldier. Most people believe that the
greatest countries are those that have beaten in battle, the greatest number of other countries and ruled over them as
conquerors. It is just possible they are, but they are not the most civilized. Animals fight; so do savages; hence to be good
at fighting is to be good in the way in which an animal or a savage is good, but it is not to be civilized. Even being good at
getting other people to fight for you and telling them how to do it most efficiently- this, after all, is what conquerors and
generals have done-is not being civilized. People fight to settle quarrels. Fighting means killing and civilized people ought
to be able to find some way of settling their disputes other than by seeing which side can kill off the greater number of the
other side and then saying that, that side which has killed most has won. And not only has won, but because it has won, has
been in the right. For that is what going to war means; it means saying that might is right.

forgaiferRaa srerior ol earegde UGm: U 3Ie yssll @ 3ar SIfSrg ¢

sferer1 &I yraem! # ggen sulRed siiz aaffere siivaoncht cufepal 3 sif2roior et e, Aermufer iz Rrardl 3 safe frer sl of A3 o1
3I10l aGTol 3 AR ¥ GG b, IoTdI Ige DI Iccixd ofdl BIdl & &3l AT S oldl 3 fab ¢¢ U I Adyewn fovel St fovam ar gg o o
Sardl, a1 ad &I orerafér Gt s1reln B, A1 Fied I I SIell; URod 53 SeARI 37 faedAD] D ai 3 A TO Udl & livl Joid> dR 3 95 SATST
Al 3 31k 36l SAIGT fob ORI 3R @ sl 9831 3 AR I Fesil uR 3y fepil fsrar ar Aetafer = Rrurdl & smapfer urdal siferepiorn el @1
s forar 3 oo warerad 391 A 3 fieaiol siftraas e 3 so Soii oI g A uRIfora fven 3 ik Rstarsii @ u 3 oI u? omRIel fpen 3 v 3
fop U211 81, useq d Jaifére A oidl & U9l oISd 3; Sioreil off TS 3; 3IA: CISIE A IO Blol DI 31ef & I PU I 3ITOT Bloll SR} TP U9 el
Siorctl 3rTBT BIAT 3, U $ADI 3ref A3 Bloll o1dl 3 ABT Ad b R DY Ul 1w caIsal DI FAR Dol 3R IJod adren o5 a5 BrRf Aaiftrs
IICIAl Yds B3 b st 3 - 3R A8l al fastarsii iz Acmuferil of fosen 3 - A9 BXon 18l  IFT 31Ul 1S forucrol @ fére arsd & aIsal @1
31ef 3 ae1 2oll, 3T A AP B 31Ul faIG aeT ol D fore DI 3161 ARI GEoll BN J6IRI A X0l & fére s a1 ust & oleT g uet &
sif2rize cafepeal @l AR ADA 2 3R 52 A deon 6 RrT ugl o iffrpas cafepRil ot ARI T as felar 3 31k a6 of dad fasrRh g3n 3 afed a&
fersrit gan 3 arer: adl A8t & =il P crsol w1 At aref F; sADI aref T As Dol b weraror & wE B

In the author's opinion, the countries that ruled over a large number of other countries are:

TRAD D AAGRIR, TSI AT 3 316 S9ll URIIRIH Dol dIct 9T -

[Question ID = 549][Question Description = S2_qSNz_PG_GP30_Q49]

certainly not the greatest in any way/forfia u 31 fep=ft sft aiRIor 31 18691 o1&t & [Option ID = 2193]

neither the greatest nor the most civilized/sr a ssorw 8 3lR o &t aiféid 2w [Option ID = 2194]

possibly the most civilized but not the greatest/isracRn Jmaiféis 2w 2, woq @ oét & [Option ID = 2195]

possibly the greatest in some sense but not the most civilized/isracRn fep=ft sref 3 araore 2t useq aifere =1 o8t & [Option ID = 2196]
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Correct Answer :-
e certainly not the greatest in any way/feif2ra wu 3 fopeft oft 1ol 3t stemeIar orét & [Option ID = 2193]

5) Read the given passage and answer the questions that follow

Most of the people who appear most often and most gloriously in the history books are great conquerors, generals and
soldiers, whereas the people who really helped civilization forward are often never mentioned at all. We do not know who
first set a broken leg, or launched a seaworthy boat, or calculated the length of the year, or manured a field, but we all
know all about the killers and destroyers. People think a great deal of them, so much so that on all the highest pillars in the
great cities of the world you will find the figure of a conqueror or a general or a soldier. Most people believe that the
greatest countries are those that have beaten in battle, the greatest number of other countries and ruled over them as
conquerors. It is just possible they are, but they are not the most civilized. Animals fight; so do savages; hence to be good
at fighting is to be good in the way in which an animal or a savage is good, but it is not to be civilized. Even being good at
getting other people to fight for you and telling them how to do it most efficiently- this, after all, is what conquerors and
generals have done-is not being civilized. People fight to settle quarrels. Fighting means killing and civilized people ought
to be able to find some way of settling their disputes other than by seeing which side can kill off the greater number of the
other side and then saying that, that side which has killed most has won. And not only has won, but because it has won, has
been in the right. For that is what going to war means; it means saying that might is right.
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fersrit gann 3 arer: adl A8t & il Fg casol w1 At aref F; sADI aref T As Dol b weraror & wE B

"That is what going to war means; it means saying that might is right", The meaning of this sentence is that

"q5 TS0l DI ABI 31 3; s 312k 3 Ae Dol b aeraret 8 A8 & ' g1 araw o 3ref b :

[Question ID = 550][Question Description = S2_qSNz_PG_GP30_Q50]

1. the winner is right and the loser wrong/fasrar 2@t 2 iz waifSid sieia & [Option ID = 2197]

2. only those who are powerful should go to war/@adet getare @l & g @l aifde [Option ID = 2198]

3. those who are right should fight against those who are wrong/3& waftpeii @ sicia wafepeil & g cson aifde [Option ID = 2199]
4. in a war only those who are powerful will win/¥g 3 @aet ofeporctt 2t fasrft gist [Option ID = 2200]

Correct Answer :-
e the winner is right and the loser wrong/fsiar 3@t 2 siiz wifor stera 8 [Option ID = 2197]



